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A= (a;)), stear eurflena @revor(h 2_smLw gjemfludled a;; = i+] , ereuflev,
Ijemfl A emw eripd) |1Ad) Al = |Al sreTuensé sflumi&seajL.

1 -1 1
2 1 1

3 1 -1
sflurm&s.

A = germ oemllsE 1Adj] Al = IAI sreruemgé

2 4
A= (_ 3 2} steoTm ojeuefluflsir Griiom m gjswflemiu 67 (pSIs.
2
1
2

1 0
A=|3 1 J sTeoTm oyevefluflear GrmiiLom m) &mevors.
2 1
1 0 a
A=|0 1 . . . .
0 0 sTer ) 9| ewfluflesr GviiLom m| &imewor s.
a 0 0
A=[0 a O @i a,, a,, a, eTeaTLIEOT L& liitneey 6Teofled A7l
0 0 gq
M SIT6HT S



12)

13)

14)

15)

16)

17)

18)

19)

20)

-1 2 -2
A=|4 -3 4| eaefeo, A@er Criwrm A srer sTerm &r.Hs.
4 -4 5
1 3 4
Al=13 2 2| gafler, A 06 srems.
1 1 1
1 5 7
5 3 18 "18 18
Iz 1 _5 . . .
A=|1 2 31 B=|18 18 ~18| eretruenr eeir misQameirm
31 2 5 1 1
18 18 18

Crrorml eTer ) ST (hs.

-4 8
4A71 =10 I-A erers sl (Hs.

2 -3
A= ( ] el A~ w8 srews. g@6r aurulors

4 3
A= (_2 _J gl (A1)l = A ererusmsé eflurissan

3 1 -6 0
A= ( J ,B = ( Jsreoﬂsi), (AB)™' =B~ A~ erétrusma &
2 -1 0 9

gfluris&e|in

6 7 -1
{3 AoS J sTeiTm gjeellS @ Criomm @eemauGussisy A @6ir iy
9 11 A

& T 6607 5.
1 2 1 -3 2

X=|2 4 , Y = |33 -1l gafld Y = X! ererm
3 5 2 p g

DLW M P, q @6 LHILSHMETS SIT6vaT .

4 -3 (1 s ol X s e
5 5 = 29 , 6T 60 9| NG SHIT600T 5.

1.2 Gplwed Fwerur(sealear 6T Hmer
(SYSTEMS OF LINEAR EQUATIONS)

1.2.1 gpii  oyewflufeir o6ir ewflger (submatrices) PoILD

Pppewt'mer (minors)
A sterm e ewllNeNmH g ST Flev Hlemiy s ememiid

8



Birsusemeriyd 561 & 516 Sl &@L ojsuflssr A @ler o or el
2HSLD.

5
4 ; 6T6ofl6v, B|GH6ar Flov 2 6T 9|emaflg6i:
12

2 4 1 4
)

4 1 32 45
, |1 -1 201 4
4 1 31 4 2

ggr 261 gewfllaefler gjemllsCamamaisst nhs oemwfluflsr
Appewflasr 76T NeOPSSILEIL. A @6t Hnmemilgeflsy e :
3 4
2 1 -1
2 0

2 4, 1 4] 3 2 3 5
O 17t 1712 o) 2|’ 4

1.2.2 gewflufesr gyib (Rank of a matrix).

A steorm L &S geuell glevers e oemfluller p(A) erer
GMSSIUGHID ST 7 6TaTm Ll6ns (L) 6T6TOT6T0TTS ([@)(55 8

LMHMILD

1 1 -1 4
0 4 2

4

LM MILD

©H A @er ‘r auflmsymLw gCaan er fnmemflwme g
uEfwnnmn @\mss Geastor(bi. Gogyild

@ r ufmsow oL gds auflmawyemLw A @6 oo
fpmemflsEnd L&Sunrs @mss Gostor(hiL.

Spy

@ A ererp gjeeflullesr S TeTUG IHS Iewhlufler L& &
w&lfsvers fmmemellsaflsr auflenesaflsy LG, sTetT 9y @ LD.

) A @eir euflema m x n eresfled P(A) < {m, n sefled Sl 6tevor }

() y&Shw gyewflulleor S L &S @L.

1v) &S el geverg gjemll A-6r Fri P(A) > 1 gy @L.

(v) nxneaflgysmLw L&dus Cameme gjemfl gjevers ojemflullsor
ST 1 9 GLb.



(vi) p(A)=p(A)
(i) pI) =2, py =3

ad(sa1HaTL(H 7
2 13

-0 2} TGTp DIUNST FFID BT,
0 15

A =

E10TR
A @it auflems 3 x 3. .. p(A) < 3. A-ufl 2 eirer G 6
eLpeoTmmLd euflemea mmevsf]
2 1 3
-1 0 2
0O 1 5
aurflene eLpsiT m) 2 soLw Smmevef] L FSwoms @lsuemev.
- p(A)=3

=-2%0.

UCETIEEINCR
4 56

A= |12 3} eTTp Dewlufesr FyLb HTevw 5.

345

Srey:
A @er euflems 3 x 3. .. p(A) < 3. A-ufleb 2 6mer G (1
eLpeoTmmLd eufleme mmevof]

4 5 6

12 3/=0

3 4 5

A-ufled 2 6o G e eperTomd euflemes 2 emiw Fmmevoflyid
uwEAors o earerg, o P(A) <2
suflema @resor(h) 2 emLw Hpmevflaemems &mevor GITLD.

. . 4 3 O
L&D gleers @IreirLmid euflens mmevef] 2 eirer g
sp(A)=2.

10



ad(sa15asT_(H 9

2 4 5
A=|4 8 10| garp gewlufer gy Sreswts.
. -6 -12 -15
&rey :
A @eir euflems 3 x 3. . p(A)<3
A- 960 2 smer surfleme eupsar i 2 6oL 66T 65 Slmewsf]
2 4 5
4 8 10|=0 (R, =<R))
-6 —-12 -15

sTeoTGeu P(A) <2

aufleng @\Tevor(h 2 e SlpmemfllaensTs SmesoTGUTLD. 9jeme
I S GILD L, FSI SlemL et 6TeoTLIG GleusfliiLiemL .

S pA)<]

A eretrugy) L &S gjemfl gieven. . P(A) =1

sd(sg1aar (B 10

1 -3 47
A= (9 L 2 0] TP DwNUTGT BFLD HT6WT 5.

ey :
A @eir euflems 2 x4. . p(A)<2

sufleng @irevor(h 2_ oL w Fnmevaflsemers smevorGUTL. gjeumnled

S -
o 1|77
sufleme @\Temor(h 2 smLww L, FSwid gjsvers Fnmeoofl 2 smer 5.
S p(A)=2

sd(hsaisar_ B 11
1

A =
8§ 1 9 7

2 45
2 -1 3 6| grairp yewfufeir Hyib STRTSH.

E1OTR
A @eir euflems 3 x 4. . p(A) < 3.

11



suflem& eLpetT M) 2_emL_w FlmmevellsemeTs SmevorGUTLD jeumndled
1 2 -4

2 -1 3| =-40%0
8§ 1 9

aufleng et m) 2 eoLw L FSLLD 9jeers Fnmefl 2 6irer g.
~p(A)=3.

1.2.3 og iuenL_ & G FWedH@HLD, FLOTRT 6wl B@HLD

(Elementary operations and equivalent matrices)

Rf  gefllllear srio srew mEro olopuyn Gurg
8I0u5858560Ww Lefunnm fnmenll HoLssl Gupreilps S
STemild (P SigarmearsrHal@hi. @hsl tlT&smermis Si&s
SlptiuemL_& GEweser euruliloors oysmflufled Lo L FFumismar &S
fnmenflsafler LEHILSmaTS S emid GColemevenil 676 &HT &GS GmmLo.
IlgliLenL & QFwesemsT QFwOLBSIST i ewflufer b
Lo g eTer HHUSS (LplglLb.

UletTeu(meuenr QjlgliLenL & QFILL&ETT GLD.
® @ forsmer uflrmHmd C&—gev.

1) e Henremu LD 9j0e0ms 6Tevaremrmey GlL(H & E &6
() e Hevruflsr wLKiGsemsr LOHGIDT M BTl 6 s (HS6.

A steorm gjemoflufled @MILNILL 6T6voreml S emes 2 6Ter glo LD &
G&weser epeuld B ereorm gjemfl Gupliiomuilssr A wpmid B gjewflssr
gurer gemfl&er sTerliLGIL. @ems A ~ B ereirm @miGUMLD.

GLogyid Q&rO&asLIL L gjemfluilsh Lsv Ly FSumigsmeT L@S g Gur g
Ijsmflem @, ywsCaremr muiyse (triangular form) wrmHmieis)
BOORGL. o6Tme0 @leueur ml &eor Gle—iw Gauevor (h Gl Liglsusmev.

A= (aij) sTeorm ojewwflufled i > j eTemudGLIT S a; = 0 ereafled
I|smfl, R (P&GamemT gemlifled @mULSTSE GlEmaaiLHL,

1 2 3 4

er.em. |0 7 3 OJ sTeoTm 9jeuel] 6(1h (LPSCHMemT 9|emLoLifed 2 6iT6r G.

0029

12



d(sa15sTL (5 12

53 144
A=101 21 garp ewlufer Sy SHraws.
. 1-120
ey :
A @it auflema 3 x 4. s p(A)<3.

Ijsmflemil e (p&GaTemT gemwliing wromd G&—Gauri.

5 3 14 4
A=l0 1 21
1 -1 2 0

R, © R;- g Qaweu®igdlerme

1 -1 2 0
~ 1 2 1
5 3 14 4

R; = R, - 5R, g Qewesu@glermen

1 -1 2 0
~(0 1 21
0 8 4 4

R; = R; -8R, oy Gsweu®sleormsy

1 -1 2 0
~|0 1 2 1
0 0 -12 -4

@al @ WSCamemr gemwliie 2 ererg.

1 -1 2
0 1 2
0O 0 -12

e =—12 20

aurflema epedr mismL L b gjeveor s Hmmefl 2 ererg. .- p(A)=3.
RICEEIEX NGB R

11 1 1
1 3 -2 1
2 0 -3 2

A =

} TG DjewufesT HFLb BT S5,

13



ey :
A @eir euflems 3 x4. . p(A)<3
Ijsmfleminl s (P& Gamemr gemwliiing wrnmid Glg—Geaumib.

1111
A =|1 3 -2 1
2.0 -3 2

R,—-R,-R,,
R; = R;- 2R, @masmers Gswshubsdlerme

1 1 1 1

~ 2 =30

0 -2 -5 0
R; = R; + R, o Qeweu®sdlermsy

1 1 1 1
~10 2 =30
0 0 -8 0
@81 m P&GamemT 9|emLLIis o 66T g.
gai,
I 1 1
0 2 =3=-16 #0
0 0 -8
aufleng epsiTm) 2 eoLw L FSILLD 9jeers Fnmefl o 6irer g.
~p(A)=3.

RICEEIEE NG
4 5 2 2

1 6} TP ewlufer Fid ST,

4 4 8 0

E1OTR
A @it suflems 3 x 4. ~p(A)<3.
Ijsmflemi e (p&GamemT gemwiine wrmHmiGar

14



4 5 2 2
A =3 216
4 4 8 0
R, — % & QEwesiLI(h S SHlermsn
4 5 2 2
~|3 2 1 6
1 1 2 0
R, © R, o Qswsu@serme
1 1 2 0
~|13 2 1 6
4 5 2 2
R, > R,-3R
R; > R; - 4R, @masmears Ggweubsdlerms
1 1 2 0
~|0 -1 =5 6
0 1 -6 2
R; = R; + R, o Qeweu®gdlerme
1 1 2 0
~|0 -1 =5 6
0 0 -11 8

@8 @ P&GaTemT 9Ll 2 66T g.
1 1 2
@, 0 -1 -5/ =11%0
0 0 -11
epsar m) auiflema 2 eoLw L FSLD gjeers Fnmefl 2 6irer g.
~pA)=3
1.2.4 Gpifwied Fwarur(pasealer 6 GTgHHelr.
LTHS6T eaTmTd Uguied LEHIL @MSGD (R@HERISMLD)
guerurhseflar QsrEd CrMue swsarur@saflar CsmE S
eTeor ILI(HILD.

15



Griflwsv swsruTHisaflsr GETGSlemw AX = B 676trm) 6T(LS60LD,
ThSgIssT LIS x—3y+z=—1, 2x+y—4z=—1, 6x—Ty+8z =
7 sTeoT FLo6oTUIT (H&6MET

X -1
21 41y | = |~ germ el gyemioliled
z

T@SMD. X - B

A & @owrs gewfl (coefficient matrx) stesr m G, A o L 6ot

31567 euevgiLmid B gyeueflemiw ep(m Hlireomas @lemener gl Qumiid gyevof,
1 -3 1 : -1
2 1 -4 -1 gerp Nemstu@Ssiu’ L el (augmented
6 -7 8 7

matrix) gy @i.

@ms (A, B) srers @miGumih.

Criflwey sweTur(hisefler C&m @& eetrnled 2 6iTem e6uGloum (m,
guerurliger geofl 2 Mty L&fuwrs Qmhsra 9 50s5mEs F
ugdsrer AsrgdH (homogeneous system) oy @ih. s Gl &L
ugSgTer gwsrurhseaflar Qer@dlamu AX = O ster srsemi.
OS5 gIGSTLLTIS 3x+4y—2z =0, 5x+2y = 0, 3x—y+z = 0 eTéiTm
&FLo6oTLIT (5 & 6M6IT

3 4 2% (x 0
S 2 01y =10] erermy ool gyemioludlev erggeurid.
3 -1 1 z 0
A X = 0
1.2.5 swerur@seafier eLiLjenwggerento (Consistency of
equations)

R0 suaTuTL () GB1GHEE GONESS @ SiCagmi
@os@urarTed 9508TEs glymussdarmn 2 m_w (s5TEIH
sTaruu@. Gomatucian @lymussdron Jhp CsTSH
6T 6oTLILI(DILD.

QLGNS SH6IT6mL 2 enL I FLaTUT. (h& C(&T G S

16



(1) Gy (m Sy (unique solution) gjevevg) (ii) sTevoremrHm
grreyser (infinite sets of solution) @\m&aeumib.

@ms allers Gl aumsuilsy (Hedley @\ LomwlsemeTs Gl&mssorL
Griflwed QaT@dlaemeris ummiGUITLD.

4x—y = 8, 2x + y = 10 eretrm swerurhiser (3. 4) ererm
yereflufleb Gleu’lp& GamerEmin @\ CriGarhi&mears & nlédlsrmer.
gemey x =3,y =4 eTeirm Q0T Q@ Sieneus GameorL LML
S6IT60L0 2 emL_LieTeum@Lo. (uLib. 1.1)

YA

(3.4)

co
/7

Ny RLIL|EHLIS S63T6DLD 2_6ML_LLIGHT ;

5 > 6T e@ Sial,
X
/ et 1.1 \

2 66 eeuiGlour (i, LismerfliLd gé&ms&rﬂ%@a&s
SrerHGmTd. @FFweTUT(HS6T QLIS
y=-10;x=3,y=0;x=4,y=15 Gumetr
GummieTerTear.

Yy

6RLIL|6HLOS & 63T 6L 2_6ML_LLI6TT;
6T 6807 630T N &I 62|61

17



dx —y =4, 8x —2y =15 eretruenm @\, @enerorCHT(HS6M6TE
GMSHeTmeT. YemaGT QUILMLG SH6Temld MM FLoerum (H&er
LGW. NNING STelssT SenLwmrg. (uLi. 1.3)

y

P RLILIEMLOGS S6IT ML I|MHMEM6
S SieysGer SlenL LU g).

uLtb 1.3

@G g epetr i Lom plsefled yemiowjd Crifliwed Q& EHaemers
srerGurd. ahsgssSasTLLTS 2x +4y +z2=5,x+y+2z =06,
2x 4 3y + z = 6 eTedTLIG LIS SH6ITE0L0 2 ML LIEAL @lemen X =2,
y=-1,z=5eerm @Cr s Siemeuls Gummseresr. x +y+z=1,
x+2y+4z=1,x+4y + 10z = 1 eretrp FweTuT(H&6T 6RLILIDLOG
SH6ITEMLD 2_61T6IT6M6USIT 63T, U%strrrrsu x= 1%y 0,z=0;x=3,y=-3,
z =1 Gumetty 6Tevorev0THM ﬁrrmaasmgﬂ_l &umgjmmm |GBHMSIL
6T 6U0T 630T N SIT6SH6T I{6M6I & FILD X : +2H, y = -3k, z = kgrearu
LG (@Sl k 6TeITLISI (I QU= Qe LG

X+y+z=-3,3x+y-2z="-2, 2x+4y+ zZ=
FTUTHSEHSEES QR Si6] Sl @lme. (9| ;

DM SL6TUT(H&ST I GL. >
6TEUEUT FLOLllg ST FLo6aTLIT (DS (E1HES) Z/ =0,z=0
6T60TM Qaeﬂu.lg, Sitayser (trivial solutions) srs‘oT(‘ﬂsu 6T606VIT

FUlSSTaT FUATUTHISHEHD QLULMLS S6TeNlD 2 ML 6.
FLoLIg SSMeoT FLoeorLIM(H&ememLl Gum mi& & ealemruiled 6UILIEMLOG &63T6nL
2 smLeaTeum @lsvsmeull 6T6oTm CaeTallsCa @)L Lhlevemev. &LoLilg & eur
sLeTUT(H&EHS S LEFSIL SiaisGarm® wnm SielsEnd @)m&&aid
I|606V G| @I6V6TLIRYILD @(H&SMD. THSSHISSTLTS X + 2y + 22 =0,
x—=3y-32=0,2x+y -z =0 eréirn swsTUTQSEHSSG x =0,y =0,

18



z =0 eretrm LESW ST ser w_[HG 2 sTeTeer. gy erme x +y -z =0,

x—=2y+z=0,3x+6y -5z = 0 et6itn FLTUTOSERSHES X =1,y =2,

z=3;x=3,y=06,z=9 Gumerm eTetoTev0T MM ST 6LSET 2_6TETEIT. S|6MEL

TS GID X = t, y = 2t, z = 3t ereoTuSe0 YL MIGLD. (7 6TETLIG (1

G—Glwssar gy, @G Lh)

1.2.6 g ewfufasr Sy eurufers Fwerur(® el ar
@uUiymwg saremweanws Hrr-geo (Testing the
consistency of equations by rank method)

'n' wrpPsefed oerer AX = B eteirp Fiwerur(Hsamer

T (95 B13506\&T6iT Gaumid.

1)  p(A, B) = p(A) steofled, gwemumr(H&6T 6LILenL0S & 60T6mL0
2 L ILGTAITS @) ELD.

2)  p(A, B) # p(A) srefled, sueTur(hser eLILDLIS S 60T6mL
SIMMEMEULITS @) (58 &L

3)  p(A,B)=p(A)=n srefle, Fwerur®&er 6LILemLSS 60T enLoulled
0T e Siemeult Glumnd (& @ L.

4)  p(A,B)=p(A) <n ererflev, FLoeTUM (ST 6LILI6MLIGS 65T mLoL6D
6T 6007 630T MM ST 61 &6merTLI GlLIm (& (L.

'n" wrPsealed AX=0 erarp &F ot LT (H % em ar

1(h 53156\ T6ir Geumib.

1)  p(A) =n eeflev, swaTurO&EHEE L,ESILS Siaser wlHiGw
o_goor(h).

2)  p(A) < nsrefled, swaTUT DS EHSE LEFSILS Siie|sEmL 6T LHM
S6s LD 2_6vor (b).

sd(sg1aaT (B 15
2x =y +z =7, 3x +y-5z2 = 13, x +y +z = § era@1p

FwaTUT(HH6T QLILJGNLD S BT D IDUJeHL_UWIST 6T 6T MILD,

Siajser Q@ueind FaTarweLWRT TaTPID ST (HS.

gy :
guesrur(hsefler gemfl algaild

19



g&lev,

(A, B) =

(A, B) =3, p(A) = 3 sreirtisy Gleu

A
2 -1
31
11
11
3 1
2 -1
1 1
0 -2
0 -3
1 1
0 -2
0 O

KT e

213

: 13

7

5

5

7

R, © R, g Qswou®igdlerme

R, - R,-3R,

R; = R;-2R, @masmers Ggwsubserme

1

-8 :

-1

1

-8

11

5
-2
-3

5
-2
0

rlseafler 67 evoremflsema 3,

eT6oT@6u

R,—>R;— % R, o GaweoLihigdleormen

2 -1

3

1 =5

P(A, B) =p(A) = urmsefler 61 etorsmflsens.

c. @EsEF FuaTuT(hS6T QLILMLG S6iTenl 2 el (eT. GLogy|d
SIS 6(H6ML0S & 60T 6MLOLL|GMLLLI6DT.

a(sa1aaTL (B 16
x+2y=3,y-2=2,x+y +z=1era0rp Fwearur(hmser

QUMD S ST 2 ML WT 6TTDILD 6T 6T 60T P P

Siaysmerts Quppererar eraTpid ST (H%.

Seyse6r :
guesrur(Hseflsor gjeuefl gjemLoliy

20



1 2 0 X 3
01 -1| |y| = |2
1 1 1 Z 1
A X =B
1 20 3
@&, (A, B) =[0 1 -1 : 2
1 1 1 :1

R, = R, -R, g Qewsu@glersd
1 20 : 3
(A,B) ~|0 1 -1 2
0 -1 1:-2

R; = R;+R, o Qaweu®igleorme
1 20 :3
(A,B) ~|0 1 -1 P2
00 0 :0

P(A,B)=2, p(A)="2s¢rerug) GeusfiiiLenL. Lommaeflesr
6T 6voT uuf 1S 6m 8 3.
sterGeu P(A, B) =p(A) < wrdlseaflsr 61 etor vl s emas.
S @EsE swaTUT(HS6T QLUMmLSS6Temnn 2 L lwer. Gyl
6T 6607 630T MM & 1T 6| & 6merr L1 GILim m16iT 61T 6oT.

NICETEIEE /NGB Y

x -3y +4z =3, 2x -5y +77 = 6, 3x -8y +11z = 1 erairp
FLOSTLT(HSH6IT GRLILIGHIDGSTENLD DIPPene eTTml HTL (Hh.
ey :

guesrur(hasefler gemfl algaild
1 -3 4 X 3
2 =57 y| =16
3 -8 11 Z 1
A X =B

21



@glev,

1 -3 4 :3

(A,B) =2 -5 7 :6
3 -8 11 : 1

R, —>R,-2R,,

R, = R;-3R, @eomausmers Gawawubsdlerme
-3 4 : 3

1
(A,B) ~|0 1 -1: 0
0 1 -1: -8
R; = R;-R, o Qeweu@glermen

1 -3 4 : 3
(A,B) ~|0 1 -1: 0
0 0 0 : -8

p(A,B)=3, p(A)=2¢erug GeuefliinemL
steorGou P(A, B) #p(A)
. LTUT(H&6T 6LILIHLIS S 60T 0L ) MHMEm6LL.

DICETEIEE MG
x+y +2=0,2x +y =z =0, x =2y +z2 = 0 @1
FswaTuT(Hsepd® LLFFwgd DSiaysedr wl HCw o el
TardEaTL (hs.
ey :
gLerum (Hseifler 9jevfl aulg LD
1 1 1 X 0

Qo o

— R, - R, @omasmers Gawsu@sdlers

22



1 1 1
A ~|0 -1 =3
0 -3 0
R; = R; - 3R, 9§ Qeweubiglerms
I 1 1
A ~|0 -1 -3
00 9
p (A) =3 srerrugy GeuafliuenL.
rseafler 6revremflsema 3.
sTeorGeu P (A) = ompilaserflear 67 6vor 6wl 6mah
S @hsE swaTUT(HsERSE LSS Sialser - ([HiGL o 6.
a(saisaar (B 19
3x +y 49z = 0, 3x +2y +127 =0, 2x +y +7z = 0 eraarp

swaTLT(hsehdhe LLFPwd SiaysCearr(® wpp Siesend
o ar(h eTard ST (Hs.

giay :
guerur(hsefler gemfl algaild
31 9 X 0
32120 |y| = 1o
21 7 Z 0
X =0
9
A =32 12
2 7
3 9 3 !
Al =3 2 12 =0,3 2‘=3¢0
2 1 7
S PpA)=2

wrsafler 6revoremflsemas 3.
sTeorGeu p(A) < wmplseflear 6r6vorefl&emas
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L @EsE suaTuT(HsERSE LEALS SiajsGam® wnm
ST6s LD 2_6vor (b).
d(sa155TL_(H 20

2x + 3y 2=5,3x -y +42 = 2, x +7y -6z = k erarp

FSTUT(HH6T QLILIDIDG SH6TMLOU|HL W FLOGT LIT(H 36T
crm"si) k @er wPlewusd T,

: 2 3 -
(AB)—3—1452 A=|3 -1 4
17 17 -6
2 1
Al =3 -1 4|=0, ‘ ‘:—117&0
17 -6 3 -1

p(A) =2.

CarHi&sIULL FaTUTHISET 6LILENLG S60TeNL0 2_6DL LLIIT6LTS
@més GeusmhHGwefleo p(A, B) i 2 916 @mss Geustor (.
steorGou (A, B) @leor suflems epeirm) 2 emLiw speriGleum @ HmmevoflL
L &Hwiors Geuetor (HILd.

3 -1 5
=14 20 =0
7 -6 k
= k=8.

sd(hsa1shaT (B 21

x+y+z=3,x+43y 427 = 6, x +5y +3z = k ereiraT
RLUILmW G ST PP FwarUT(HSH6r erTefled k et
wdlemLd SHrewts.

ey :
111 3 111
(A,B)=|1 3 2 6|, A=|1 3 2
153 k 1 5 3



1 1 1
1Al =|1 3 2] =0,
15 3

: 2#0
| =2%

P(A) =2 eresrugy GleuefliinemL.

GarhssiulL guarurTHS6T QLLMWLS 6T mm
suarUTHSaTe @ mh&e Calmrhibwallsy P(A, B) aerug 2 o186
@558 LT gl.

1 11 3
(A,B) =|1 3 2 6
1 53 k
R,—>R,-R,,
R, = R, - R, @Qmasmers Geweaubsdlerme
111: 3
(A,B) ~|021: 3
042 : k-3
R; = R, - 2R, o Gewsu@islerme
1 11 3
(A,B) ~|0 2 1: 3
000 : k-9

k # 9 ereflev p(A, B) eTetrugl 2 9186 @& gi.
Car@ssiulL  gwearur(H&sT 6LIL6MLES & 6T 60 L0
INOmLTS @QH&Es k garg 9 goers gEsmd @@
G—-QuwetorsroTT s @)(H858 Geusar (HLb.

d(ss1ahaTL(H 22

kx +3y+2=0,3x -4y +42=0,kx — 2y + 37 = 0 eratrp
swaTuT(hserdhe LpFPwd SiaysCearr(® wpp Siasend
@pesGwrg k. @Qer wdlewus sresnts.

srey
k3 1
A=|3 -4 4
k -2 3
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UL SSMeT FWaTUTHSEHSE LEFFIWS SiasGarr® wmnm
Srays@Epd @m&s Gausm HGwefles P(A) ererug Lomsafler
6T 6uoT enf|Sem B eI & (GemMeuTs @)(h&8 Gouetor (HILD.

p(A) #3.
k 3 1

greorGeu |3 —4 4 =0 :>k=%
k -2 3

adszsTL(H 23

x+2y+22=0,x -3y -3z =0, 2x +y +kz = 0 erarp
swarur(hsepdsd FFwg JSiasear L BHCw
o Gl afle0 k @&t wPliewd Hressta.

10T
1 2 2
A=|1 =3 -3
2 1 k

gl SSTer sLaTUTHOSERSE LFFWS Siaisst i (HiGw
@mss p(A) wrilsaflear seamaflsmes@GdF LTS @QMHESS
Geuetor (HILD.

1 2 2
LU =3 =3[ %0
2 1 k

= k#1. osrag k gearg 1 geerg gGsmin 6
G-QuwettrsroTT s @)(H&8 Geusar (HLD.

uupd 1.2
1) Nereugmd geuGeurm Ijewllullsr ST &metors.

1 2 3 3 2 1 1 2
(i) 3 2 1 (ii) 0 4 5 (111) 2 4
4 2 5 3 6 6 3 6

-2 1 3 1 2 4
(iV) { 0 1 1 J (v) {2 4 6 J (Vl)
1 3 4 -1 -2 -2 -4

26
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2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

1 3 4 3
.. (102 . 9 6
(vi) |3 9 12 9| (viii) (3 4} (1x)( ‘ 4}
1 3 4 3 B
1 1 -1 -1 -2 -1

A=12 -3 4 wpmih B = 6 12 6| geflld A+B LMHmILd
3 -2 3 5 10 5
AB gy Slweumlear Sirid & et &.

x oy 1

Yoy 1 adrm gyemlluflsr 7 3 666 Gompers @) mindsr

x3 y3 l . . . . . . .
(xy5 ¥ (x5, y,) DD (x5, y5) sTeorm LeraflgsT Cr Gamlipe
I|6OLOWLD 6T S ST (HS.
2x +8y +52=5,x+y+z=-2,x +2y —z =2 eteorm FLoeoTLIT(HS6T
R6T Q@ SiaLer QLULMLSS 6T C&TeTL e 6TaT&HSTL (hs.
x=3y =8z = =10, 3x + y =4z = 0, 2x +5y +6z = 13 erevrp
guaTUTHISET eTememT MM ST 6|SEHL 6T  6LIL ML S S 6T 60l
Q& metoTLsmed 6T6TS ST (h 5.
4x =5y =2z = 2, Sx -4y +2z = -2, 2x + 2y +8z = —1 eretipm
&LeTUT(H&afler LUILILG S 60T EmLemIL Q) TT—5.
4x =2y = 3, 6x =3y = 5 eTetT FATUT(HSH6T QLILEDLOS S 63T 6L
SIMMene 6760 SSHTL (D).
X+y+z=-3 3x+y -2z = -2, 2x +4y +7z = 7 eretip
FL6TUT(HS&T 6LILIENLIS S 60T6mLD HNMEme) 6T6THSTL(h&.
x +2y +2z = 0, x =3y -3z =0, 2x +y —z = 0 eravip
gwatuTQ&sER&EE x = 0, y = 0 npmid z = 0 eeary Saysmers
salis g Coum Sieyser SenLiumg) Tarssrl(Hls..
x+y =z =0, x =2y +z = 0, 3x + 6y =5z = 0 ererp
saTUTH&EHSE L,ESIS SiasEnLer wHm SiesEhn o 6o ()
TS ST (h&.
x +2y =3z = =2, 3x —y-2z =1, 2x +3y -5z = k evedT
FL6TUT(HS6T LILIMLOS S 6T 6mLo 2_6nL L FLostTUT(HaGleTafled k @)siT
LSIIDLE &IT6HoT 5.
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12)

13)

14)

x+y+z =1,3x—y-z=4,x+5y + 52 = k ereirm FwerurHi&siT
RUUmLSSeTomw gnn Fwearurhisbearafled £ @sr wdlmus
& T 6107 5.

2x-3y 4z =0, x 42y =32 =0, 4x -y + kz = 0 ererp
suaTUT(H&Eh&G LEFHWS SiajsGarr@ wHm &iesEp
@mseury k @ wHlmus oot s.

x 42y 432 = 0, 2x 43y +4z = 0 7Tx +ky 49z = 0 eretrp
suaTUTH&Eh&G LFHAUS Siay eers GCom Sieser
@semeGlwefley K @leir LlenLS &6t s.

1.3 Gpifwed sFwarur(hsealear Siajser
(SOLUTIONS OF LINEAR EQUATIONS)

1.3.1 oyemflsemer) LTRSS Siay Srewred (Solution

by matrix method)
[Al# 0, stemid Gur g AX = B steirm swemrumr(hissflemr Gy Siay

X =A"'B g @i

ad(sa15aTL(H 24

2x=y = 3, Sx+y = 4 erarp SFwaTUT(HIWMT el

wpmpued Sida.

10T

=

GarhssiulL swerur(Osefler gjsmflallg eI

00 =)

A X = B

Al = 2 =7+#0
s 1|77
suerurQsafsr eCr Siey X = A'B

)7 )
b)=3 05

93| ==
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d(s5a1HSTL(H 25
2x +8y +52 =5, x +y 42 = -2, x +2y —z = 2 era¥Tp
Fwatur(hsemer emlseamearts LwesTUBGHS Sidhas.

10T
Garhssiul L swerurHsefler gemfl aigaild

2.8 5)(~x 5 (@\6m6twT & ST 630 | 61T
11 y|=1]-2 +(=1-2), —(=1-1),+(2-1)
1A2 -1z 2 -(-8-10), +(-2-5),—(4-8)

X = B

+(8-5), —(2-5), +(2-8
5 8 s (8=5) (2-5), +(2-8)

Al =1 1 1] =1520
1 2 -1
guesrur(hsefler 6T Sieay

X =A"'B g @&Lb.
@uGurg A~! o0& emeserGumid.
-3 2 1
A =18 -7 4
’ 303 -6
-3 18 3
Atc -2 -7 3
4 -6
-3 18 3
A—I_LAt=L2—73
AL ISy
eT6oT G,
x -3 18 3\ (5
_ L2 -7 3]|-2
15 1 4 -6 2
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X -3
ie., | y|=|2
Z -1
X

=-3,y=2, z=-1.

d(s5B15HTL (1 26
@® Gueawwen? 8%, 8% % wppid 9% sal e’y
af grisaled GeuaiCoaugy wsSHoHer OCF-Fri. Deui
GuwrgsiHed 5.40,000 WP 5H O\F-guererti. et (HIHG
®.3,455 eaul'ip OuuuBpri. eui 9% @d 8% af
®.4,000 o fswrs wWwaseS®H OF-glarerri or el 6d
@dGairp sgafssdaud wsd@ Oa-gidrerg
srateuareay? Simeas yewlgpapuied e (BLg SoHayLb.
10T
8%, 8 % % wpmid 9% @led G&F-wiu L (&S HiseT (pemmGL
elh.X, €. V LMMID M. Z 6T60TS
samsdlerue  x + y + z = 40000
xx8x1 . 35xyxl1 +9xzxl
100 400 100
z—x=4000 = x+y+z=40000

32x +35y + 36z = 1382000

= 3455 wHmid

x —z=-4000
@&swerurhisaflsr 9ol gjemLoliy
1 1 1 X 40000
32 35 36 y | = |1382000
1 0 -1 Z - 4000
A X = B
I 1 1

Al =2 35 36 =—2%0
1 0 -1
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suerurQsafsr gCr Sia; X = A~'B

mrid @OGuTg A~ e smesoraumid.

A - —fS fi _35 (@) 6mewaT & &Y 630185 61T
c” | —4 3 +(-35-0), -(-32-36), +(0-35)
(-1-0),  +(-1-1), -(0-1)
-3 +(36-35), -(36-32), +(35-32)
Al =| 68 -2 —4
35 1 3
35 1 1
Al = LAt _ 1 |68 -2 -4
AL =255 1 3
x —35 1 1) ( 40,000
— 1|68 —2 —4|]|1382,000
35 1 3 )| —4,000
x — 22,000 x 11,000
N = _L|-28000 — |y]|=]14000
2 | ~30,000 z 15,000

sTerGeu 8%, & % % womd9% @ -5 Wsedhser
weomGw em. 11,000, em. 14,000 wpmid em. 15,000 gy @i.
1.3.2 gemlaCaremeu wempued Sia) srewred (Solution
by determinant method).
girmoflerr edlg) (Cramer's rule)
ax+by+ciz=d,, a,x+b,y+c,z=d,, a;x +by+cyz=d,
6T6oTM FLoeaTLIM(H&6me 6T(HS &S GlamerGoumLd
a b ¢ d, b ¢
A=la, b, c, , A = d, b, «c,

a; by ¢ dy b, «c
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=
~
o
=
o
Y

Ay: a, d, G, Az= a, 6T 60T &

a; d; ¢ a,

S
9
QK
9

w

s

A#0, sramGurg 6y Sieay

A, .
, Z= - O

ad(hsBsaT (B 27
x 42y 452 = 23, 3x +y +4z = 26, 6x +y +7z = 47 erevrp
FwaruT(hamer el ECaTanal wWpanpuied Eids.

E10TR
Qar@&ssiul L swerum(bH&er
x+2y+52=23
3x +y +4z =26
6x +y +7z =47
1 2 5 23 2 5
A =3 1 4 =—6=20; LAX=26 1 4 =_24
et
6 1 7 A 47 1 7
1 23 5 1 2 23
A =3 26 4 =-12 ;. A =3 26| =_18
' 6 47 7 6 1 47
&lrmorflesr eSlGlig
oAy _z24 _ e V2
.x—A—_6—4, y= =—==2
z = =__—168=3 ; > x=4, y=2, z=3.

ad(sa1ahaTL(H 28
2x=3y—-1 = 0, 5x +2y =12 = 0 eraorp sFwaTUT(HSHMaT
Agrwofer afFeows vwsTUB®SHS Sidhs.
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@ar@ssiul L gusasrur@asst 2x — 3y =1, Sx +2y =12

1 -3
A = =190 ; A, =|12 2|=38
2 1
Ay :‘5 | =P
Sirmofler aNdliug,
A
Uirein T st o
=>x=2, y=1.

ad(sg1ahaT (B 29

GauciGaugy @y afgmsamerwyenrws A, B, C ererp
wpaTyl GUTmeTHEmerT &L bg dpaTYl LOTSHIS6ND 6
apumerwireri afpuemer GCF-gspasTear afeuymidser
ECujeirar o L_auenenTufed G\&ET(HIhBLILIL (H6IT 6 6.

T SmIGeT| afpLmar 6CF-B Gupp GCwrégs FI
DIOGHHET N ; (apLITuPed)
A|lB | cl |,

R 90 [ 100 | 20 800

Ly eul 130 | 50 | 40 900

DT i & 60 | 100 | 30 850

A, B, C erairp Guirpeirsepdssrar srdh af SdmBdh HT6T S5,
Agrofar gpeanpufed Sidsayib.
srey

A, Bupmid C @er 51@ ofsmssT o J0EGs5E peonéu X,
Y LMMID Z eHLIT—&6iT 6T 60T &.
& 6007 & &1 60T Lilg

90x +100y +20z = 800

130x +50y +40z = 900

60x +100y +30z = 850
33



661GleUT (T, FLOETUTL 0L LWLD (P(6USID 10 960 QIGLILST6
9x +10y + 2z = 80
13x + 5y +4z =90
6x + 10y + 3z =85

9 10 2 80 10 2
A =[3 5 4 =_17520; A =0 5 4 =-350
6 10 3 85 10 3
9 80 2 9 10 80
A =113 90 4| =_700 - A =113 5 90| =_-1925

Y 6 85 3 6 10 85
Sirmofler aNdliug,
. _ Ay _ =350 _, . _ =700 _
CXERT s T2y = =Tstd
—-1925
= = =11
g 175

staorGeu A, B upmih Caarer sr@ efsmiser wpemmGu em.2,
e-4 Hmid em. 11 9y L.
vufpdr 1.3
A
1) gjewfl empuilsd Neraumld swaTUTHISHMOTS ST&Hs :
2x +3y=7, 2x+y=>5.

2)  ereumld swetumrbhigemer gjemflpenmuiled Si&s
x=2y+3z=1,3x—y+4z=3,2x +y 2z =—-1

3)  ereugmd swsrur@semet Sirmwofler efSlliued Siés :
6x -7y =16, 9x -5y =35.

4)  gefl&Careama empuiled Siss :
2x+2y-z2-1=0,x+y-2z2=0,3x+2y -3z =1.

5)  Hgmofler efdliugs Sises: x+y=2, y+z=6,z+x=4.

6) en ddw Gsrfins. Lsdla P, Q starm @mellgwmer aurGleormesdl
GQulysst surflssiuGdearmear. snE& A, B darm @@
eflGLomesr aUmeve 6T LIsTU(BSSUILIGISsrmenr. P steirm eumGlearmedlLs
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7

8)

9)

QulipsE @ram® A araa&Epn, epsarm B aimraesem
vweruGSslL@S e mer. Q ererm aurGleTmedll QU e &@ eLpedr m)
A umeuesEmid, mTeT@ B eumsues@Emin LweTLI(h &sLUn®S 6T meor.
Qursssdo 130 A areeseEpd, 180 B arsdesepn 9bhs
Qarfine L s vwatuhSsUulie GUlear surflssiulL
eur GQlearmedlLl Gl g sarfletr 67 6vT6vaf 1S 6mEs6mIL 9)6t0fl(LpemMUT6L ST 6TOT 5.
2 flGeor Gamglemio Lmmd 1 HCeur Fi&aemTulssr aflemev em.7; 1 HGeor
Gamgienwn mmid 1HGer gflduflsir eflensu em.7; 3 HlGeor Gamgenio,
2 HlGer gisser LHMID 1 HCor gflFuflsr allene em.17 eTefled
seuiGleu saT pfledr aflemevemiiid gyemflpemmulled simevorss.

X, Y unmid Z etetry epeitml Gummerasemer A, B wpmid C ereirm
ewperT 1 eSwrurflger eurmdl elnSpriger. A ererusur X @leir 2
VG ST D Z @ler 5 geu@semerid eurmdl, Y @er 3
Iu@asemer elmSpmi; B ererusur X @6t 5 gjeu@semeriyn, Y
@eir 2 glGsemaTID eurhid), Z @ler 7 glev@semer ellmSmmi; C
eTeorLeuT Y @leir 3 gjeu@semeTiyd Z @leir 1 gjeuensiyd eurmdl, X
@6t 4 guGsmer allndpri. Qs GFwaurhsafld A, em.11
QuuiEmri C, em.5 QumiSpri gyerme B, em.12 @upsSmrr.
Gur@lasear X, Y womid Z geiGeursrler allenausniid &imeurs.
9ol GCamemasamartl LIWaTUGHSHS Si&s.

Rm Osrfinsrammuied BrearCsrmid eperm Qum@mL&er
2 pusHwrHeTmer. @ Brafled g Gear QuTrss 2 nusH 45
LeT&SeTTa 2 6TeTgl. (&6 Qummeflsir 2 musHemw efl st mmid
Qummefler 2 MUSH) 8 LerssT QYSHSLTS 2 6TaTgl. (PGS0 CLIT (H6T
LM nId eyeitmmd QU mefler GoTSs 2 HUSES @t mid G perflsT
2 pusHemwll Gumed @ LLBIG 2 etergl. Sirmwfler ofldlemwi
uweruOG &) eeGeum @, Qurmeafler 2 HUSH oaTemeLS SIT6vas.

14 gasatewd wuFayser (STORING INFORMATION)

HeoLwl Lwursen FuGsHsTean Nf&E&686. 1910

afleurmigemer aFHUTSaD YL SSLTSaD GIIUNL gl enm
afleGSEH MG TarLems BT 9 mGeurLd.

SaerLsunmley gsmflseaflsr LweTLThigsT LDM @IkiE HTLD

S|MILIEVITLD.
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(1) semrmiser WgTer 2 meyser (Relation on sets).
(11) Semswil’ L gLmger (Directed routs).
(11) @radu s&eae uflrmmid (Cryptography).

IIBNG (PTOTHTS (PhHensll aUGLLSTl Lig&s & 6uurmhig e
Wamer 2 me|ser LMD Hlenere| g i GaurLd.

o pajser (Relations)

A erairn semrsSl(mhg B stern samsdnarear 2 mey R
sTeTUG, SMledlusT Gumssn A X B @er e o s gy @L.
staarGeu R etetrLigy auflema s Camgsaflsr semrom@L. gjeummler pg e
iy A Gl @Q@hgIn GremLrd o moy B @l G@hgin
sumdlermesr (a, b) € Rsterflev ‘a’ eteirugy ‘D’ o L6 2 meaysTer g
star&lGmmid. 9emsGw a R b sterm TpgidGomin. (a, b) ¢ R ereufled
'a ererugy 'b' o Lai 2 meunma. gyews gRD erer ) erp@HComin. R
sTeTLIG A 6T6iTM SH60TSSH60(HESI |0 S6mTSSHMSTET 2 M6 6T6ufled
R &g A-@ler igmer 2 mey erer GUITLD.

THSHSHSTL LTS
A=1{2,3,4,6} vpmgd B = {4, 6, 9}eretrs.

x gergl y o sflurs au@s@urare xRy earm, A ufls
@nhs B &G aumrunssiuion 2 pamet R erers.
IysueurGimesflsn

R={(2,4),(2,6),(3,6),(3,9),(4,4),(6,6)} g&W

Cpiorg o paj (Inverse relation)

A erairn sewrsSmhg B stery samsdnarear 2 mey R
sTeire. R @t Grifommy o meweu R ereirmy 67 g1l Gomid. R eretruigy
B @& @@mia A sorar 2 poy 9@, R @6 o dter auflmas
Gamgaemer HmUllermed gjemet R @l6v gjemiowjid. sTHSHSSTL LTS
R={(Ly (1, 2) G yssrug A = {1, 2, 3} @6 Bwhs
B={x,y, 2} 68 aumrumssiu@ib 2 may aeflles R = {(y, 1)
(z, 1) (v, 3)} ereorugy B @ev @mig A& e R @ler Guiomm)
2 M6 G-
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o paysaler CGaidsensds (Composition of relations)

R steorug) A eteirm semrsSlev @\mha B srertm &emr SSHmaesT et
2 me)| 6Ters. S sTerLg B semrsledlmngl C steirm s6mr S S msm e
2 me| erd. 9 sTeug R ererug A X B @leir o 1 sevorid, S sTeoruig)
B X C-@er o L&emorin. RoS ereorug geuel@m o meseflsr
Camsemam@Ld. 9|gemenr L6TaHL0m m)| elenTlmI& S GmmL.

RoS = {(a, c)/ beB stetrm 2 miiim@ (a, b) € R Gogyid
(b, c) eS}. RoS AXC
THSHSHSTL LTS

A =1{1,2,3,4}, B={a, b,c,d} vnmgd C = {x, y, z}
GLogyiLd

R={(,a),2,d),3,a),3,b),(3,d)} upmid

S = {(b, X)’ (b’ Z)’ (C, y)? (d, Z)}ﬂsiﬂ-5'
@susurQmenfled

RoS = {(2,2), (3, %), (3, 2)} 9.

o paysaflier eauanamsmser (Types of relations)

A eT6iTm s6voTSHSl60r L &6 R 6T6ITM 6 2 M6, Fuefl 2 meaurs
(Reflexive relation) @m&s ealbaurm ac A @w (a, a)eR
sT60T YIS Geuetor (HILD.

A eterm sevor Sl gmenr R ereirm rf 2 mey s 2 pours
(Symmetric relation) @\m&8 aRb srarmm& @ Gurg bRa srerm
@m&s Caustorhid. gemaugl (a, b)eR srafle (b, a)e Reteorm @(m&s
Geuegor (HILD.

A eretTm semrS S gmenr R eTeoTm gif 2 me Q@TLit 2_peurs
(Transitive relation) @m&s aRb wnmid bRc srarmmss @ Gurg)
aRc sterlm&e Goustor(hid oysmeug) (a, b), (b, c)e Rerefled (a, c)eR

R ereirm 2 mey swefl, susf i wHMID QSTLT 2 me|s6TTS
@mudler, R ererug swrer 2 pe| (Equivalence relation)
6T 6oTLILI(DILD.
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TO5aEETLOs A= {1, 2, 3} eretrm sevor&dlea L Gmeor
R={(1, 1), (1,2), (1, 3),(3,3)}
S={(1,1),(1,2),2,1),(2,2),3,3)}
T={,D,(1,2),(2,2),(2,3)}
TeoTM epeiTm) 2 meysener 6T (NS SS0sTeTLTed R sTeoTLig &loesfl
2 mausev, S eTeiTLg Fwesfl 2 me| wHmid T ererug swefl 2 masvev.
R ererug) sw&ST 2 me| g, S TarTugl FLEST 2 me| oo T
sTeiTLg sLEST 2 meusev. R sreirug QamLre mey, S earug G
2 me| omid T eTeTug QST 2 meles.
1.4.1 2 pay ewflser (Relation matrices)

X @6 @mEa Y &arer 2 nened, gjewfl surufleors eugHumss
GMi&&eami. gjeusurm GMl&sOUGIL 2 mesemer semflefl epeuld gL —6)
G&—wevmL.

fleorsEnsE X @er 2 niiysmers Gsrsmr® (76smin @
suflemauiled) QuUIWABHEGHTLD.

BreosensE Y @6ar 2 miysmers Glameoor® (L svor (b
s7Ca I s uflemaufsv) GRS Gomi.

xRy erafleo x gpeug Hleor y gueug By udlelley srevor 1
@EHCnrd. Eamauain ot @ @ECmTL. @iy

. . . .0 1 1) -
GupliL@L gjeuellGw R sreorm Lmaﬁi s i Uﬂ\é LD.
T@ssssTL®H 30 40 0 0 1

X etatugl y g afary eugssred xRy erarm
{2,3,4) areirp sewsBbwpa1 (5, 6,7, 8) areirp sewsBpe
aumgupsstiu@ o2 peay R @ar o peay salavwd
& IT GBOT ..

10T
R={(2,6),(2,8),(3,6),(4,8)}
R @6t 2 me| gjevef
R =
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sd(hsssaT (B 31
m < n etesfled mRn eresrpeurgy S = {1, 2, 3, 4} @er 1B
aaupissLiLb R eaearp o pafer enleanwid FHrewms.

Sy :
R={(1,2),(1,3),(1,4),(2,3),(2,4), 3,4}
R @str 2 mey gjef]
1 2 3 4
/0 1 1 1
R=200 11
310 0 0 1
40 0 0 O
d(sg1ahaTL(H 32 L2 3
@i 2 pay genl R = xG 0 OJ eTasrd G\HT(HHBLILIG 65T
y
opa] R ;3 @ aufemss Carysalear sewnrions: eTpsis.
10T

R={C, 1, 1), 2)}

Cpiwry o pafer ewl (matrix for inverse relation)

R ererrugy) e 2 meflsor gemflCwesfled giseir Hlenr Hlired Lommm
oyemfl R ereiruig) oiseir Gmiorm 2 mey R™! & @lé@ L.
a5 33

mn =m etesfled mRn etar A ={0, 1, 2} eretrp HewrGHeir
5a R eararp o2 pe) ecuampwpissiu@ipzgs. R Qar
o pay alewwds HTaTs. sl vwartUuBSH
Gpiwry o2 pea; R! @er gefeows sreaws.
10T

R =1{(0,0), (0, 1), (0,2), (1, 1), (2, )}

R @s6ir 2 mey gjemfl

I 2

R = 111
010
010

NN = O
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R =R
01 2
01 0 0

=111 1
21 0 0

o payseafer QGaiLiy ewl (matrix for composition of
relations)

el Qumsss R, R, @é ysdlwwpm o miyser
geuGleuraTenmd 1.9y 8 wrmmlt Gupiu@id gewfl R o R, @ler Garriy
I|6wf] S SLh.

sd(hsg1aaT (b 34

Rl = {(19 a)9 (29 b)9 (39 a)9 (39 b)} 6765—”—'@‘ X = {19 29 3}
Qv @mppg Y ={a, b, ¢,} &@ oedrer o2 pa). R, = {(a, x),
(a,y), (b, y), (b2)} ereirugy Y @b @mpg Z = {x,y, 2} $&
serar o pa) eaeféd R, wppb R, s pojsepssrear
Selsmersd srewrs. measamert LwearLBhsd R, o
R, @it o2 pa) gewferuwis srewrs.

10T

a b c

1f1 0 O

R, s&rer 2 meay gwfl, R, =2{0 1 0

3i1 1.0

Xy z

afl 1 0

R, sa&rer 2 mey gwfl, R,=5»{0 1 1

cl0 0 0

I|eofll ClLm& 860
1 0 0 1 1 0
R, R,= 01 0 01 1
1 1 0 0 0 O

Il
—_ O =
p—
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R, R, @& ysdwnpm 2 miiyser gablarsarammpun 1 9,8
LommpdleoTiev
y z
1 0
11
11

RloR2

_— O =

1
=2
3
o pay el OGeualiu@®sgHd o pafer euens (Type of
relation as revealed by relation matrix)
2 mey gjewflullssr (pseiTemLn eLpsmevaill L Gelev 1 6T68TM 6T 60T &6iT
L HGL @WmSGLIarT 9hs 2 ne| FLesfl 2 meur@L.
2 me| g6l FLEFSTemflurearme (Y SToug) a;; = a, , STeVGUI
I, ] &EH&E) 9B 2 Me| FLEET 2 MEITEGLD.
R? @etr (i, j) udley &b @evsomine @)m&ELd CuTGgaeumid

R @sir (i, j) udleyd L& @6 @) (& @LmerTe b 2 ne|
@sTL 2 meum@Lb.

NICETIELIIMCIRE

A={a,b,c,d} earasrp sewgder 85 R = {(a, a),
®, b), (c, ¢), d, d), (b, c), (c, b)} arairp opa) CErBESLI
u@Fpg. R Qa1 2 pa) ywmfieowsds STams. ansSLl
vwesTuBGS Dps o paler eumEMUIS BT 6T 5.

srey

R @6t 2 me| gjevefl
a b ¢ d
afl 0 0 O
b|00 1 1 O

R=
c|0 1 0
dl0 0 0 1

s6Tenio epeneail L Sdleb 16Tearm 6T6toT &6 L (HIGL 2 6iT6mT 6T,
sTeorGou R, &6l 2 meum @Lo.

R gjemfl s0&& gemilum@lo. erearGeu R, swsdim 2 meur@Lb.

I|eofll Gl & 860
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1 0 1
0 0 0
0 0 0

- o o O
S = = O
(= ]
NN O
(=2 SRS -]
-0 o O

0
1
1
0

(]
S = = O

0 1 0 0

R? @ @ 2 mitiy u&Hud @eamatusilh ysnE Herrs
R-@6v 2 sirer 2 miiyid L, FSwid @lsveurns @m&Hmgl. srarGen R,
Q&L 2 meum@L.

sTerGeu R ererug swefl, susdm womid CQsTLr 2 maurs
2 srergl. eTeorGeu R, slomesr 2 meum@Lb.
a(sa1aaTL (B 36

Im-nl <1 eresfled0 mRn erargy S = {1, 2, 3, 4} ararp
sangsHar 155 R erarp o pea) aegwupssiiL@AEpgi.
R-@eir 2 pay yewlenwsds sresrs. szl LweTL(HSEH
R-@er cuemasanuwid SHrewts.
srey
R=1{(,1),(,2),(2,1),(2,2),(2,3),3,2),3,3),3,4),
4,3), 4,4}

1 2 3 4
11100
R=2[1 110
300 1 1 1
40 0 1 1

s 6iTenio epemeueil L S&led 1 6Teirm 6Tetor &6l L (HGL 2 6iT6r6uT.
sTeorGeu R, &woefl 2 meum @ Lo

R gjeofll s giemflum@. aarGol R, susdire meurgi.

1 1 0 O 1 1 0 O 2 2 1 0
1 1 1 0 1 1 1 0 2 3 2 1
R*= =
-0 1 1 1 o 1 1 1| —(1 2 3 2
0 0 1 1 0o 0 1 1 o 1 2 2

R2 @6 (1, 3)eugy 2 mi'iy L&Awid Gevemev, gpermed R @ev (1, 3)eug
2 iy LFFwrs o erergl. eTerGol R, GarLm 2 me| 9jsvsv.
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14.2 gL oemfsmer (Route matrices)

peveu e sTenTmemsSLILGID Py, P, ..., P, eTerm ysiefle @i,
Ieumled @ CeueiGoum euflemas Camg Leteflgemem @)emenor & &L
sl L aflaflbysEnh @ SHoswtllL SLSMS 2 (HaTSHSLD.
SHevaufl’ L elleflioy Pij sTeoTLI G SHemaullL elleflioy Pji @60 @\(BHE)
Coaupu'Lgr@. P, ererm wevearuflelmbg Coim om (pemerss
sl L alleflby @eoorwdl@mssarn; Gy aH8 QI
weoosrulledphgin P, 6@ domasuilL aflaflioy @leeumiosdmsserid.
GogId 6THE @ (pensrwleid eIEmETILRISGST SlemLILTgl. THE @)\
yeraflsemsiyn Hemsuwll L v eflafloyssT @lenemTSH&ST Gl 6760 &
@& msiTGeurLd.

R Smsul L sLSH6r eaiblourm ailaflioym, Berd 1 2 6Ter
Hlemev 6T60Tm QYPSSUILGID. P, ererm pemeotudledlm b i P, 6T60TM
Yeoearsarer ureng (Path) sterug P, @lev @mha Pj euemylevr 6o
afleflibyseaflsir QgmLferorgn. 918 P, @ gr s Gastor@Hid, P.
@60 wipw GoustorBib. (emerseT P, P, 2 6TUL uTenguiled L evor (HILD
L 6voT (HILD GUIT6VITLD.

P. @le @\mha Pj &G (I LUTDS ()8 SL0T 6T 6 Pj , P. @6
QmHg JEmsu_&sigwg (accessible) geg P, Pj 0 g|EmELd
Smeir (access) QameurL g eTerd GlFmsoGoumLD.

R0 sLSHw P, Pj sTeoT 6THS @\ UsTeflGemar 61(HS &1
QemerLraid P, @l Qw5 & Pj &G QI UTmSILLD Pj @60 @\mHS)
P, 6@ @@ urmsuyn QHséGuLrame Ihs SLI ugaurs
@)ensorSa0u”_@erer g 6760r 1) GlFTevLILIHILD. @levemeuGliListfled ausyiaITs
@)emennT S LILIL 651606m6 6T 60T LILI(HILD.

R Soslil' L sLSms g6 L il Golsseomn. G
STETLG ‘1 (LPEDETS&HET 2 6T6T 63 HlemsFul L SLLb 6T60S. 1 X 1
suflemeswser A steorm g gemfluiied P, @lev @(mm g P, 56 R
Semswll L efllafliby @muller (i, j) Qyeug 2 mity 1 6Teoreab
@semeGlesfley 0 sTarad gmussLILGIL Ijemfl, 9 s SHaesull L
SLESIT L Semfl 2 GL0-

&L ojeuflufley o 6mer 1 6T60TM 6T 65T & 6rfl 63T 6T 6v0T 6051 & 61 &
sLESeTer Sensull L efleflioysefler erevomenllsmad@s swwrs
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@QmeEn. s gmisEpn 2 ey ojmfl&sT Srer. g earma S
Iewfllser 5T gjemllsaTTas ST @)(Hés G (bin; 2 ne| ojsuuflser
FgIT gewllEeTrs @)(H&s Golsr (H6lsiTLSsemev.

@ Sostil L 5L urms Iewfl (Path matrix)

P= {Pij} 6T6OTLI G|

P = I, P, @6 @mps P68 @ utmg @) 5 G LomeuTTey
R VT, T

6T60T M1 S6MLOIILD I|650] ) SLD.

NICETIEL NG IRYY
£CYp Oar@asti’ Bearer @aiGeaurm GanFuf’ L
SLGEPSHID BT B ewlenpwid FHT6wTS5.
(@) i p
P

1

PZ
uLtb 1.4
(iii) P, (iv) P,
Pl
P2 P3
P
3
uLw 1.6 uLt 1.7
ey :
g P P P P
P P, P ;
P ]() 12 03 ROT10
@rlo o1 Gip 20 0 00
P2 00 0 P,jO O 0 O
3 PO 0 0O
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PIP2P3 P]P2P3
P(O 1 1 PO 1 1
(1) P,JO0 0 0O av)pr|1 0 1
P(1 0 0 P(1 0 0

ad(sa155TL_(H 38
£CYp OGar@®sésiul Gearear eaibeurm HL
SenldGd FavFuf L FL1b auemys.

P PRPEEKEER
P P, P, P P(O1T 1 0 0 O
P(O 1 0 1 B/OO 1 0 0 0
P00 1 1 .. B0 0 00 00
(1)P30 1 o0 1 )p|1 01 0 1 0
pll 0 1 0 BIOO 1 0 0 0
PLlOO OO 1 0
Siiey
P . P
® 2 (i)
P P
1 P4
P3
P4
ucib 1.8 ucib 1.9 Py

Feosud’ L gLmiser uppw Casppriser

LM Cammmisar (Hlemusteriilsr i) &6 Glam(Hl&s LT (HsTeT 6.
Uletr su(meueTeumled A 6T6ITLIS (1 SL I|ewflenils &S @ELD 676 s.
Cappi> 1

A" @b (i, j) -y g 2 miiy, P, Bl6d @5 P&y r Blemmaafli
sTSGement aULflGafls) oy somyes e GLom 2y6mflsdT 676voT 6ot 16608 9y &5LD.
Cappib 2

A" @éb j Klyedled 2 e 2 miliy&eflsT & (HG60, w6 S S
(Lp 6o o7 & 6fl 6] (1% [ &3/ LD Pj o r flemvsafls) 755 mer 6uLflsafls
9600 & 60T GLOT SyeIMNSl6T 6T 600T 60011 6085 9y BLD.
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Cappid 3

A+ A+ A+ A @4 (i, j)- e 2 gy, P, @ed
B i s P, o QeTm, Breor®), ... Qg 1 Blenssaflsy 61 smeor
aufleafled oy somgsemGLom oyaImnfleiT 6T 6oaT 6001 IS 608 2y GLD.
Cappd 4

A+ A2+ AT+ . +AT @6 j gy o sirar o muiyesaflsr
& (560, evaTsg (el mhgin P, & serm, Blrsor® ...
9jevevgy 1 Klemevsafle) 6155 emerr auflsafle) gsmmiseomGLom gyaimnilsr
6T 6007 6001 165608 9y, (&5LD.
Cappd 5

N (LpemeaT SemeriLenl_LL 615 SlenFil L L G&ld A + A2+ AT+
v +A" @60 Ly FFIW LSleyser GGl 9yhg Slenaull L &L Lb
CUSIOUTS Bem6aaT & SLILIL L GL LOTELD
Capp> 6

n (pemsr&meriyemL i Sensuil’ L sLG&l0 A + A+ AT+
+A" @éd L afluwears peaIGlard o plsmuwyn 1 96 wrH
ClumLiL®Ln oyeef] ks Slemeuil L &1 g&dlsr Lumeng oj6mf] 9 &Lo.

Bhs Canmmisaflsr LisTUT(hGmer oflaTs@GL alsnssuilsy &lsv
T (h& SIS ST (H&emerT BT QIIGLIT G| LITIT & &6VITLD.
NICE I MG IRE,

Pereumd G etairp Pawsud’ L gL gwmg HmGHe
G\ & T 6iT 3.

u 1.10
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()
(ii)

(1ii)

(iv)

(v)

(vi)

@)

(i)

G @ear gL sewlemwid FHTevms.

P,y P, @0 @mpa 3 Ppoewsaled agsamer
alfsefed gsTdD 6Tewrdh HawsT(HLlg. Pagrer
urengaamerds GPLILI(HS.
P, @ @mpsy P, 68 8 Pewewsalled oerer
LTSSl Tl el BemBenuld STaTH. [Hagrer
uregasemerds GPLILN(HS.

P, erarugs ppeaisarred 3 Perevsafied o1 dgeamer
afsaflled @pisliL_eord ereTm SHewt(HL g .

@aTy, Qraw® g dpery Parevsealed P g
P, agsmar anfsafled igmigd Fper GareasrL_gi
eTaTm SHewst(HLg .

P, ararigy wppeaiserred 3 odwg HFPS
G®mpairTar Poewsalled eadggmear iy saled
DI@ISLILIL 6OTLD 6TTm)l HewrT(HLg .

G @lerr 5L oyeuef]
BB BPEKE
B(O1 1 1 00O
P/O OO I 11
A=PFR/0 1 0 1 1 1
PO O 1 001
P{O O O 0 0 O
FLO O1 010
PI PZ P3 P4 PS P( PI PZ P’i P4 1)5 P6
PO 1 1 2 2 3 PO 1 5 2 5 4
PjO 0 2 0 1 1 PjO 2 1 2 3 2
A2=P|0 0 2 1 2 2/ A3_PJ0 2 3 2 4 3
PjO 1 1 1 2 1 PO 1 2 2 3 3
PiO 0O 0 0 0 O P{O O 0 0O O O
PB\O 1 0 1 1 1 P\O 0 2 1 2 2
P, P, @60 @mig 3 flemausafled 5 aufisefley ojemiseumin.
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LIT6m& &6 -
p, PP, P,, P P,PP, P P, P, P, PP,P, P;uhmid
P, P, P.P,.

i) P, @& @Qmois P 6@ 3 fomasafle o srer umrens s efler
6T svor 6018608 5.

S{6HEUG 6T
p, PP, P, P, P, PP, P P,P P, PP, P, P, pmid
P, P, PP,
(iv) P, ereitugl wpmemeusstmen 3 flsmevgafles 4 +2+3+3+0=12
auflseafled 9 amisLILL LD,
]?1 P2 P? P4 PS P()
P(O 3 7 5 7 7
PlO 2 3 35 4
V) A+AZ+A3=PR[0 3 5 4 7 6
PJO 2 4 3 55
P{O O O 0 O O
PlO 1 3 2 4 3

P, oy P, stetrigy gpeor mi, @ievor(h 360608 ewpstr n) [lsmeusseaflsy 7
aufi&efley 9jami@L Slmeir GlameuorL gl

(Vi) P upmmeasstrs 3 gioag JHHE Gsmmeurst Hameaseafls
T+4+6+5+0=22 auflseafled 9jamisliLLeomL.

ICEEIEE NG

SL gasileowuwyb g1t 9BHISHS®earujid
vwesTuBRSP EC OG@rT(REsLiL (Herer @ewFuf’ L GL1b
G agiaurs @amawdsLiul (Derargl eTardh STl (Hs.




G @lerr 5L oyevef]
Pl P2 3 P4
P(O 1 0 1
AoB[0 0 1
PO 0 0 1
Pl 0 0 0
4 yeoarsst @miugrd A + A% + A3 +A* 95 sam®
e IGUImLD.
R PZ P3 P4 1Dl PZ P3 P4
P(l 0 1 1 P(1 1 0 2
A2 P10 0 AP0
Pl 0 0 O PO 1 0 1
PO 1 0 1 Pl 0 1 1
Pl P2 P3 P4 ]‘D] P2 P3 P4
P2 1 1 2 P4 3 2 6
Pi{1 1 1 2 P{3 2 2 5
At= , A+AZ+A3+AY= 2
Pl1 0 1 1 12 1 1 3
PL1 1 0 2 P3 2 1 4

@&l L&l udleysst @lsmev.
G, augieurs @leneter &aLILIL (D66 ).

adsa1aaTL_(H 41
&C dwsu’ L sL1b G Oasr(HssliL’ (Herergi.

V. \"

2 1

UL 1.12
G @er L gwmliewwds ST@ETH. 9 DT
P sGsmarts vwasTUuBSS G, auPiaTs et
ul (Qerersr eTarg Fioreldsayib.
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G @lerr 5L oyevef]
Vi, ViV,
V(O 0 0 I
AT o 1
Vi1 0 0 1
Vi1 0o 1 0
4 wevaraet @mIusTed A + A2+ A3+ At & sremHCmmid.
i, ViV, ViV, v,
V(1L 0 1 0 V(1 0 0 2
A2 V|2 012l s V3023
Vi1 0 1 1 V(2 0 1 2
vt 0 0 2 vii2 0 2 1
vV, V, V, V,
Vi(2 0 2 1
A V5 003 s
Vi3 0 2 3
vi3 0 1 4
Vi v, ViV,
V(4 0 3 4
V11 0 7 11
A +AZ+A3 +AY =
V|7 0 4 7
vil7 0 4 7

@&lev L&l uHey 2 6Ter G
sTeoTGeu G, eueieuT s [@lemeneT & & LILIL afls0emev

NICETIEL NG REY
P, P, P,

Pl

A=

[N

0 11
P,|0 0 1| etesrp L yawlemwenwi G eTairp
P,\1 0 0
SLID eugiaurs anentdhsLiLl (Herergl erergy ST (H5.
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Srey:
3 yemarEsT @mUuSTe, A + A% + A3 o6 smetorSHGmmib.

I)] P2 P3 P1 PZ P3
P(1 0 1 P(1 1 1
A’=p|1 0 o, Al=7plo 1 1/
P01 1 Pl 0 1
P1 PZ P3
P(2 2 3
SA+ATHAI=DP1 1 2
P2 1 2

@&lev L&Al ueyser @levsmev
-G, ugieurs @lemesar&aLILL (D66 Gl

ad(sa1aaTL(H 43

&G Oar@ssiiul (Rearer Hansufl’ L FL G Her
ewiufer sHasGasmerts LwastUBRSGS Dps DL GHer
LTenG ewlienwids iTesT .

v, uLb 1.13
Frey
L 9|enf]
Vl VZ V3 V4
0 1 0 1
Ao V00 1
VJ0o 1 0 1
vilo 1 0 o

4 yeversem @mUugmed A + A2+ A3+ At o0& sremHGmmid.
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V31210
V22122

V]O S O O
> T ST

A3=

ST~
ST T T on
S s

V]O S O O
> T T

SA+AZ+A3+ A4

V4 — = =
V3 — O - -
Vz — AN — O

V]O S O O
N

A2=

2

V4 ¢ N oon
ST~ A A
VZ n <t N —

VIOOOO

L& liLneoeur s eelbleur @ ulamauin 1 9y & wrmml ureng ojsmf

P o QU Gmmid.

1
1
1
1

b 44

SSIHHTL

UC)

|
E
5 .
s &
NM 8
8
TN
€
9 & %
5 < )
B, - 8,
iy g 8
i 0%
ECEE |
9 .-
Aﬁ V21 S S e .M
mu Vl 01 02 03 14 =
m > V__V .M..
o < 3
€
3
|

uLth 1.14

5
-9
]
Bl
4
-
=
b
g
L

Srey:
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G @ @mha uremg oyjsuflenw CriflenL s 6T pSHleTmen
V] VZ V3 V4

1 1 1 1
1
1
1

<< <<

1
1
1

—_

1
1
1

1.4.3 @padfw gaseued wufwrppid (Cryptography)

Qe-glamears smiGss Grfuilen 6 wseal, shicss Gmfuilsn
stusiulL Ge-gamw GausflsQaerarran LEHwWs Camme
Iemflurs @seors gemflemwus Hpliurs LweTubh &g eomLd. 6T (LD
THOSSHSSTL (D @QSemenT 66T &HEGUSTS J|6MLOWLD.

NICEEIEEINMCES

1 2 3 4 5 6 7 8 9 10 11 1213
A
A B CDEVF G HI J KLM
14 15 16 17 18 19 20 21 22 23 24 2526
L A
N OP QR S T UV WX YZ
5 3
adarp UFSL B S L gwsub A = (2 lJaTeirp

eiewwyd vweaTUSH

(i) HARD WORK ereruengs smiGsg Giorfued
eTipgIs. Cogiid

) 98, 39, 125, 49, 80, 31 eresrp FmiGasgz GUuoryHufer
OF-davws Geuald G&HTewris.
ey :
1O  uHSLBHS S LLiLg

H A R D WO R K

8 1 184 23 15 18 11
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@smeusemar NsareumLom m G&T &S SeumLD.
8 18 23 18
1) (4) (15)7 (11
AX =B eretrm 2 pomrmmid QE-gmeo
5 3)(8) (43
2 1 1) 17
5 3 8 102
2 1 ~ 40
5 3 2 160
2 1 — el
3 123
1) (1) (47
gniGasg Qurfls Qe-4) : 43, 17, 102, 40, 160, 61, 123, 47

1
4
3
15
5 18
2
@@ 98,39, 125, 49, 80, 31
@smeusemar NeareumLom m C&TES&6MLD

3 (3))

@uGurg AX = B 098 Sissemi.

2 -5

-1 3 98 ) (19

2 -5)139 )1

-1 3 125 ) (22

2 -5 49 )7 5

-1 3 80 ) (13

2 -5)(8 ) |5
eteorGeu 19, 1, 22,5, 13,5

LS (h S L GemaLl LweTLbhSHermed Gleusflds Gamemriliu L
Ge-&l: S A VE ME

. X=A"B, A= ("1 3]
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SPLy

2 X 2 &8l gjemfl&ECamena gjsurs ojsuoflemiuls LILGTLIHIS S

Gur g eTevarsemem euflemauiley @\TevripreioTLTe GBTGHSSHCHITLD. 6T
stenor, Gamy @6 @HSEGLTETTR HTLMsGa FHSLHMMTS eI
sTenoTemenT & SevL & eTenTenTTHE GHFTGH G Uemart gms ailis g
eflLsumid. 3 X 3 gyevoflemwils LwsrL(BHS G GuIm g eTetor Semear euflemaufsd
ELP6IT M) ST M &S CHTGHSHCMTD. CHemaLTETTE) FLOLLHS LA S
G 6TH g @ITeo® sTeamsHmeTE Cansgis Gl&mevr(h
Yletreorim 9jeumenms Seilii & &l aflL_svmLd.

1)

2)

3)

4)

5)

6)

uu?pd 1.4
x ereiTugl y & sflurs au@ssme x Ry starm {2, 5, 8, 9} @le
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b
Beraul L s&ler gwerurieoL, y = + a’—x’ ereTm

aulgefled sTpgeumd. | x | > a stesfled, 9BTOIg X > a e g
x < -a eefle, a®> - x><0. . Ja’—x" spusver. aerCay,
X = a eteirm Camiigsr suelinSSeid X = —a eTeoTm CaTL L 65T
@LILNSSHQID 61ED6TEIENT IH|EOLOLIT G-

| x| < aereufled, a* - x* > 0. ererGeu eu@eur (, x-&@L @) &Lo
QL6860 Lo ML L &M meTismLl Y GILS6T SlenL & @ L.

QIEMETEIMT, X = a LHm x = —a eearm @iewr(
CorhsEnsEim JLm@n. x = a aarug A(a, 0) @6
QarHCar® sTaTumGWILD LHmId x = —a erarug A'(—a, 0)
@60 QFTHICHTH eTRTLMSILILD S66f& &L

. . . 2 2 .
6)_I6'0)6TI'6)_I6'6)I]'LI5]6'0'I' FLO6OTUITL 60)L, X =+ a b -y 6T60T M

QU AISSHID 6T(YSEMLD.  EIEHATEIEDT Y = bbsrséij Carliyns
Guoympd, y = —b sterm Camilem@ SPUMIPLD |EHLOILIT G.
auemeTelemy y = b wpmih y = —b eerm CaErOsEns S
@l PuuGILTsS mhETarg. @hs @\t h &
CarhaseEpd weomGu, B unpmid B’ @6 eaemrwiu@i
CasTOGCsTHIS6TTGLD.

x gpergl 0 s a eueny & HOuTwWsl, y JyLers b wee 0
SO GMMSIMG).

85



(vi) G&Feueumevrd (Latus rectum) : S @eir euflwrs, LSL'e
AS-55& QsmEG5sMs almrs.

. azez y bZ _b4
X = ae erefley, pe +—b2:1 = y*=b*(1-¢?) = b? 212
b Copr b’
(9-g)) y=+ - =SL=SL"=""-.

2
sTeorGeu, LL = % Ferou’ L Gdler QFseuel.

suemeralemTWilesr eulgaud UMM CLHSTEMILD &[S 5I5MmeTs
Qamemr(h), auemsToauemTENI LILLD 2.9 @60 2 sTeTg GUT6D
QUETIW(PIgILD.  LTauemeTIID GUTEL gjevsumLosy, HeTau L LD erf
eLplg LI GEDEIT EEMITLLIT (LD

y

M’

-
B

1 ’ M
UL 2.9

M

peraul’ L gder waduw wvewTL

S whmid S” & GaNwkiserrs Qe Fereu L SHer g P
sCaaid e yerefl stesfled, SP + S'P = 2a @i 2a QL &dler
BT oy GLb.

2 2

2.3.3 2_2 + i—z =1 ererp pearau’ L gdear emwwiib,
(Lp W T 3 6T, & af Wi mi & et , D F I & 6T Lo P M1 LD
UGG 0T HeT.

(i) e»wwp (Centre)
(x, y) susmereusmruiletr LT &) ep(m Lserfl eTeafled (—x, —y) eTeoTLIGID
susmaTeusmTUT6T L gl (1 LieTarfl gy L. Gogid (x, —y) eusmeTauemyullesr
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&l e ustafl eTefley, (—x, y) eTeTugid susmeTusmruflesr &l e
ysraflur@. @&, C auflurs Qaoin gaibarm Garhn C
@NmLs sLETTSSH0, aumsTousmyenit @revor (b L6Teflsefle
FhdlsHng raTumss Gaaflaurs@dHngl. eearGeal C sterm ysmerfl,
Bereu’ L Sdler emowlistefl eTemr gemussiGi&Eng. C(0,0) gyearg
AA st smwwiiystefl gy @Lb.

(i) @pemewrmar (Vertices)

S whmh S’ eerm yerafllGemer @emeTTSGL CHTH
aueneTaiemyemil Geul Hb ystefldermer A wmmid A’ 6reorueer
Berau L SSleir (pemeurse sTer emussLiLbhilsrmer. A (a, 0) mmib
A’ (=a, 0) gy
(iii) @afwmiser (Foci)

S(ae, 0) wpmid S’ (—ae , 0) eretrm yeiraflgem Ferou L & eleor
GBI ETT GLD.

(iv) FaFser (Axis)

suemseueny AA” wnmid BB’ stetrm Campiamenss Qum mig @&
guddmeoLwgl. AA" whmud BB’ ereruer oo’ L SHer QpLlL_&s
(major axis) wpmId Gdm&Fs (minor axis) ererliLbILD.

e<]l = 1-e*<1

bh=a*(l-e)<a>=>b<a.

- BB < AA’.

sTerGou AA” & QplLéa erereyd, BB' @oméa eremeayid
ImpssLiLbhiEermer. geor QElLEs CA = a npnih gjeor GHDES
CB = b gy@.
v) Qusgeaampgssear (Directrices)

uLLD 2.9 @6V, QuisEuemr MZ @leor swetur(, X = %

o ’ ’ e . _ Q
[OXIEAG LI M1 7 -eor guerur(H) x = — p
b2

(vi) b*=a*(1-e?) .. e= 22
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addasar_(H 10

-1, 1) @ o Galwwrsen, JM»FQWTSHS
Quageuemny x —y + 3 =0 eaerab, wLWIGOBITM®Oa)
55 % eTarayp GlarewrL  [bereul’ gher FioeTLTL enL_
& IT GUOT ..

Sy :

@allwn S(-1,1) Qusgeaer x —y +3 =0, e = % 6T 68T
Q&M & LUl (6T 6 6oT.

P(x,,y,), Bereu’ L ggler 15 g1 e7CHemid e Uearfl 6760785
starGeu SP? = ¢? PM? @i PM ereirug Puilledlmia x —y +3 =0
CarliymE o 6Tar emEs 815 (sTman| g GLb.

2
i Y1 S N
8(x, + 1>+ 8 (y, — 1) (x, =y, +3)?

Tx?+2x,y,+7y>+10x — 10y, +7=0

(x,, ¥y, @eor Blwniurms, SSTag Hereul L &ler sweTur(®

Tx* + 2xy + 7Ty* + 10x — 10y + 7 = 0 g@Lb.

addssar_(H 11
(2,0) wpoub (-2, 0) erasrp yeralsemerds Galwim
1

SAMTHALD MWGOSTMHNG HHa ) TaTayd G\HTesdTL
peraul’ L gder Fweatur(h Hrewts.
Srey :
S (ae , 0) wpmid S’ (—ae,0) steorm ysreflger, Hereul L Ld
2 2

;‘—2+Z—2: I @ @alwhss (2.0), (-2, 0) uppid ¢ = +

Carh&sLUL (heTer &)
=ae=2 vy e = % = a=4 gewg a’*=16
sowwiystafl C, SS” @er mHIYeTaflwumGLo.
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sterGeu C(0,0) gp@. Suwhmid S7, x g|&deir 15 g o 6iremer.
2 2
Bereul L &ler Foerum( : 2—2+l);—2= 1
@i b2=a*(1-¢?) =16 (1-5) = 12
2 2
sTeorGou [HeTeul L &aleor Foearuim(h f_6+i)_2= 1
adBdsaT_(H 12
9x% + 16y* = 144 aarp perau’ L ghHer, ewwowd
Ggremewgd Fse), Galwmiser, GFdiaismwd wpBedwier
& T GUST & .
sy
Bereul L & &ler &Lerum (),
2 2
2 2 LY
9x*+ 16y* = 144 "16+9_1
2 2
QarOssUul (Herar SWeTUTLig6T 6llg eIl 2_2+b_2: 1.
@riE a=4wnmin b=3

S A ]
¢ = a’* = 16 = 4

S (ae, 0) wmmid S” (—ae , 0) @eNwkiger

(21-81) S(N/7,0) wpmid S'(-~/7.0)
2 _ 23
a 4

addasar_(H 13
3x2+ 4y —6x + 8y - 5 = 0 erébrp Pereu’ L ghHeir

QUG =

9
2

@wwib, oLWGO T Ssa, Galwmiser,
BuiISGHaUmIEHer (PpBSOWSTIPODS T 6oT 5.
ey :

QarT@®ssuul_(erer swerum @
(Bx2—6x)+ (4y*+8y) =5
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= 3x-1)2+4(y+1)? =5+3+4=12
12 2
CERTNNCES)
. - . X? y?
@@wX=x—1mmgjLnY=y+1€rarﬂsu,T+T=l
2 2

@ms 2—2+Z—2: 1 ererm FweTumr (HIL6ir gL,

b2 =a? (1 —e?) = 3 = 4(1— e?) = e=%

@UGUT gl aflenLsemer LIl lg LGOI 60ITLD :

) (x,y) @ Qurpiss:

(Xa Y)& G"—"TQ‘SSQ’ X = X+1,y =Y-1
EOLOLLILD (0,0) O+1,0-1)=(,-1)
& NWkIG 6T (+ae,0)

=(1,0) wpgud (—=1,0) | (2, -1) wpaud (0, —1)
PWsE X:i% x—1=+4
66D & 6T (o) X=+4 (&) x=3Swpmud x =-3

Lufpd 2.3

1) Aereumd eflurmhsEnseE Beral L SSH6r SnaTUTL amLs &6t s
(1) eawd (1, 2) Qus@eusmr 2x — 3y + 6 =0
LHNID LS CSTmNG &56] %
(i) @elwwn (0, 0) QusGeusmr 3x+4y-1=0
LHNID LS CSTmNG &&56] %
(i) @sfuid (1, -2) @ué@ssr 3x—2y+1 = 0 wimib e = %
2) Nereumd eflurhisEhsE Bearail L SSH 6T FWTUTL L &IT 68T &.
(1) ©awunissr (4,0), (—4,0) oo e = %
(i) @elwmssr (3,0), (=3,0)woHmid e = %
(i) emerast (0, +5) wHmid Gelwmssr (0, + 4).
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3) Nereugpd Fereul L SSler emiowild, (pemerr&er, mLWSESTMNSG
556, GBS, QFaeuGHold LHMID GG 66T S emeT s
& 1T 6307 &.
(i) 9x*+4y*=36
(i) 7x*+4y*-14x+40y+79=0
i) 9x*+ 16y* +36x—-32y-92=0

2.4 oy Fugeaiemerwitb

24.1 yyFgugeuamenrwigdesr H' L e eutd

Y D
b B
P(x,y)
X
z c z| A S N -
PR’
D
uLtb 2.10

S o @eflwid wHmyid DD’ & @uGGeusnr erers. SZ L DD’
sTenr suemrs. A, A’ eteirm Yerefl st pemmGuw SZ e 2 L ymorSeyid
Qeuafliymursealb e:1 srary allAsSSH0 UflssLHn. @hig ‘e’
muwsd QarTmnsd s560] YSW. N A, A" giHuraemeriud e
B8 o erereor. AA” 61 eoowliyererf] A dursen, CZeo x

giggrsan CZ-5@ QenEgs5s5s Carh y 9&FETSa|b
TS558 QaTers.
o . SA_  SA_
AA" =2a ererrs. A7= € A7 e
SA =e(AZ)  ----------- (1)
womth  SA” =e(A’Z)  ----------- (2)

() +(2) = SA+SA” =e(AZ+A’Z)
CS-CA+CS+CA'=e.AA’
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2CS =e.2a = CS =aqe
2)—(1) = SA"—SA =e(A’Z-A7)
AA” =e (CZ+CA’-CA +C2)

2a =e.2CZ . CZ :%

P(x, y) gy 67 g1 oHlurauemsTiug Sev 676 6 Lsiarf] 6760T 5.
PM L DD’ ummis PN L CA erar susnrs.

5—15[ =e gewg SP? =e? PM?
= (x —ae)*+ (y—-0)> =¢*[CN - CZ])?
= ¢? (x—%)2: (xe —a)?
= x> (?—1)—y? =a%*—-a?
x2(e*=1)—y? =a*(e*-1)
x’ y?
a’ a’(e*-1)
b’=a’(e*-1) Erstgﬁ.
2
e =
a b
@860 gduramstusder S augaorgn. Casr® AA” o
Gués&a (transverse axis) ereormid, wpmid AA” &@
Qemigssres C @ear auflurss o Casmh giememrws s
(conjugate axis) steT D 9OPSSHLILGHIS NS

=1

2 2
2.4.2 Z—z—i—z =1 ereorp sFugauemeTwiGensd alemyHed
(1)  euememeueny oy SlusTafl auflurs Geamaiweme. y = 0 refle
x=+a. .. eumereusnr, X 9Fmag (+ a, 0) steorm yeraflsefled
ghdlsHlarng. mLWSHOHHE s CsTmaaseafle  x
& Semerr, A npmid A’ Lereflgemed ausmerausmr Gau’ (HieHlermg).
staor@ou CA = CA” = a ummid AA” = 2a.
x=0eresflev, ysHUmETWTHME). 6T60TCoU QUEMATOLDT Y H|F6DTF
FhH&aTgl. y 91586 g B unmid B srerm yerefaener CB
=CB’ = b ster 105815 Qamers. sterGou BB = 2b.
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(i)

(iii)

(iv)

9

FLO6ITUITL 196D X, Y &6 @ITL6mLLilg S61fled 2 6ITATEMLOLITEY, X LoMHMILD
y Q|Fasmerl GIUIT IS G| 66M6TUEHITLLIT6T &) FLOFE (LU G

ST aMETILS SHl6iT FosTUTL ML y = + % Vx'—a® eretm
augefled sTpeormid . | x | > a ererfled, x* — a* > 0. eTenGou
Rubaurm x @ @@ sw gyearre adHflenwmer y
w&lyseT Sl &@GL. @&l x —>oo ereaflev, | y | —> oo,

| x| < aereflled, x> — a’< 0. ererGou y muemeTTHMG).
I|SATEO AIMETEIMT X = —a LHMID X = a eTern
CarhaEnsE @amiulld gmuuailime. amaTamT X = —a
steorm GaTlle M@ @ILULymLpLd, omid x = a sTerm CamilenE
QULIM(LPLD S{6MLOME SI6T6IT Sl

. . . a 2, 12 .
auemeTalenruilesr FweTUT ML, X =  + b VY b7 et

augafley eTpSemD. @HOBHG THSMFS &L OWuT@Lbler
666U GlLn— LEIILSEMATILLD Y 6TMS (LPlellLd 6T63T MILD 6611Gleur (1
y-60T LELILYMHESLD FLoomeot LHMILD 6T SHliflenLwuimesr @\ I SeT
X-5@ Sl sdlearmer earmid BT YNHCoTL. EHss
SM& SIS  aumaraumrwler eaguSms YNHusNG
Gur gomeTeneuIT@Ld. eTerGeou euemeTeusmTemt LIL LD 2.11 @6y
Sl igliLly auemTIL (g M.

y

X

uLth 2.11

GFaiausmeLD :
S @etr euflwrs, LSL” L AS ererr eusnrs.
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2 2 2
. ae Y

X = ae eTeuflev > — 57 =1
a b

2 4
swg =B (1) = b (b jzz—Q

a*
omg y=+ 2 o sL=sU =2
g y=+ = =4
,_2b° P . .
sTeorGey LL" = “a I Slureuemerius Sler Gl&sias LT EGL.

@&w uery: S HMID S HmeTs GeNubisTTES GaTemL
gFuremersHer P eyCaemid e yeefl ereeflen, SP ~ S'P = 2a.
@miE 2a o678 G nIG&E ST HeTi.

2.4.3 auemarauengufer OGgrenewd 6BTHCHT(H

R aumeTeuemTuller Qamomand CamrhiGarT®H arug,
QYUagd shaule @laaTns, ameTalmrmus &hgLuile
sh&&G QsTHEsTH I G L.

SpLIL

ax’* + bx + ¢ = 0 eTeiTy SFweTUTL Ip6lT @[ ELPEVEIS EHLD
L &Swid ererfled, b = ¢ = 0 gy GLb. @ epehIsEHL &5 s 6lwefle,
a=>b=0 g o.

2 2
2—2 - i—z =1 erarp DFuy aumerwGHer O GTewewd
OFYICIEIICELY
y=mx + c eteorm Carhn wnpmid ydHuraemeriid Geoil (b
2
yerrefl, ;—z - (mxb—-lz-c): 1 60 QarO&sLILGEDG.
(1 m* 2mc c’
(o8N x (az bz)_ p: YT p?
x2 (b? — a®m?*) — 2ma’cx — a*c®> — a*b*> = 0

y =mx + ¢ gyerg Ggrmunsg QsrhiGasr@h aeafld, @hs
gueaTurLiger @\ SialsEn6w &hslmEL.
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=

x-601 @& = 0 wHmid x* -1 Q&g = 0.

Q|

—2ma*c =0 wpyd b*—a*m*>=0. .. c=0,m=

[+

sTerGau, @ QaTmans (sTOCHTHIST 2 6TeT6mT.

I|DOUG6T, y = %x Lo mLD y:—gx

Y _

_ X _ )Y _ s X LY
(o-81) =+ opgid o+ =0
Qareamng QasrhiGarhseaflar Carliyg swesrum@
2 2
X _Yyx Yy : X _ Y
(a b)(a+b) 0 goeg PE b2 0

SPLL

@)

(if)

gflureuemetiiGHer Qememe CETHCHT(H&6T, MLOWLD
C(0,0) auflurs Qeodlearmer (UL 2.12) ererug
@eusfliiLsmL .

. . . b _b
Qarmens asrOCasrOsaflar &m—o|ssT PR 31,566,

Cermeng OCasTOCaTOssT  YHUTalemerw s e
GNSSHEFEL 60T FLoLTear (8T 6u0T LIS 6M 6T 2 650TLIT & () &5 63T M 60T .
BTG GNESE&HD, gGaoaTwsasd, OsTmas
QeTHEaETHsEHSE QmLOULL & GaTaThismer ©)maLns
an Ml &leormenr (LULb 2.12).

Y




) 2 o sterug GarmnsCsTHCaETO&EHsE @Il
Gamevorid eT6vfled tan O = %
Gsrmasasr®h CarhsEnseE @lemLu’ L Gaemri
— ach
=2 tan (a)
@1v) Qormans GCesTOGsTOsaflar GErly &werumLmer g
I FureuemsTILS SHletT FLoeTUTL lp 6l (HH & LT edl 2 mILmed
' HiGw CamuOH DG
sd(hagussr (B 14
@owwgG OCgrewwd sSaea V2 wppidb @b
gawnisends® @@L Cu oe6rer Ogremewey 16 aTerd

Garewr Heorer yFupaumarwgHear Fwearurl L&
& IT GOST .

S :
Carhssiul_(herarg e = \/5
S wpmid S” GeNwmiser eTera. eTeTGou S’S = 16.
gpermed S'S = 2ae . 2ae =16 = a =42
GLogyitd b =a**-1)
=@dV2y2-1)=32
2

2
SFlurelemeTISSletT FosiTUT (), Z—z - Z—z =
B s o
3 " 3 =1 = x y: =32

2.4.4 Ggeaieus sFugaiemerwitb (Rectangular Hyperbola)
e gFlureusmsTusHled Camamaunsg CaTHICHTHS6T 66iTemM
Qumerr ) QFRICHTaTSSH0 Coullps CSTeHTLTE, |G6merr GlF6r6Is
SiFluTeuemeTwiLd 6763 GUITLD.
Qzrmansg CaTOCETHSEmSE @l UL Garsmrd 20 6T6vfle
tanoc=%. sTaorGen o0 =45° = a=0b.
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Qasious gdureuemsTiugder gwsrur®@ x> — y* = a’
= Q@ UramTuSHe) GnSssHler Herp, &) emerils &ler
Berpd &b eTesflev 9|8 GEsunis YSluraimariuid 6TarLiUHILD.
b =aXe~1)= a’=a’ (2= 1) . e =2
2.4.5 OFeuauas yFugausmerwigHar L Fweatur(®
Q& g duramerisdler Ggmamusd GaTHCasTHasemer
X,y 9&E&&MTS 05 G608T6ms. GsmmaussTh Camb s eflsr
guerur®asst x =0 wpmn y = 0.
Ileunmlerr Garliyg swsrur®@ xy = 0.
SiFlurausmsTLS SHleir Foerum (b, CETames CETHGaT(Hseflsr
Fuearurlgedlmh g wrrled 2 miiure wl GG CaumubaisTe,
SFluTelemeTLSSletT FLoeoTLIT(H

xy =k (k q wrrdledl)  ------------- (D)
GNGHEE AA =24 6. X 9)586@G QenGHsTE AM alemrs.
ZACM =45° @k C smiowi. 1

_a_

sterGey CM = CA cos 45° = a
\ZF ACE )
MA =CA sin45° = ﬁ C \\

sTearGou A 9y 67 gl (L v
NN X

@ a1 Qasieus g SLITalemeTILS 6T
R Yserl.

=L 4 _ a LL1b2.13
V2 N2 T 2
2

OFsueuss gyflureuemeriugdler Fwerur@h xy = %

@INmhs xy = c’, @i ¢’ = S
@ 81661 Qasunis gSuraiemeriiger S L& earum (.
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aBpsssar (@B 15

MLOWI GO\ BTG 55561’\/3 Gafwnbd (1, 2), Quisgeaieny
2x +y =1 erargub QarewrL o Fuygaienerw g Fer
FLOGTLITL DL & &IT 60T &.
&ey:

@afwd (1, 2), Qus@esmr 2x +y=1, e= NG

P(x,, y,) steorugl gidlureusmsmiugler 5g e userfl sreuflo
SP? = ¢? PM?, @iti@ PM eretrug) 2x+ y = 16 @&5856s1(0.
2 =3 (2x, +5y1 -1)°
= S5 -2x,+1+y’—4y +4)=32x, +y - 1)
= Ix?+12xy, —2y*—2x + 14y, -22=0

(x,, y,) @6 Blwniurens
Ix>+ 12xy —2y* = 2x + 14y —-22= 0

= (-D+(y,-2

a(psadsaT (B 16

2x2 + 5xy + 2y* — 1lx — Ty — 4 = 0 erebrp LpeuememwIgGHesr
Qgrenewg GBTHCHETHSal 6 | FwaTUT(HHMTE:  &HT T 5.
Sy : 2

Garmensg QaThiCarhssiar Cariy gwsarur®, I &ur
auemeTl G SleoT FLoeTUT lg el (HH& wmmledl 2 miiiume WL HGL
GCoumubh&Hms.
sTerGou GaTemens QaThiGasTHseaflsor Camliy swerum(
2x+5xy+2y* = 1lx =Ty + k=0 (@b k e mpled) -------- (1)

GaTamang QarTOCaTOssT @rlemL CriGCaTHiEeT. @Il enL
CrrGarhsEnsamer s Oumb

abc + 2fgh —af* —bg> —ch>= 0 —comcoeeeeeo (2)
guerur® (1) @ev,

—) h=d p= _=7 __ _

a—2,h—2,b—2,f— 2,g— ,c=k

(2) @ ArHui, k = 5.
08



Gsremang QaThiCarOseaflsr Carliy gwerum@
2x* +5xy + 2y’ = 1lx=T7y+5=0

= (2x* +5xy+2y) - 1lx=Ty+5=0

= 2x+y)(x+2y)—-1lx-T7y+5=0

= 2x+y+D)(x+2y+m)=0

= [+2m=-11 (x-sor Q&p)
2+ m=-7 (y-sor Qap)

= [=-1,m=-5

. Qareme QarhiGasThssflsr Fwerumb&er

2x+y—-1=0uwmpgd x + 2y —5=0.
a(psasar(® 17

9x* — 16y* — 18x — 64y — 199 = 0 areirp mPupeuener
wgdHer enowih, ewowigG G Tewewe] FaHa), Galwmiser
wPYID G\ FIQIS®LD &IT 6T .
ey :

Q&rh&sUUL(D6T6T FL6TLITL 60L

9(x* = 2x) — 16 (y* + 4y) = 199 erewm sTpg6vmid.

= 9(x-12=16(y+2)> =199 + 9 — 64 = 144

- _OHDT -1y
. 9 16 . X?* Y?
X=x—1wngd Y =y + 2 ererfle, 16" o =1
9 25 5
b2=a2(62_1):> €2=E +1=E :>€=Z
@UGUT g eflenL&ememLl LIl Lp160lL_60mLD.
. (x,y)gg GITmibI
X,Y
( g CLnpiss x=X+1,y=Y-2
6DLOLLILD (0,0) 0+1,0-2)=(1,-2)
@lunisst |(+ae,0) (5+1, 0-2) mmuid (=5+1,0-2
= (5,0) wpmud (-5,0) |(6, —=2) wpmd (-4, —2)
. - |_ 26 _2x9_9 9
(AEDIDIERINEE P >
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apsssaT (B 18

x+4y-5=0,2x-3y+1=0aarp Garawewg
CaTHCHTHHmard OETasLgGib wpuoud (1, 2) aearp
yereal eauyf OGedaugiwrer ofuygaienerwsdder
FLOGTLITL DL &IT 60T &.
E1OTR

Caramang arhGasrhssfler Garliy gwsrum

(x+4y-5(2x-3y+1)=0

SFlureuemeTuG et Foerur(®), GeTmens GaTHCETH&ea( 6T
Garriiy &werumigedl(ph s Lmnledl 2 miiLmed L HGL CamuOS &
SFluTeuemeTILSSleT FLoeTLIT(H

(x+4y-5) 2x-3y+1)=k, ke wrmed

s gilureusmemiid (1, 2) ereorm yerefl sufliurs G&augmen
[1+42)-5]112(1)-32)+1]=k =k =-12

SflureuemeTugSler gwsrumr®h (x +4y—=5) 2x -3y +1)=-12
gl  2x* + Sxy — 12y’ —9x+ 19y +7=0.

a(psasaT_(®H 19

A wppnd B aarp @ DL misendks® Qe L’
Garemewa 100£.15. A-@e® @ GuTmalear @reoy
o puGHsF Ogewa; B-@d 9Cz3 OuImalear o PpuGHs
QFwmeualL . 12 gwmpeurs oererg. o2 PpUGHF
QF-wiiul’ L. Qurgpl sear CpisCGar (Bl uTem sufed
@I’ (B seflssiiuBRSTpaT TSTMID, HEILILJLD
Qe @B VSIS @b HCeor L BHHG 20 ewuiar
eTaTID OBTeiTH. THOBHS DL Msendsd A-@0 @HbDHI
@il eagsrgid, B-Qd Qobs  a@id
@UGSTRID Owrgs GsFwea Fwwrs @ipeEGHCr
aialL_masmards GPSGL Leralser enioujLb
UMATUMTNUIS  FIT GO 5.
Srey:

AB-@ler epwwiigsraflsow gy Sliyerafl O ster Gsifle) G—s.
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Caemauwmenr susnereusnrulle L &) G e e LisiTearfl P ereirss.
sTeorGeu A-@lev @ (mHEGCHT jevevgl B-@lev @miCam Gummenst P-&@
@Il smeus @D Crss CFmea FLwmrs @) mEL.

B-@ev, sprevlear allemev = C ereors
A-@eb, revdler aflemen = C — 12

A-ge Qw8 P-5©, erogs® Jaiuiu@id Gemay = %(AP)

y
P(x.y)

A 0 B
(-50,0) (0,0) (50,0)

ULt 2.14
B-@e @mha P-65@ @rogse gaiuiu®n Gswe) = % (BP)
A-gGeo Gohg Sl maussTaid, B-@d Qehal et
ORUSSTYID GLTsHsE GlFme, FLoLb.
(C-12) + 2% (AP) = C + 20 (BP)

100 100

%_BS—P =12 i.e. AP — BP = 60

Jx+50)2 +y2 — J(x=50)+y* = 60
Jx2+ 32 +100x+2500 — /x7+y>—100x+2500 = 60
= 6400x* — 3600y* = 5760000
16x* — 92 = 14400
2

2 2

X _y_ =1 .o X Yy _
900 1600 (30)? T (40) T

@eueur | KT Gl CIEMETEIEIT QIf ISILITeImATIIN g GLD.
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ad(psssaT (B 20

@f QuipByid ®.p afmewdd afpasiLBGAPSI. DiBer
gurenTy paETear GCzeneu x (HTpISafsd), X = # -6 LD
@ps Csmas afFewsds GPEGD Capmes aimeraiemy
wrg? 1ps afmew arafdd Cgmeauwmearg LpFFuwigang
@91 S 1b?

e :
Capemer aemeT6LEMIT
90
x+6= D+5 =x+6)(p+5) =90

= XP=90 @mng X=x+6, P=p+5
G emeu aumeTalmT (h ClFainis JSHLTRIMETILL ) GLD
x=0 =6(p+5)=90 = p=enl0.

uufpd 2.4

1) gdlureuemsmiug e FLoerum(h &I 6w s.

(a) @&l (2, 2), mwbwsesTmasd S5 %Lﬂfj)gjfn [EXIEAG Y00
3x -4y =1.
(b) @afwid (0, 0), mLWSCSTmNS S56] %Lng')gjfn XG0
X cos O+ y sin o = p.

2)  @alwmser (6, 4), (—4, 4) nmmid owws OsTemas S&6] 2 6Tefle
SISIITeemeTILS SHl6dT FLoedTUIT(h & T 660T 5.

3) oflursusmeriugSler snerum(h SiTenrs.
(a) sowowid (1, 0), e @eaiwd (6, 0) LHmIDd G nISsES6r Ferid 6.
(b) emwowid (3, 2), @ @elwid (5, 2) wnmid @ (pemer (4, 2).
(c) emwownd (6, 2), @ @afwid (4, 2) wpmitd e = 2.

4)  Gaer@ssiulL ySuraimerius ST s, muuSEsTamas S56l,
GNMWBISET LHNILD @IS E6LDT HEN6TE SIT6u0T 5.

(a) 9x*> — 16y* = 144 (b) (x "‘92)2 _ ()“;4)2 -1

(c) 12x* —=4y* = 24x + 32y - 127 =0
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5)

6)

7

@arhssiu’L gyduramsTius e QgTeamansd CeTOGsTH s 6flsr
FL060TLIT (D& 6M6IT & & IT6H0T &>

(@) 3x*—5xy—2y*+17x+y+14=0

®)8x*+ 10xy —3y*—2x+4y—2=0

4x + 3y =7 =0, x -2y =1 sraorp Corhsmer Qamames
GarhGasThsaTss Qamsr® whmid (2, 3) aearm yerefl aufl&
GFeaId gSLTaImETISSH 6T FLo6TUT(H &IT68 &.

3x—4y +7 =0,4x+ 3y + 1 = 0 sretrp Car@smer GQsmamas
QaTHGsTO\&mTSs G @), wnmid gy st aiflé Gesai
I|SlurelensTiLS et FLoaaTLT(H SIT6wT S .

Lufpd 2.5

gpysLw afmLmwg gfleay GF-

D

2)

3)

4)

5)

6)

LT eUsmeTILS SHl6iT mLILS CBTemns &&6]
@l ®O0 (©)2 (d)-1
1
R 1y Qeuliguiler emwwsd QTS S8 6] ﬁ 6T 631160
I|ELIEETET 6LEDIT
(a) Q@ UTeUemETILILD (b) @ Bemeul L LD
(c) @@ oL (d) @@ $ursaismariuid
y? = 4dax @er QFsueuseld
(a) 2a (b) 3a (c) 4a (d) a
y? = —4dax @6t @eflwid
(@) (a, 0) () (0, a) ©©0,-a)  (d)(=a,0)
x* = 4ay @er QIS G 66T
@x+a=0 b)x—a=0 (c)y+a=0 dy—-a=0
2 2
2—2 +Z—2 =1 eTeiTUG QR BT LSHmBSH GNSHGL (a > b) erefled
(@) b*=a’ (1 - ¢?) (b) b* = —a*(1-¢?)

2 1_ 2
© b =70 (@) b= i
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8)

9)

10)

11)

12)

13)

14)

15)

16)

PP +b_2: 1 (a> D) etetrm Hemoul L SH6iT GlFeiieiseld
24’ a’ 2b* b>
@3 mL (o2 @ &

y? = 16x @it @b
(@ (2,0 (b) (4,0) (©) (8,0 (d) (2, 4)
y? = —8x @6ir @I & 6uenr
(aA)x+2=0 (b)x-2=0 (c)y+2=0 (d)y-2=0
3x* + 8y = 0 @it Qasueuseg e Ferid
8 2 3
@ 3 b) 5 ©38 @ 3
x* + 16y = 0 er6drm LITEUEDATILLD ZieMLOWLD LIGEH
(a) x-9F55@ Gl (b) x-giF585©G S0
(©) y-g5&6@ @Liumn (d) y-giF&shE amiymi

2 2

ic—6 + ;—5 = 1—@6&T $|GU)I'J'@,I'_EI'_I_§6? LDg’)g]an |60 @ﬁ]mé:& Emrfuaasir
(psmmG
@ &5 0 (8.10)  (© (.4  (d)(10,8)
4x* + 9y* = 36 @er Gasuause Berid

* 8 4 8
@) 3 (b) 3 © g @

R Heraul L sdler e =% fTeTelld, QMrHGnnEHear Herm 2
eTeTe|d gemwdlmgl. HSer CmL L Fler Herid
(a) 4 (b)5 (c) 8 (d) 10

2
xTz_y? = 1 etetTy YFurausmeTiiS e LIS CESTMNS HSH6|
@3 ®T ©F D4
1B6i UL Gletr L5 &l G amitd e Lsitefludlerr @edls6smeneve s eiflsir
FHB60 THS BeTSHNEGE FLow
(2) ®hpés (b) greGHpss
(c) QpLL&& (d) yeor QELLESH
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18)

19)

20)

g flureuemerwwsHer g gCHan @ ystaflular @Gealls
Carameeaseaflsr asHurahd ssn@GE Fon?
(a) GN&ESHEFS (b) SOTEEGNSSES
(c) glmemTILES: (d) 9T S GlemewTTILE S
IFlureuemsTwGSHletr GETemensg QaThiGasThiasT Gamaid LsTerfl,
(a) @afwiisaflsy eeirm (b) yewersafisy eeirm
(c) gdlurauemerusHer eowwid (d) QsiusansSar @ Lpemsr
QFsious YySuraimearius e s QSTmas &&6)

1 L
(2)2 (b) 5 () ¥2 D 73
xy=c? eTeoTm Q&F6ueus Y HUTelmeTILS ST (DTS MISSEE [F6TLD
a eresfléy ¢* @etr &y

2 2

(@) @ b2 @Y @
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QI HUTLIPGHT LIUGIUNGHON - | 3

Qumrmeflued wHMID auellaalied urLhisefled aemaufL g s
Lwestur (b @l PTG & Y GL. @hS Simmaafle nlmsufL i 6T
uwerurhisemeril uH Y leusnE (er BT @k Glumeafliedle
o 6Tem (PSS CQETHEMTLTSmT S6T UPSSLTeT & MuTL Lgsor
eypsud 9L S &GaurL.

3.1 Gurgpafwed wPmID euenisafutcdsersd
o 6lTam FTTL|SHET
3.1.1 Ggemeud iy (Demand function)

@ Gummeflsor Coemer (VG aTe) g 6TETSH. I|S6IT
ollemevenit p eTeTs. GCoHemeud amrumerg g = f(p) eTew
UTUNSSILGSDG. CUTGTS p-Wb g-ajb LHens 676 &S6rT.
LHMID @leneussT 66T 1)1&6lsmar n) 6T ST ONHSSSH60 @)1 GL.

Caemeud ey g = f(p)-6T eUDTUL 5055 S66ullses.

y A
q=fp)
5
% CoHemel aem6T eI
€9
x ¢} ofemen T x
yvy uLth 3.1

UL &&Hedl (b &l mrd Gumeuer (UL 3.1) :
1) p -y g-eyb s mamsHTS @ HUUSTH IEMTLL S 60
Caemeus iy, (PSe &mev LiGSile o HIb @\ Lb Glub mieTerT g.
(i) GCoemeus sTifer sT—6] (W G6MM 668 9 GSLD.
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3.1.2 gyafiyd &miy (Supply function)

ghenglile m GOUICL @Qurmeflsar elsme p srers.
aflmsLu@I Gummefler gjsme x eresfley, gLGuTmeflsor gefliiyg iy
x=f(p) HEL. PuG p e wril

Qurgieurs x, p Cri elflg s @)(msELD.

efliyg gmiy  x = f(p)-60T eUDTUL H56055 &616wfl& 8.

A

Y x=fp)

Iefliiy euemeTeuemiy

aflme (INGSHE)

=V

X O' oyefliiy
¥ N LLth 3.2

UL &6 (b &l mrd Gumeuer (UL 3.2) :
(i) g, peteTueT LileNS; 6TEOOITHET I ST AIMTUL SSl60 g6l

GTTLTET &) (PS6L Smed LiGSufed L (Hid @)L Lb Gum misiTer G.
(1) oyefliy errdler &T—6y e Wens 6T 6vor.
3.1.3 Ggewaysd iy (Cost function)

Qurgiours Qursgs G&me @ e WflassTm@L.

(1) wrmd Geeey (i1) LTPTEF Q&Fme]. wLTMID C&FMe]
o musSuilstr e EILE STIUTES @ H&HEGSLD. 6T LTMHTE Gl&uean)
2 MUSSEMILF FTTTLOE @) ([ GSLD.

f(x) steoTuemS LM M G&Feveay, k eTaTUmS LTMTE ClF6v6) 6T60TS.
x ereorugl 2 MUSEHWsT 9ev@ eTeofley Corss GlFaaF smiUTeT gl
C(x) =f(x) + k eteur suemmumISSILGSMG. @QRIE X eTarug Lhens
6T 6G0T 630TIT (FL0.

f(x) stayid sriiinE wroled 2 mitiy HenLwmg TeTUg)
G585 g).
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wrn grrefl Qaae (Average Cost), grmafl wrmid G&eey
(Average Variable Cost), grrafl nurpr&baee] (Average Fixed

Cost), @mig flemend Gasve) (Marginal Cost) npmid @ midflemed
grrafl Ggeey (Marginal Average Cost) @lemeaugsensm auemyimiiGLITLD.

G] . . Q
() erref Qemey (AC) = L0 +k _ ZIPST woTM

2 M usd
) 0@
() erref LTy Qg (AVC) = % = w
2 UGS
F o
(i) e&rref wrprd Qe (AFC) = £ _ M
X 2 MussH

@) Eng flmasg eane (MC) = % Cx)=C'(x)

V) @ng fHoas srraf teme (MAC) = % (AC)

Spy

C(x) stetrug) s QUTmEmsT X  YVGSeT 2 NuSSH GlF—w
G QurssE Qe stefled, C'(x) sTeirug @mid Hameod Qgeaey
JLGWD. JSTRIG 2 NUSSWIET |6TR| X IEGSH6T @\([H& GG
Guogyid @ i@ 2 MuSH Gle-1 gy Gl GarrmuwTer G&nGal @mid
Hemeud GFeaum@n. @& uLid 3.3-60 efleTsalul (HsTerg).

T
YA e(x)
C(x+1) /‘/}
A B
A =C(x+1)—C() g @ }
B =C'(x) s
= @mid Hevevd &y
1 <€ (@) >
x = x  x+l X
y'y 2 HusH Hemev

uLtb 3.3
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3.1.4 eumeur-& &riy (Revenue function)

X Su@Gs6T em. p 6is ellnslubdearmer s, GLrss
au@meur— griumen g R(x) = px erenr susmmiumissiu@&ngl. @ms p,
X eTeoTLIGNT LOl6ME; 6T 6UOT S6iT.

Curss M@surru'_l_ px
ofl i) LeweT TRy X -P
(g@moug ermaifl ameumwLd, afleevlL|ld FLOLOTS 2 6T6T6oT. )

@mnig Beme eumeur— (MR) = % (R) =R’(x)

grrefl eumeur— (AR) =

epy

2 NusSH Ge-wiul®, elpsiulL x 96 E s el mh sl
S &G Qurss aumeur— R(x) eTers. aflh@Gh 9jeTe) X 9|60@E &6
@mseueuryws Guad efFf g 2nNusd Oe-wiul @
almsliulLsTe HoLsEG0n CaHTTTWLTET aI(fHaTTeT g, @ nidH
Bemev eu@eur— R’(x) gp@h. @& uih 3.4-60 eflersaiul HsTer .

YA R(x)
R(x+1)
£ |R®
c
=)
c
) < o : i >
x = x  x+l -
vy eflmuemenr Flemev

UL 3.4
A=R(x+1)-R(x)
B =R’ (x) = @mi Hevev sugmeumr—

3.1.5 @eorug ariy (Profit function)

CQurss aumeaur—, QLTss Cgne| @mauseaflar aflgdumsn
@erug grrur@L. geraigl, @erug griy P(x) = R(x) — C(x)
2HSD.
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3.1.6 Qpapsd (Elasticity)
x-00 QuUTmIs g, y=f(x) ereirm amiller Cm&ADEE
4y

E y X dy ..
% = A}—tﬂ) Ax = ; I oTeer QUM MISSLILIMKS M Gl

X

T]:

x o Qurmis s y-sor QrEpsSmer g, Ax—0 saynburws)
y-60T @UU Lmrmid efsl x-@ler eUu LTy f&5HME 2 6Ter
all&lg ST eTevemaG g GL. (M @ Lilens 6Tt ).

3.1.7 Caemeu GpAPpFd (Elasticity of demand)

q =f(p) sterug Coemeud gy 6Ters. g eTeTLG G Hemeu, p
sTeoTLI G| eflemev 6T aufleb, Caemeu GIm L& &
L2

d. . .
” % LG (ULLb 3.5).

n,=

I g=fp)

CoHeme a6m6T eI

g
i

A’

x! 0 P p+Ap
yY aflemen

uLtb 3.5

Agq
49 _ p dq

. _ Lt
Coemeal QREp&E = Aps0 AP TG W
p
Caemeu ausmeTeusmTUl6IT SFT—6 (G6mMm 6T6vor LYMHMILD GBS 6
s gy mmewme Cameauilsr GpSLpéSume g
p dq

M=y G W
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3.1.8. e’y GpRPpss (Elasticity of supply)

x =f(p) ererrug oefllyé smiy eTeTs. @miE X eTarLg Caeme,
p steorugy eflemeowim@Llo. gefliy GQp&lp&umer g

n,= P ng 6T6uT eUEMTIIMISSILOS M.

3.1.9 swer Penew afewev (Equilibrium price)

Coemeuilear gjemeyd, gjefllifer geTalbd &FwWTS @)L EGLW
Hemevufled 2_erem aflsmevemiuig &Loetr Hlemev 676 M) S MISCMITLD.
3.1.10 swer Pewew eray (Equilibrium quantity)

guer Hlemev elflemsuenl, CHemen iy gjvevgl yeafliy ermiie
Wir S el LiLg) FLoeir [Hlemev g6 @ L.
3.1.11 @oud Pwew eapaur-sGib Cgeneasuder
CpFPpsPaEgd oerer G TL L

allme p 96 QH&EGLEUTWE ¢ INGS&T CHmell
u@&lermer sters. o p = flg) (f- Querg umsUL 55685858
@58 Gaustar (HiLd)
augaumurerg R(q) =qgp =qf(q) [p=Aq)]

q & Qurmss R(g)-ma eumswil e lug @md Hlme
(UL &L

, , dp ap
R'(¢)=qf (q9) +f(q) =q, *Pp [ =]
q dq
, q dp l+—L_
R'(¢)=p(1++—--) = +
(q@) =p( +pdq) p 5%
—1
=r |1 a
L q dp
d
@@@@mm@mn—:R%m:p{l—ﬂ [(n,=-2%
Ny g dp
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ICEEIEE MG
@® Ppieuarid x Learser o pudGd GlF-ubGLITIpgI
Diger Grgss Ggewey sriy C(x) = ﬁ x3-4x*+20x + 5
etasfled (i) ggrafd GFeway (ii) ggraf worpnd GFeeay
(iii) Fpref 1orprd GFwey (iv) @mud Parevd GlFeay
(V) @mufpenevd Fprafl GFeey
STGTLIGT DaPeNDF: 5T G6T 3.

E10TR
C(x) = %x3-4x2+20x+5
Qs a& Gae
1) arrafl Qg = M
2 Huss
P W S
= ( TR 4dx + 20 + P )
he!
(@) grmrerf wrmi CFae] = w
2 M USE
-1 2
=10 " 4x + 20
A . Q Lo & Gl&ee| 5
(1) srrefl wTETE GFea] = —9—!fl e =
iv) End fmas saey = diC(x)
X

= di(%x3—4x2+20x+5)
X

3 2
(10 x*—8x + 20)

v) @nd R srrefls Qgaeay = %(AC)

_d 1 o 3
_dx(l() X 4x+20+x)

1 . 4.5
(5x4x2)
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dBS53155TL(H 2

X G aser o pusgdssrtar Owrdgs OCIFewey
C =0.00005x3 - 0.06x2 + 10x + 20000 eresfed, 1000 Dje0FHS6ir
o pugPasasrear @mbPeewd GFwemeud HresTs.

ey :
C = 0.00005x* — 0.06x% + 10x + 20000

Qmis Homas Qe = (0.00005) (3x2) — (0.06) 2x + 10

=0.00015 x> - 0.12x + 10
x =1000 syeu@ssr 6Teuflsy,
Z—C =(0.00015)(1000)* — (0.12)(1000) + 10
X
=150-120+10=40
= 1000 gpu@ssT 2 MUSHSG @M Hemedg Gaeea] em. 40.
ad(sa155TL(H 3
x =100 — p — p? eretrp &rifer p = 5-0 Ggemai
O pApFPerwids Hmests.

2
&y : @‘p+2p .
x=100-p —p? PP
dx _
dp——1—2p.
o _ _Pax
Copmeu QpdHpsdl n, = x dp
__pG1-2p)
~100-p-p*
- : _ _5+50 _ _11
p=seafld, M, = {5-5-25 = T 1a

ad(sa1HaTL(H 4
x = 2p*+8p+10 eréirp yaPliys srifer yeafiiy
O pRpaFPenwids 6w,
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ey :

x  =2p48p+10 = j—; = 4p+8
2 2
4p2+8 2p%+4
oy Qeadgeda m = L 4L o PP P TEP
s x dp 2p°48p+0  pP+4p+5

dBs3155TL(H S

y = 4x-8 erarp Frifar GpHpiPerwids e s.
Cu@ibd x = 6 s BEGLOLTIPS BT WFIMLIG
& T GUST 3.«

E10TR

y =4x-8 = jix —4
OpAgsd m = - %%’zé'ﬂ: s =35
x=6¢eflo N = % = %

adsa15sTL(H 6
1-2x . . . .
Y= 243x eTafled, By Gx—er  wFienL

Srey:

1-2x
Y = 243x
x 89 Qur mis &1 euemasuil
(2+3x)(-2)-(1-2x)(3)
- (2+3x) -
x dy x(2+3x)
L

Tl =
x=0 ereofly, M=0 ; x=2 ereflev, M=
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ada(sassT B 7

xp" =k, etarp QGaeweud &Frifed n wpoup k
wrpPedser eaeafled, afmeoular Caames O pHPIFfeuwids
& IT GUST 5.«

ey :
xp" =k (Qasr@ssiu@srerg) = x =kp™
@__ —n—1
dp = nk p
P __E ﬂ — p _ -n—1
Coemeu GRHNEHN 1, = x dp = hp (=nk p™7)
=n, eI LTMed

NICETLEI/NC IR

xy? = ¢ (c, ibrpPed) eT@ub euememraiemyuisd GCgemal
OpFPpsd ereveor yeralseal@Ib 2 6TGTPD 6T 6oT eI TS
@pasGD eTar Ppiays. @mig y eTerLZ afemevenuid
SPSAPS.

E1OTR
xy? = ¢ erer QETOSSLILL BT G
P dx _ 2
y2 dy y3
.. _ Yydx _ -y [ =2c|_
Comeu QRHDEFH M, = xdy - < (_y3 ]—2

d(sa15sTL(H 9
om wpppifewwrearfar Gsemeud &riny x = 100—4p
D CN
i) Owrgs eaumeur-, &FyrsFP eaImHeauT- LOPYILD
OmiFPemew aumeur- pIAweTOIPHDPS BT,
(i) x-er erLHIIPE QoFPme® ameaur-
wFPwsHpe FwwrGd?
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100—x
4

x=1004p = p =

Qurss eumeur— R = px
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dx (x—4)? T (x-4y

(0, 3)-@6v suemeTeusmITUf6IT FT—6] = % (0, 3)-@ev %

CaTHGETH X -|F5Hi&HE) ©)METIILTS 2 676 Gl
" ﬂ=0 = xX2-8x+12=0
dx
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= x-2)(x-6)=0 .. x=2,6
x=2 eoeafls y=4 Gugd x=6 eefld y=12

s (2, 4), (6, 12) steqid ysreflseafledmba euemmwiul L
CasTOCsTHISET X-9&5656E GlMmmTUTS @) ELD.

dpSBsaTL (B 22

y=Ix?+3x + m eretrp auewereausnywmargi (0, 1) ereirp
yeiral euyPfuirs GFodipg Cuaud x = 0.75-@Qed o Ber
CBTHCHTLTNTSH X-DFHdHSH DMNTWITS o 6iTaTGHl 6T6vle0
I, m @ar wPlismerd ST,
ey :

y=1x*+3x+m eer QarG&siu BT g

x-00 QU IS8 euemsuiL

dy
e 2lx + 3.
L ody
x = 0.75-@e el 21(0.75) +3
=1.51+3.
x =0.75 @ QarHiGaT(H x- 95855 QenemTILTS 2 66T ).
.dy
. x=0.75 @6 e =0
_ __3 __
= 15/+3 =0 = I= 15 = 2.

susmarsusmyimen gl (0, 1)-6r aufliurs G&aaasme, SenLLiLg)
1=102+30)+m =m=1.
[==-2, m=1.

dpsBdsaT (B 23
x+4

GFweayd &FmiL y = 2x(x+3) + 3 & @Quuf Paevs
Qsweurarg, o pugd x @l urepgi,
QarLidgPfwrs GopApgs aear Fpies.
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y= 2x(§—igj + 3 ereor QaETOSSIUL(H6T6T G

@ndiflmad Qane = %
. x-9 QurmS gl (1)-9 euemsuil
dy (x+3)(4x+8)—(2x2+8x)(1) 40

dx (x+3)?
_ 2(x2+6x+12) _ 2 (x2+6x+9+3)
T T (x3)?

[ G43+3) 3
‘2( (x+3)? J_2(1+(x+3)2]

%g‘;’lsﬁ]@ﬁ,g 2 MusH x 9 FHsf&EEueurws @nHllmas tsmnea
d_z 31,60 Gl GOMS MG 67T | fliieorid.

ada(pssdsaT (B 24

QFeways griyy C =100 + x + 2x? -&@, @RIG X eTeTLG
o pugdemwids HPGBTO, AC darar susmearauanguler Fr-af
= %(MC-AC) aer Poieys. (MC @mifPevews smity, AC
FgrFngF GFeay)
ey :

Qaeeys smiy  C 100 + x + 2x?

grrafl Qeaay (AC) = 100 +x+2x" _ 100 4 4 oy
x x

AC-ér sm-8y = di (AC)
X

= d (100 14100 H ()
dx = x X
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@ mdHlmag Qane MC

d

Ir ©

= 4 (1004x42x2) = 1 + 4x
dx

MC — AC = (1+4x) — (100+1+2x) _100 4 5y
X

100,

X

%(MC—AC) —( 100 491) = -

(1) wpmid (2) safedl w58
AC-¢7 81-6; = L (MC-AC)
X

a@®sssaTL B 25
2 2
x—2+y—2= 1 ararp perau’ L gHpe yeral (acosO,

bsinet)l @ GCsr@®@Car@®, OCmCGar@® @eupper

FOGTUT(HHMET S  &T T 5.

ey :
% Z—z = 1 Qar@®s&sUul(HsTer gi.
x-00 QU IS8 euemsuiL cjx
ux g4 2
1 b
@+ 2y =0 = d—y - Lx
ay

_ . Ay __ bcos® _
(a cosB, b sinB) @ev dx~  asin®

CasTOGCasL g6t &Losarum (),
y=y=mx—x)
= y—bsinf= _bcos® (x a cos0)
asin 0

=  aysin®—ab sin’0 = —bx cosO + ab cos’0
= bxcosO + ay sinb = ab (sin’0 + cos?0) = ab
@@unuid ‘ab’ g6 AIEGES SlaLlugl,

X cosO + 2 sinf =1
a b
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QaTECsT 16T swsTUT( - coSO + % sin@=1
a
CEmGasrLig6sr FLoeTum(
Y=y =—%(x—x1)

asin©
bcosO

= by cos0 - b?sind cosb = ax sin — a® sinB cosO

=  y-bsind = (x—acosB)

= axsin® + by cosO =sinb cosO (a> — b?)
@@umd sinb cosO (sind cosO # 0) g6 aIEG &S HemLLug),

by

ax — 2_b2

cosO sinB a b

ax__ By _ o2
cos® sin6 a

CEmGasrLigsr gwsrum(

d(psBsaTL_(H 26

Gaemeud ariy y =10-3x2 &g (1,7) @ed Qsr®HCHT®,
CFmGasTL 19 651 FTUT(HHMETH: BT T .
ey :

Camar aumsmauenr y = 10 — 3x?

x-69 QuIr M55 euemasuilL

dy . LAy
dx =—6x yereafl (1, 7) @ev dx =—6=m.

OaTOGCSTL g 60T FLOGITLITL IT6IT G
y=y,=mx-x) = y-7=-6x-1)
= 6x+y-13=0.
OFRIGCSHTL Ig 65T FLOEITLITLIT6TT G|

Y=y = —(-x) = y-T=-2 -1

y—17 é—(x—l) = 6y-42=x—1
= x—-06y+41=0.
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asaidhaT B 27
y = (x=1) (x-2) etatrp euememartenguesr eroijeiranlued
oL@ CsTHCHT(H x-FHLar 135° Curent sens
THUBHSID?
E1OTR
y = (x=1) (x=2) QarH&sUu’(HsTer gi.
x-69 QuIr 15 g euemasuilL

d
o =D (D) + (2 (D)
X
=2x-3 - @))
QarhiGarLTearg) x-y&aLsr 135°mw sHu®SSEHmG.

m= % =tan® tan 135° =tan (180° - 45°)
x
=tan 135° = -1 =—tan 45° =-1

(1) wpmid (2) & sLILHSS SevLLILg)
2x-3=-1 geeg 2x=2 = x=1
x = 1eefleo, y=(1-1) (1-2) = 0. .. yerafl (1, 0) gy @Ld.

uufpd 3.3
D y= é— (x* + 10x — 15) eretrm suemereuemruilssr Qg mHCaHML 1p 60r

gr—emeu (0, 5) eretrm ysraflulled smemrs. susmerauenruied 67HS
yeraflued QarGCar®h aumrhsme, 95s QsTh Gy sr
Fr—e| g— 3,86 QW& ?

2) y=ax’—6x +b ey suemereusorwmerg (0, 2) eretrm Lsimer
aufliurs Qesvdng. Coain x = 1.5 @ g er QarhiGasrLmerg)
X-9|F6&HE Qemeamriurs o 6TerTg eTefle, a wHmd b-er
LEIILSEDETE SIT6v0T .

3) Ggeeys smiy y = 3x(%) + 5-85© 2mus5dH x gflsf&ELn

Qurps gsar @mdhmas Gsmea Geriisdurs afpsd
oL Ema) ster Flmie|s .
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4)

5)

6)

7

8)

9)

10)

11)

12)

SSTEID QIEMETOIMT & (EHE S STOCHETH LHMID CFmGasTL Ip 6T
FL6ITUT (D& 6M6ITS: & IT600T .

(1) y* = 4x @ ysrefl (1,2) @6 (i) y=sin 2x &@ x = % (X))
(i) 2 + 1 = 13 & Leirafl (-3, -2) @b

(iv) xy =9 &@ x =4 @e (v) y=x?logx &@ x=e @6
(vi)x=acosB,y=bsin0 &g 0= @e

y=xX>+x+28&g x=06eau ymalufles QarGEsT®H wHmid
QFRCaT®H @eaunmleT FLo6TUT(H&EmeTS &6t .

Caemeud amiy y =36—x2&@ y= 11 srad yseflufler QamHCaTH
LHMID QFRICHTL 16T FL6TUT(HSEMETS &I 6TT 5.

3y =x* ermd euemereueorulleir g 618 Lerafsafley QarGEsT®H
UDTESTR |G X-gFaLer 45° Camamsama TnubSSIn?

y = b fTTM  euemeTeUemT V-9 Fm&  Geul (I

ysreflui & & ;C— + % =1 erad GarlienL GQarO&ma e

Bmies.

xla
y(x-2)(x-3)—x+7=0 ﬂ@]%ﬁummﬁuml‘[é&@, x-9|&ema Gleul (hid
yeraflll 8 Car@Car@h, QemGarliger &werum (s emers
& T 6107 5.

y =x2=3x + 1 npgid x(y+3) = 4 eramid euememeusnyser (2, —1)
srerm Yetaflulled Qem@ssrs Geullps Qamerdlermesr 6rerm
Hies.

2 2
Z—Z—Z)—z = 1 eteirm 9 uTumETWSH NG QBTHICHTH LHMID
QemGarliger guarur@aemer (a sec, b tanO) erearm yereflufied

SITEUOTS .
X2+ yr-2x -4y +1 =0 emd ol LSHnG stiysTafluden
QasrThGarh Yymuisred & (1) x»-9&ase (i) y-9&§5685E
@ememTILTS @)([H6EL0?
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Lufpd 3.4

gpyeLw afeLawdg Gafey 6F-5

D

2)

3)

4)

5)

6)

7

C =2x3 = 3x% + 4x + 8 ergmud anifedr grref wrpré G&eeuer g
()2 (b) (c) =3 (@
X X X

@ Hoeerd @ Gurmaflsar geralles 60 wnmid 40 gevEssT
swri Glg-w gy @ G&aa| pammGu em. 1400 whmid er. 1200 erafley,
ReUGIT (T IGS G LTNID CFaeTeT g

(a)em. 100 (b) em. 2600 (c) em. 10 (d)em. 5

@ Gurmeflar garailld 20 gu@EseT 2 MUSSH G- gy G
Qeeay em. 2500 whmid 50 WG sT 2 HUSH G- 9 G e,
em. 3400 erexflleb 96T QFeveyd FmiLimen g

(a) y =30x +1900 (b) y =20x + 5900

(c) y =50x + 3400 (d) y =10x + 900

wryid Qee @f 9nEGsE en. 40, nrpré Geaay er. 900 LHHILD
R G alhusner ellene em. 70 sTaafled @eoTud FmiUTe g

(a) P =30x -900 (b) P=15x-70

(c) P=40x-900 §511))_((&) P =70x + 3600

Q&ey& smiy ¢ = % e @er @t Nemes Qemaumer s

@ 15 B) T (0 5e (@) e

Copemeud gmiy p=—x+ 10; 0<x <10 @i p earug e
Il ellnusner ellsme. ghG Gummeflsr CaemauliLbILD @ s eflsr
6T6uoT 6T0{1&6m8 X 6T60TSH. X = 3 g|eu@se eTerflev, gy er @mid Flemev
61 (T UIT LI 60T &

(a) em. 5 (b)em. 10 (c) em. 4 (d) em. 30
@ Qur@sflar Caemeug ariyg=-3p+15 ; O0<p <5 @mE
p eTerug e 9 eflpusmer aflemaemuds GmMlsSmg erefle,
Caemeu QESILp& e g
9p’ +15 9p—45
p (b) p
p p

(a) (c) (d)
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8)

9)

10)

11)

12)

13)

14)

y =3x + 2 erettm &TTUSES Xx- gpewg 1.5 mhpg 1.66@
I|Haf&Gueurg y-er ermaf wry ef slomer g
(a) 1 (b) 0.5 (c) 0.6 (d) 3.

y = 2x> + 3x erarp gnifled x = 4 ererfley, y-60r 2 L 6wl LM M)
af Lo eor G
(a) 16 (b) 19 () 30 () 4.

x-o Qurmss y-@er wry efgm 6 gYGW. Xx-I 6T
4 g@aser / aflermg sTeTm 5SS T MIEMS) sTerfled ¥ 9y 6T G
1 efleormig & Lmmid o HLomeor g

(a) 24 (b) 10 (c) 2 (d) 22

FgleoL surfllE@L @@ Hnaarsder aurrrhET Gemuld
(emur—&afleo) P g erg, sl eurrgdle surflé@n x
glenLagmer Qurmissa. P = 2000x — 0.03x2 - 1000 ererm
IjiglinenLuiled @eorumer gl SersHLLIUGEDG. 2 MusSHuller
SeTe] x guerg R urrsHng 1000 slomLsar eeafle,
@TuS S THUL SHan lpll LTHNSSH 6T LTMID e HLomer g|.

(a) em.140 (b) em. 2000

(c) em.1500 (d) em. 1940

QFsusus agel FFF0 @GeTHSer jpLmasLoment gl 250 x 405 gjemey
Qaram®etergl. SeentTrerg SO0/ AL serm 6f55HH6

G gHe earmiLGENG el GoTSHD THS YTUEG
g evoremf IfleoT 0L (b 2 wimSms?

(a) 0.515/Hbl_1b (b) 0.28/EWblLLb

(c) 0.058/BWbltd (d) 0.1.8/Hubltd

y = X3 eT60T) euemeTuEnT &S (2, 8) 6Tanud Lieiralufley QB HICamig 6o
&T—6UIT 6T Gl

(a) 3 (b)12 (c) 6 (d) 8

Nx 44y =5 sTeoTm uEmETEUEDT S (9, 4) -@lev QlemGamLigsir
-6y

@3 O3 ©3F @ @-3
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15)

16)

17)

18)

19)

20)

y=1+ax-x* ererp susmemsusoruliled (1, —2) ereorm ysierfluflsd
umrHEe QesTOCHETLTaTg X-9F5a6@E @emewr eefled ‘a’-er
L&\ eT g

(a) =2 (b) 2 (©1 (d)-1

Yy = cos t Gugd x = sin 7 @D auMETOIDTSE | = % W& g

CaTHICHTL 1960T &T—61IT 60T &)
(a) 1 ®0 @ F  (@-l

y2 = x eretrn euemensuemruilar QeTHCHETH X-&F&L 6T %

CaTamTSHme 2 (HeUTs@LD LeTefliimenr g
L 1 L 1 L 1 -
y = 2x2- x +1 ereorm eusmereuemrd@ (1, 2) eretrm ysaflufed
aueTiLL L QarhiGasr®), ahs CarlipmeE Blememiurs @)m&@EL0n?
(@) y=3x (b) y=2x+4
©2x+y+7=0 dy=5x-7
y =x2—logx eTedrm suememeuemTH@ X = 2 60 QSTHCSHTL 19 60T FT—6)
A 2 T _2
(@) 1 (b) 2 ©-1  @-2
X = y? —6y 6T60TM QUEMETELEDT Y -I|F0F SLEGL @SS 9|S60r
&T—6UIT 6T G|

@5 (b) =5 © + (d) - 1¢
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QIO HUT PG LIUGIUNGHON - 11 4

@erusms Gum geTalle giFlsfiug (Profit maximisation)
&16@ Hme s ur@® (Inventory control) mmmid 1@ gy
Gammaze gjere] (Economic order quantity) gy Swereumpleneer Glimio
LHmILd Ani &S Gimellsr 9jigliLentuiled &mevor GUITLD.

UG SHaumsilLsmelld, 9|5meaTs SamsHEHHID (enmuilensTiLD
srerGumrd. @ NUSHE &y, QFTiflvrart LHMID eLPES 6T S 6T
@nd flemeo 2 nusdsst Cuan Comeauiar LGd ERSHpsH
I SlweTainemm LGS amsuile epsuin 9|MiGaurid.

4.1 Qo wPpmnd Ppuotp (Maximum and Minimum)
4.1.1 so(Hhib OPPYID GHOPUJLD FTTL|SH6T

@ Geuefl a <x < b @ x er LY Y& &G0 GuTWs)
y = flx) sreorm srifler wdiy g Hefssre sriy f(x) gy 6rs)
[a, b] @b @ &n (b &y sTeoTLIL(HILD

(9-8) a <x,<x,<b = flx)<flx) erefled

f(x) Qa8 @ S (Bld STTUT L.

@ Geefl a < x < b -@e  x-6r LHIY Y HafEEGL0
Qurpsl y = f(x) eTeorm srifler wdHiy Gemmujorerms emiy f(x)
et gl [a, b] —@6 @@ Gmmuwid smiy eTerluL.

(218) a<x, <x,<b = flx)>flx) safed f(x) opems
R GEMMWLD ST GLD.

4.1.2 sumasblsupaiesr @p

[a,b] eretrm epiew @lemLGleuaflulled f oy 60r 8 @ S (Blld &L
616075, [a, D] —@ed 6Tbg @@ C-CwsTssT X, X, HEHSSD X, < X,
el flx,) < (x,) oy

(oi-81) fix) <flx) . x,—x, >0
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f ()= f(x) >

>0
Xy =X
eTear G w >0, (sTevemev 2_6vor(h) 6T6ufl6v)
2 1

= f(x) >0 [a,b]-@6> 2 6TeT 9|e060TS G X-8 (6 SLD.

@GsCure, f gy arsl [a,b]-6 @mmuwrearme f(x) <0 g &
Qmeen (umsu®ss wuwrerma). [ oarg [a, b]-e
OSTLTFFemL LG 6T60T M6V [G)G6T L0N)ISHEMEVLLILD 2_680T GMLOLLIT (GHLD.
SPLIL

[a,b] —eb ey f QarLisdlurs @mbs (a,b) -6 sauamuih

&IT600T & & & ST Wil6dr,

1) Sz @eoLGeaefl (a, b) -6 2 Ter QeICaT X-&@LD
f'(x) >0 o8 @mhsrd, sriy [ operg [a,b] -@e
S60Tlg LILM& & & (PILD FTITLIMTGLD.

i) [a, b]-@eb 2 6Ter YEvETSHG x-5G f(x) <0 & QwHSTE
gy f gl [a,D]-@e seome LTSS &ML STTUTEGLD.

(i) [a, b] -@eb o 6Ter QT X-5GD [ (x) =0 98 @\BHESTH
[a.b] -@ev s f, @ wrBlsfliop@Lo-

(iv) [a, b] -@ o srer REQaTE X- H@wh f(x) >0 25 @HSGSL
Qursl sty f, [a,b] —@6 & (Hib sTruT@LD.

(v) [a, b] @6 2 sirem speuQeur(p x-&@&W f(x) <0 95 QHSESL
Qurwsl iy f, [a,b] —@)6d GemmILD STTUTSLD.

Q@ &MY S (D FTIUT VG GOMULD STIUM 66 il
GmGlsTeTL (LPlgasemarLl LIL6TL(H SS6TLD.

4.1.3 Frilfer GCzdhas Pevev oFy
[a ,b] ereorm @emL Qeuafluiied 7CHamID e UsTefl x-@lev
y = f(x) eteorm &niy, SO0 FTiursGeaur 9o g & emmud
grrursGeur @lseuroe @mesar. 9hg Hemeulled y = f(x) —emw
I ysrafl x-@le Ca&s Hamesmwll QupSng sTarern. 65658
Remeuligerefluiies  f(x) = 0 surseyd wHMId CESTHCHTLTETG X
|EFFEHE Q)METILTHELD @) (55 GLD.
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apdasaT (B 1
y = x- Tafled, X e@r ereo@T Gun- 6T eusr

wFlysepdsgd (x #0) y - gpard @@ Sewry LILITHS
Fg(hb FTTLTGLD eTewr Pmia)s.

srey
y=x-— 1 Gar@sasiul(herer g
x
X 8 QuUT WIS G auemsUTIL

D _

p) 1 +L2 >0, x @ sreveom Glo— eTevor LIS EHSGL (x20)
x X

Y Q@ ST lILTg sw (b &TTUTs ojemudlng.
dpds1HSTL(H 2
y = 1+ eTaflled, X &1 ereoOT GID- 6T 6o

wAysepsGd (x #0)y - paTg @B Sy LliLTS
GWMPUJLD FTTUTGLD eTaT [Pmiays.
srey

==

y=1+ GamBlé s gy HeTer &)
1

dx
—=0-—75 <0, x @eir eTev6um GlLo— 6T6v0T LIS EHSGS LD (X #0)
X
S0Y R SaTlplILTS MM FTILTS gjemLdlnsg).
dsassT B 3
Tpeshs e Geualsalied 2x* — 9x* +12x + 4 erepud
FTiL STy liLUT®ds (b FTIUTHLD OPMILD

STl LILITSHS GPUjLD FTTIUTSQD GHHmEBGLD TaTdh
& T GUST 5.

ey :
y =2x* -9+ 12x + 4 oot
=6x>— 18x+ 12
=6(x*—-3x+2) =6(x—-2)(x—1)
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x<1 geveg x>2 sreafle %>O

x guergl (1,2) ereorm @enLGleuafls@ Geusfludlsy o sirer g.

Gugyd 1 <x <2 ereyid Gumps %< 0

s Qarhssiulster eriy [1, 2] @ Qeueflé @ QausfGu
SeTlpIUTSS & (I griursan, (1, 2) aearm @l Gleusfluiled
S6uTle LILMT& S GMMILD FTTUTSHE|LD 2_6T61 &)

ad(psz1ssT (B 4

f(x) =x*—3x>-9x + 5 erud FTTYHG G HeneoLl
yerelsemarujp Czss [Hewew wHLSeaneTujd 5HTesrs.

E1OTR
y=x*-3x2-9x+5 e
dy o o
i 3x*-6x-9
. .. . dy
Cass Hemeull Lerafluflsy, el 0

=3x-6x—9=0 = x¥*-2x-3 =0

S+ x=-3)=0

x=-1 wvpmgd x =3 sl Cass Hamal yeareflser
oL & &l6iT meuT.

x=-1 ereoflled, y=(—1)*-3(-1)>-9(-1)+5=10

x=3 erefled, y=(3)* —3(3)*-93)+5= -22

- Ga&s e wdiyser 10 wpmid —22

Ca&s Mmool yeraflast (—1, 10) wpmio (3, —22)
dpdaIssTL(H S

Qseways ariy C = 2000 + 1800x — 75x* + x* &
TGUTUpG BT Owrgs GFewe) s (BHEPSH WPDILD
TLGLUITIpSI GPAPF TSTLUSZMTS STaTH. Qb
B Ggewafesr (MC) garemwerwis upPuyp Cardss.
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ey :
C =2000 + 1800x — 75x> + x*

4C _ 1800 — 150x + 3%

dx
% =0 = 1800—150x+3x =0
= 3x>-150x + 1800=0
= x>-50x+600=0
= x-20)x-30)=0
= x=20 or x=30
0 20 30 -
- dc N . dC _
1 0<x<?20, e >0 (1) x = 10 erevfled dx_600>0
. dac N
@@ 20<x<30, dx<0 (i1) x =25 ereufled e 75<0
. dC L . dC _
@) x>30 ; T >0 (111)x—406'r6'0‘ﬂ61)dx—600>0

s 0<x <20 wpmid x> 30 stamd @leoL Geuaflsafled C & Hi&ms.
20 < x < 30 -sv C gempdlmg.
d
MC = e ©)
MC = 1800 — 150x + 3x?
d
e (MC) =-150 + 6x

%(MC):O = 6x =150 = x=25.

I ] »
I T >

0 25

. d L cd
()0 <x<25, 9-(MC)<0 | (i)x=10mafisd -7 (MC)=—90<0

) d o cd
(if) x> 25, 5-(MC) >0 (if) x = 30 sreolsh 7 (MC)=30 > 0
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. x<25 - MC gomndlng.
oo x> 25-gGev MC s (h&mgl.

4.1.4 GOuepo wFlnpp Ppuo wH b
[a,b] @ev gy f euemrwmSsLIULHeTergl. (a,b) - ¢ e

Ljeirerf] 67607 8.

(i) ¢ -@er gememwsd (c—0, ¢ + 0) —@ ¢ ol x —@6ir
ImerS gl LHILSERSGWL  f(c) > f(x) eTer @mBsTEL f(C)
fTETLIG X = ¢ @)e0 f @ler &MES GUHLL 9evevg GlL(HLLD
6T6oT S GMITLD.

(i) yerefl ¢ @eir YeTTEmLWSD (c—d, ¢ + 0) —@Qled ¢ HliT x-@)6dT
e gl LISERSGLD f(c) < flx) Tar @@mbsTd X = C
oTearm @S [ Qe Frihs Mo geg Fmo
6760 GUITLD.

(i) ey f gerg Uetafl ¢ -@e Smin wliemu geeg Gl
w&llisou gL s, f(c), @ mid iy (extremum value)
eTeorLILI(HILD.

4.1.5 @1 1b arips wPppId ipsaTTalwl (Saf'ss) GLImHLOLD
wppib wapserrtafws Fpuowd (Loal and Global Maxima
and Minimia)

y =f(x) eretrm &mifedr suemr UL Gmg (UL 4.1) SHeuesll&a.

y A

8 /

O

uLtb 4.1

y = f(x) @ ue Quepw wHmid Ay Yerafleer 2 6rerer.
yereflegest V., V,, ..V, @L g %= 0. 2 ewremwuiley QK&
gmiumerrgl, V,, V., V, V_ eregud @ Sl Gupo wrseyn Gogin
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V,, V. V.,V -@e Smuoorsain o arerg. V-Gl @nsen Gugmn
wgliurerg V,—@le @,s@&L Smio wdllieou efl GmnaTs 2 6Terg)
6TEITLINS SoleslSs. @hg GRS LHMID HMIOBISGET @I EHETT HS
QumLRISST 0 g FmImISST 6T6irm JmUPsSSILGILD. A, B-s@hs&s
@soLulley eusmeaTeImTEDW CHTSGMIST6, FTTuTETgl V. -@l6 Seflss
Gu@n geng Pusemreilu Qumugmsi Gumdng, V.-Gl
saflgs Smiob gag PuUsstraill Aninsmsll CunSEng.

SPLy

@ILErETTHs GumLn 96 @ILEhaTThe Mo rearLms
T Gu(nLon 9jebeu g Flmioid 6Tar m) oeoLp& S GmmLD.

4.1.6 Gimomigelr PMID FPIORISEHBEBTET  [BLIHIH6T Heir

GLipLoLd Ppioib
: 4 _ @ _
GCaemeuwimenr HlLbaSemenr pi 0 i 0
: dy _o. 4y ldv_, 4y
Gurr gjoment HlLifhg meor e 0; I <0 Ir s 0; I >0

4.1.7 gifey wppid Gafe (Concavity and Convexity)

y = f(x) steorm gmiller euemrULSeng (LLLD 4.2) seouerll&s.

y = f(x) eteirm eusmeteueny&H@ P-e0lmhg susmmwiiul L

CarhGasr emL PT srers.

aUEmETELEMTILTE &I (eVevg eusmeTeusmTuilear eflsv) PT ereorm
Qasr@tariynE CuGo @mheTe y= f(x) Cuatrrsd @LUlay

gl SNCETEE Galley gy @GLD.
yA y=fx)
P
0 UL 4.2 o
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auemeTeLemTILMTET & (e gl euemerausnruflear eilsb) PT ereorm
QasrhiGasriyn® Sprs @amisTe y = f(x) Cuatrrsd allsy

gl SPCHTESH GUfley gL Gn (UL 4.3).
y A

P y=/x)

\/

OfT Ll 4.3 x

4.1.8 pfey wppid Galaydssrer [BHLibsenerser
f(x) @mueon umstlLss56858 dars. g0smIn

@enL_Gausfludlev,

i)  f7(x) > 0 ererflev, suemareusmy y = flx) gyerg CuaGrréd
GLleum L.

i) f7(x) <O ererfled, suemersueny y = flx) gyemrg GCuaoGrréd
&leumGLo.

4.1.9 eueweray wrpprs Lyerafl (Point of Inflection)

y = f(x) sTeqid 6uememeuemiyull6r yA
L gl 6m QM yeir efludlev 3
aUem6eTelemTILT 6T & G GHT & &
&P eled @5 3 CuaGrrs s
&MNaursGar 9o g CaGrTsH
GeNeuidigig CuaCrrsd
G aaursGair LT MO 6T 60
uyereflemw 66w e e em iy udl 6ot
ouemeTe] LLTHMO  LsTefl  6Teor
IS EGmTLD.

uLib 4.4
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4.1.10 euewerey wrPpLiLeTalsepdssTeaT [BLIbD®6T H6ir
ausmaTaumT Y = f(x) YHaImLIL e UsTefl x = c-ufled

i) f7(c) =0 gevevg euemrumisas i afleoenev LoHmiD

(i) xgerg c ufibw Qums, f(x)-GM LTSNS (SSTaIS

7 (x) eerargn@uryg f7(c) # 0) safld x = ¢
auemaTe| LomHmLILsTafl o & L.

dpBs1HSTL(H 6
2x3 + 3x2 — 36x + 10 erabrp srifer Gumpo PIILD
oo Pl EsmeTd ST T S5.
srey
y =2x%+ 3x*2—-36x + 10 6T 60T &
X -o QU MI5 & auemsuiL,
D s bx—36 e (1)
dx
dy

=0 = 6x2+6x—-36=0
dx

= x*+x-6=0
= (x+3) x-2)=0
= x=-3,2

X -89 QuIr IS &) LOILIgWLD euemSWIIL,

d
x=-3 mﬂsﬁ,d—fz12(—3)+6:—30<o
X

I ey x = —3 6 Gugm wHlsmul QupSng.
Quep wdiy  y =2(=3)° + 3(-3)* - 36(-3) + 10 =91

2

d
x =2 sraiflé df —12(2) +6=30>0
X

SO 9IBG ey x = 2 —e fmiw wéHleull Gumidlng).
s Agio iy y=2(2)° +3(2)7 - 36(2) + 10 =-34

147



ada(sassT B 7
J(x) =3x°=25x% + 60x + 1 erarp &Friydke [-2, 1] erarp
@ _Geualufed salgs (wapserTafws) GLIBL PDILD
Poio wFISMT  HT6NT S,
ey :
flx) =3x>—25x3+60x + 1
f/(x) = 15x* = 75x* + 60
@Qumw wéHlmu womd A wHlomu gmLws Csemeawmsr
Blupgemeor
f(x0=0
= 15x* - 752+ 60 =0
=>x'-5x+4=0 = x*'-4x*-x*+4=0
S>E-1)x*-4)=0
x=+l, -2, (2¢ [-2, 1D
f7(x) = 60x* — 150x
f7(=2)=60(-2)*-150(-2) =-180<0
sox =-2-@e f(x) Quep wlsmul QupSnE.
f7(=1)=60(-1)-150(-1) =90>0
sox=—1-@e f(x) fmiwo wHlemuls GuUmS DS
f7(1)=60(1)>-150(1) =-90<0
o ox=1-ge flx) Qumw wéHliemul QuunEng.
x =-2 -,60 Guemo Y
f(=2) =3(-2)° = 25(-2)* + 60(-2) + 1 =-15
x =—1-60 Ao wHOY
f(=1)=3(-1)° = 25(-1)* + 60(-1) + 1 = -37
x = 1-60 Quep w&HyY
f1) =3(1)°=25(1)*+60(1)+1 =39
s eeflgs (puwserraw) GQuamn wdiy = 39.
wnnid 6168 (Puwsermailw) &y wHay = —37
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ada(sasaT_(H 8
y =-x>+3x? 49x — 27 et@ud euememeuenyufear GLigmLo
Fr-a) erarer? erliyeralufed @imdeLp?
ey :
y=-x>+3x* +9x — 27
x-00 QUT WIS S CUMSHE SIT6TT,
dy
dx
QarEGaTL st gT—6) —3x* +6x + 9 gy @GLW.
M = -3x* +6x + 9 eT607&

=-3x2 + 6x +9

x-69 QU WIS &) UMSES SITewT,

2
gr—e, Gugm wSllsmull Glum % = 0 Lmmid (;xl\z/l <0

=0= —-6x+6=0
= x=1

(1)-59 mgwid x-m0 GQur s s adhEs smer,

d’M

d® ~

x = 1-60 M-etr G iy

M=-3(1)>+6(1)+9 =12

x =1 erud@urggl; y =—(1)° +3(1)* +9(1)-27 =-16
. Gupw sr-ay =12

dx
-6<0, . x=1-0 M Qugyw wéliomu gmLHns.

sTeorGou Gaemeuwmenr Lerefl (1, -16)

adasassT(H 9
y=2x'-4x’ + 3 argub cumerauemgufer euemenay
wrppll yeralsmeard et s.
E1OTR
y=2x*—4x*+3
149



x-soU1 QU WIS G euemasuil,

=8x3 — 12x?
d2y

= 24x? - 24x

2
-
d2:0 = 24x(x-1)=0
X

\ = x=0,1
d’y

=48x — 24

3
dx d3

y

x=0, 1 5 #0.

susmaTe| LITMHM YeTeflasT f(X)-6@ @) &l menr.
x=0 ereflled, y=2(0)*—4(0)*+3=3
x=1 eefled, y=2(1)*-4(1)*+3=1
suemere] Lmmm Lstefleser (0, 3) wmmid (1, 1).
a(psadsar(® 10
f(x) = x’-6x*+9x-8 arairpy euemereuemy THOBHSB
Yo Gaalsaled CudCprid gelursaw wppid
KPCPprad Gafaursadb 2 6TarGl TATdH HTHINS®.
ey :
f(x) = X} — 6x* + 9x — 8 (Q&THSSILL(HsTer G))
x-0 QT 15 8 uemSuIL,
f(x) =3x2-12x+9
f7(x) =6x—-12
ff)=0 =6(x-2)=0 .. x=2

1 1 »
I T >
oo

oo 2

(i) ~o<x<2,f"(x)<0 (i) x = 0 erevfle, f7(x) =—12<0
(i) 2<x<oo, 7 (>0 | (i) x = 3 srauflsd, £7(x)=6>0
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(=00, 2) eraid @enL Gouafluflen GasrO&EsOC(hsTem alemeT
euenTLIT 6 &) GLGET&EE @alleurs 2 66 g|.

(2, ) stemid @eoL Geusfluiled QETHSSIUL(H6ToT 66M6T

suemITILITenT & SPCHT&HS Galleurs 2 6Ter G.

D

2)

3)

4)

5)

6)

7

8)

9)

uu?pd 4.1
x4+ 3%+ 3x + 7 ereirm FTY X-@\6iT QemerrS Gl LFILIS EHE LD
& (O sTruTS g eTer Hlmie|s.
x yHsNsEnturg 75 — 12x + 6x* — x° eretug) sTUQUTGILD
GondHng) ster Hlmie|s.
x>+ 8x* +5x — 2 erary &miy oTH05HS @ Geusflaafey & (Hid
FTTUTS IV GHMDILD FTTLTS 2 6ToT G 6TeTUMSSH SHTL(HS.
f(x) = 2x% + 3x* — 12x + 7 eretip &Miys6Q 65658 MHeme
ysraflsemerid, 6558 Hlemeu LIS maTILLD &T6woTs.
Samd QLrss aImeT— ETTUSERSES qUCUTWE iS6T Curss
au@meuT— (R) s @& Mgl wHmid striGUT &) GenmEm G| 6T63TLIS 6060T &
sreans. @md fleme sumeuruiler (MR) seremwenwi’ umplujid
aNeuT & .
(i) R =-90 +6x> — x* (ii) R = —105x +60x> —=5x3
Spaumd G&me| sTTUSERSESE UUTWS IS6r Curss Gsnea
(C) s &g omid rHGLTWYSI GMS DS 6T6ITLIS 6T S ST 68T &.
@mid feme Qaaailsir (MC) serenuenwl UM afleur H&s.
(i) C =2000 + 600x — 45x* + x* (ii) C =200 + 40x 1 X%

2
SaImL ETTUSERSE QUL HMID Anio WEILSmETS ST et s.
(i) ¥®*—-6x*+7 (i) 2x°—15x* +24x - 15
(iii) x2 + % (iv) x*—6x2+9x + 15

S(x) =3x° = 25x% + 60x + 15 eT60Tm sumETEUEDT S [—% , 3] etetTm
@ Qaaflufle safllss (pusermaili) Qu@Epn wHmID oo
LSIILSEDETE SIT6voT .
y = xt — 4x’ + 2x +3 eTetTm cuememousmyuNer euemerey LT MHML
Leref&H6merd &ITeuor&.
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10)  flx) =x*—27x + 108 erevrm arifeor GQupo wHOLTET & S60T
Smio wdlisou el 108 sn(higeors 2 srerg) sTer Hlmie|s.

1) y=x*=-3x+3x2+5x+ 1 eabd cusmereuenr 6THS @evL
Qeauaflsefle CuAGCETSE, SPEHETEH GalloymLIg TaTLmSS
SIT600T 5.

12) 2.nusd g-er erbwdiilng @swey griy C = g* — 6g + 120
3,607 gl Emin wdllienu GlLMIEIM S 6T60TLIS 66T & & T 65T &.

13)  x°=5x*+5x° — 1 eramuid amifeir Qo Guosuid Hmio s emer s
srans. x =0 QLS55 o6 Searamumi aileursHss.

14)  fix) =x* +% sTeyd &miy x = 5 eraybGur g WEfm wdllsmul
CumiFma ster Hlmies.
15) x agud @@ Gurmeilsar Qurss aumeur— (TR) gyerg TR =

2 3

12x+x7 —% steuflev, grmafl eugpeuruilesr (AR)-6ir 2 && Lereflufish

AR =MR (MR sretrug @mid Hemev eupeur—) erenr flmies.
4.2 GupomIger PMID PpiomISereT
Liwiest Lim () & eir

@eorusms GuUmLLTESM, Csmmas Gmns s Hn Gumesm
s Siureallés LEdu sr—alldr &mSaIm HLuéE s
2 gellurs 2 6Tergl. @\Hhe UGSl euemflaafiuedsy GunLd LWmHmib
S miomisefler LweTUT (H&6m6Ts SiTetor GLITLD.
ad(sssaT (@B 11

@m [Ppleuerd, x Lerser 2 puid GF-w GO
Qurgs Qsway C = (J5x'-52" + 10x +5). @oif Peoeos
GFwa) wpmidb FprFf wrgd GFwey PHwer FPpio
wdleamult Qupeaugpasrear 2 pugGBufear sjeremeald
& IT GOST .
ey :

Qurss Qgeey C(x) = (%)63—5)62 + 10x +5)
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BuSons Gsan = - (C)
(o-8) MC = %xz— 10x + 10
Lo mid C&Fee

grraifl T G&me) = P
(8-8) AVC = (757~ 51+ 10)

() y=MC= %)& — 10x + 10 ersires.

X -89 QurMIS & euemssuil, %= g—x - 10

@niHflme G&avey Amiw wHlemut Qum,

2

dy . . dy
dx—OmmguLn dx2>0
dy _ 3 _10= _ 30
5_0:}5 x—10=0 = x= 3
_50 . 4y _3
X = 3 6T6oflev, PR >0

MC gy 6 g &min wgliemul GumiSng..

(9-&) x = % @G aer eTeofley, @mSflemed Glaoe; Fmiwo
wdllemull GumiSmgl.

(i) z=AVC = x> _ 5¢+ 10 srsire.

10
x-69 QUT M5 & auemsUiL, % = %x -5
AVC &g wglismull Gum @:0 Lo MILD d’z >0
dx dx’
dz _og_y 1 _5_ -
e =0= 5 X 5=0 = x=25.
_ . d’z 1
x = 25 ererflev, =5 >0

AVC &g wdliemul Qupdng. carGa x = 25 ge@GssT
stanGur gl srrefl wrmib G&me] &min wHlemul QunSDHG.
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adapssdsaT_ (B 12

om Gagrfeé Ppieuarsdear Gorgs GFemeyd ariy
C =15+ 9x — 6x* + X’ eraafled eTLIOITUPGI GUoTGB GlFevay
Ppno  w@Fleouls Qupnb?
ey :

@sewey; C =15+ 9x — 6x> + x*

x-0 QU 15 g uemSUIL,

d€ _4 _ 2
dx_g 12x + 3x (D
- , dc .. d’C
Q&) Hmin wEllsmurl GlumGLT LS o s 0 wHmid e >0
-0 5 3¢-12049=0
dx
¥—4x+3=0

= x=3,x=1

(1)-9 x-o9 Qur M5 s euemasuilL,

d’C
s —12 + 6x
2
x = 1 erevfleb, d§:—12+6:—6<0
dx
s x = 1-@e C Quep wdlamult GumSnsgi.
. d’C
x = 3 erenflev, > =—12+18=6>0
dx

s x = 3-@ev C Ay wdllemuls GumiSmng.
x =3 9Ga6T eTerfley, Qorss GFwea], Fmin wdlsmull Cundng.

ad(psBshaT (B 13

p = 4000x
~ 500+ x
GQFwemeard GP&EGL FwaTUTLTGLD. @FHd x-6r
b S n?pe P spargy Gu@pod yew_uwyib?

— X eTeiTLIZl @eoTuid PDID eferibLy
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ey :
. p_ 4000x
@eurun P = 500+x "

x-0 Glur 15 g uemSUIL,
dP _ (500 + x)4000 —(4000x)(1) |
dx (500+ x)

@eoruid GupLo eTesfley, % = ( Loy sz <0
dpP _ 2000000 .
=0 500407 170
= 2000000 = (500 + x)?

= 1000 X /2 =500+ x

1000 x 1.414 = 500 + x
x =914,
x-soU1 Qurmis & (1)-e9 susmasuiL,
d’P 4000000 %0002
A =T (500+x) 00T

. d’P
x = 914 erenflev, I

a(psasar_ (B 14

<0 .. @eoruw GumLL gemLSDE.

o0 Poaargdear Gwrgs o pusd Geeay wppd
argpeur- gFwer C = x° — 12x* + 48x + 11 wppubd
R = 83x — 4x? — 21 etewr oeremar. (i) aumeur- GuHip
w@leu yemupbGurapg (i) @eornd Gy wFienLr

GuUpNbGITUGID BT o2 PLIGH eTeTaT?
E1OTR
(i) eumeur— R =83x—4x>—21
x-69 QU WS G euemSUIL,
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e 83 — 8x
d’R
dx* 8
. : dR . . d’R
aumUT— GUHL Elsmu e wnGlum g o 0 wHmrd PRI 0
dR _ o .83
e =83-8x=0 .. x= 3
’R
GLogyiL P -8<0. . sumeur— Quep wHlmu gL S g
83
SX=

3 sTeuflev, eumeuT— Gu(mL L&lmU YL Slmg).
(@) @ermun P=R-C

=83 x—4x>=-21)—(x* = 12x>* +48x + 11)
=-x*+ 8x* + 35x - 32
x-69 QU WS G euemsUIL,

i =—-3x>+ 16x + 35
d’P
" =—6x+ 16 4%
@sorud Gumo wElliemu G]ugufn@u@ % = 0 mHmid Zilz) <0
2B =0= -3+ 16r+35=0 = 32— 16x-35 =0
= (3x+5) (x-N=0= x= 2 orx=7
x=  eefis0, :-6(_?5)+16:26>0
SoX =

-0 P i&dm wdlsmu GumSmg.

x = 7 erenfléd, =—6(7)+ 16 =-26<0

s x =7 ererfled, P GQumo wdllsmu QupSms.

x =77 9e@assT eTefled, @eomrud GumL wHlemu GlumSngi.
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ad(pdBdsaTL (@B 15

GaradvewCuds @emeriuagded 10,000 GO Freanev
CuPsers®y Cuwed @ewrTwedd QBHBTO R
QaremewCuds Ppeuers 5.2 af b eIGaur
CarewewCui ey @PorTugamg FLGBAEpg. 10,000
GasremewCGuisepdhe Cued @mpsred evrTugHe (.01
wusr afsb @aiGlaurm G rTadewCuPiGd GmPAPII
aafled yFau’ s @eorLnd ererer?
ey :

OameneGLseflstr 61etorsnllsemaemiul X 67601 .
seuGleum [ QB TmaGLHSEGL @orus Sl @ammel g

= (x = 10,000) (0.01), x > 10,000.

=(0.01x - 100)
s61Gleum (I, QB TemaGLES @ SlemL & @Gl @eumLid

=200 - (0.01x - 100)

= (300 - 0.01x)

x QaramaGudlsaflsr Crss @leoruL
= x(300 — 0.01x)
= 300x — 0.01x?

Qurgs @eorud P = 300x — 0.01x? ereirs.
x-00 QuUT IS8 euemsUiL
P _300-0.02x  ceeoeeee (1)
dx — ‘
Q@umLy @eurud S &s KL S emenr &6
dP . . d’P
i = 0 wmHmid 0 <0
ar =0= 300-0.02x=0
dx

300 _
= x= ¢y = 15000.

x-00 Qurms g (1)-09 sumsuiL,

2
‘;xlf — - 0.02<0
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. P @Qugw wdlisou x = 15000- @lev gem s
x =15,000 stemoGumr g GlLmL @svrLiLomsr g
P =(300 x 15,000) — (0.01) x (15,000)* sougm&saeir
=ep. (45,000 —22,500) =em. 22,500
. @Quep @eoruid em. 22,500.

ad(psBsaT_(H 16

om® Ppiauargdear OCwris Geome FriurTeargi
C = %x3—5x2+28x +10 @r1g x Warg o pLGEH GLD.
o pugfular eeaiGaurm pwAPGL . 2 af Fid
adsaiu’ L afeow o pugPuireri Ger GFewa L et
Caigads Garerdpri. afwrury Fpavguier Cpemeud
griLy p = 2530 — Sx eterd Gasr(HHHLT LI LT, OGLIHLD
@eorugeng FL(BHD o pusFufear erTewand, afemeoujd
ST S. @I P eTaTLgl 2 PUSHuGT @aIGleurh Djevhesr
afamewenwids GPGAPSI.
ey :

X QG s6T 2 NusHsasrar Gurss aumear— (R) = px

= (2530 — 5x)x = 2530x — 5x?

aufl efdlsasiu’L Ner Curss GFmey et

C +2x = 1352 428x +10 +2x

3
= 120 =50 +30x + 10
@eorud = aumeuT— — QFeey

= (2530x — 5x2) — (%x3 — 5x2 +30x + 10)
P =—L 4 2500x 10

3
x-69 QU WIS G euemsUIL,
P 242500 eeemeeee- (1)
dx
Qum @erusSHnamer ElLhS eneor &er
ar e AP
e = 0 LmmId I <0
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4B~ = 2500-x=0
= x*=2500 geveg x =50
niuigwd (1)-e, x-s GQurmis g eumauiL,
d’P
dx’

=—2x

x = 50 raisn, L =
= e
wgllsnu Glumiflsirmerr g,

-100<0 .. Pwrerg x = 50 QugmLo

s @uap @erusms FLGIb 2 nussufler gerey x = 50 9@ s6T
x =50 steflev, eflemev p = 2530 —(5 x 50)
= 2530 — 250 =em. 2280

4.2.1 spsg Pee & _@HUur@ (Inventory control)
Fr&E Mo sLGiur® searugl ssrsre CoHmescasmnu

QumrmsTsemear snssullmLL (-6 9y @GLD. a6l Sms SepSLTSaL,

@erusrursan KL CFon s&TH QuTmLsmars Cahs s

EDEUSSH6E) )6 MILIEHLOILIT & ST (GLD.

4.2.2 spdg [Parew sarsded afmevdasryanisaler Lk
(Costs involved in inventory problems)

(i) o759 Gapsas Gsee (Inventory carrying cost) C,
Qurmersemer emswllpay Qs-—wadlear GsTLiurs g @L
CFnGou #7585 Ca558 GFaT@L. @Ks Fane] R NG5S
R ST YeTallNE 6Teur GHMSSLILIGHILD.

(i) @mpur@® afeme (Shortage cost) C,
gr&6E Moo gmwuille Gsmarypsn Ge—wliuGn e
Qumrmermer g Simhg Gumenr Yeer Hd FHUBLD CaHemeuufesr
IeTellermed @Q&Smaw allemevaer 67 ML Elsar mew.

(iii) Garmged Gseway (Ordering cost) C,

QU (HeT S emeT UTRIGLGILT (S UMD allmas6r 968 6
QsrfinssdnE gou@b @@ Qummeaflar Csmeuwier g,
31505 flusgsTCatWw LTS Ge—wiuGineur g ssou@in
Q&e|&6T, CaHT(HSH0 ClFeuean 6T6T M emLp&SLUILIHILD.
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Qurss eumeur—

= afipuener GE—WLIULL 9@GS6T X @ Jjeudler aflsmev

x sTeorLg ellpusmeT 9aTel. @ VG allpusneT allsms em.5
steoflev eu(meur— R(x) = Sx.
() @eurud, P =Qurss eumeur— — Qursstlme,

= 5x - (5.3x + 50) = 5x — 5.3x* - 50.
204



ad(pdgaasT (B 24
R JwGsETRrT @b Gurmealar @md Pewev

Qeeways amiy C'(x) = 3&)0 + 2.50 erafed 3000 ev@meir
swTi&Es @b GlFmemead Hear(HLy.
E1OTR

’ _ X
@& feme Geeey , C'(x) = 000 * 2.50

C(x)= IC’(x)dx+k = j(30)60+2.50)dx+k

2
_ X
= 5000 + 2.50x + k.

x=0¢efld C=0 .. k=0.

2
= Cx) = 6())COO + 2.50x

x =3000 ereoflen, C(x) =

2
(36000) +2.50(3000)

= 280 47500 = 1500 +7500 = e5.9000

. 3000 g ser gmnﬁé&[gb@m G&eva| = e;.9000
dBSBsHTL(H 25
X vGghder o pLGH Paeouled oeirer Ruud Henev
Qsewayd ariy C'(x) = 85 + g aafied 15 pev@ser
o pLIGH GF-gLier HFsimguirs 10 eoGser o pLsGdH
F-wg CagmanurTar GCF®MaIds IT6wTSH.
10T
C'(x) =85 +3x# s Clx) = (x)dx + k
i 375
= | (85+ jdx (15 g@s6T 2 HusHée Aer 10
15

2
X . . .
SNGSET &Ly 2 HuSS)
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_ [m—ﬁ} " [85(25)—%} _ [85(15)—%}

X s
= (2125 - 15) — (1275 =25) =2110 — 1250 = ¢m. 860.

15 gv@ssat 2. pusd Ga-sller 10 gy@ser

g flelupurs 2 nNusH (e-w gy @ tgmea) = er. 860

1)

2)

3)

4)

5)

6)

7

8)

Lufpd 5.3

x g 2 nusHuier @midflemos Gameys smiy MC = 10 +
24x — 3x* upmid 1 YOG 2 NuSHSGSTET LTSS CFme| emh.25
el Qursss Camed ariy wpmibd arrefl GFmedF amry
I, SIIDEDME & IT6T0T 5.

@md Amns Qemag emiy MC =%. C(16) = 100 sTeofléd
G&eveyd amiy wHmid srrafl Qamad sTiysmers &etrHLile .
Q@ Qurmafler @mid feme Qaeweyd griy MC = 3x* — 10x + 3
@&l x steiTug 2 MuSHweTe). 1 g 2 pusHEasTear Qane]
em.7 eTeofled Grss Qseveayd griy wpmid srrsfl Qewag smiy
I, SIDEDME & IT6T0T 5.

@nid fleme Qaeeyd amiy MC =5 — 6x + 3x2, @&l x eTerLIg)
o musdwerel. 10 guGsst Qurmmer surfss g G0 C&na
em..850 stesfler QT EHs QFeveyd Fmiy LHmID sTref QFeoeyd Fmiy
L EWNMME &6t .

@nidH Heme Qaeeyd amiy MC =20 — 0.04x + 0.003x* @&sd x
eTeTLG 2 MuSSHiweTe]. 2 HusHuller Hemawmrer Qaae] em.7,000.
afled Qurss Gemeld eriy womn Frrefl QFned iy
L EWMMME &6t 8.

@nd Beow aumear—& eriy R (x) = 15 — 9x — 3x2 erefled
QUmEIT—& Ty wHmid sTref amaur—& sriy g Sunmmns
&IT 6007 5.

Q@ Qurmeflsr @mid femev eumeur—& gmiy MR = 9 — 2x + 4x2,
sTeofled CoHemeud &ML HMID eIHEUT—& ST Y EIMMME ST 6woT S5
@ mid feve eumeur—& gmiy MR = 100 — 9x? steefl6b gyg6ir Gorss
QUHEUT—& FMTY LHMID CHmeusF TiysmeTs & et (HLilly&s.
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9)

10)

11)

12)

13)
14)

15)

16)

17)

18)

@nd feme eumeur—& griy MR = 2 + 4x — x* ereflled g eir
QuITsg aimeur— smiy HMID CHemel ML g EaINmM &6t s.

@ Gurmeaflsr @mid Heme augeur—& emiy MR =4 —3x. ererflsd
QUHEUT— &ML HMID CHemen ST ) SleMenm & evors.

@ Gurmefler allemsaemll QuT 55 Coemen GESLps 3;xx , x<3.
x steTugl CHemeu Tamid Curg eilsme p oy @G. el 2 wHmID
Cama 1 915 @QH&GL Gurg CHmeausemiy smems. GLgib
QUHEUT—& STITEMLILILD &IT600T &.

Caemeu x eTadGuT gl aflemev p 2 atem e Qumpefleir allemevsmiuLi

QuUTmHs Came ArApsd — afleme 3 erayid Curg Coma 2
X

sTeefley CHemeuEF SMITemLIS &T6vors.

Comeu GRSADFH 1 eTerlled g|560T CHMEUSF SMITMLIS SHIT6TITS.

Q@ HnaarsHsr @md fame Qamas eriy 2 + 3e™. @ x
eTeTLG 2 MUSEH gleTey. Hemewmer G&ae em.500 erefled GorsHs&
Qseel, srrall (e o SHLMINmMSE & 6HT &.

@nid Heve eumeur—& &y R'(x):i2 — 2 R() =6 srafléd
X

= .
QUHEUT—& ST NI CHemeus sy o SHiLeINmME &6t &.
@nid femev sumeur— &miy R (x) = 16 — x? eraufled, eumour—&
&y wHmId CHemeud iy oSNNS &6t s.

8¢ Byuasser Gug Hons dewa vpnn Gnd Hme
aumeur—& gy wpemmGu C'(x)=5+0.13x, R’(x) = 18. Hlsmeowimeor
@Foe| em.120 ererfled @eruE amillensrs & s.

@ urmeafler @m& Hleme eumaur— (emumr— o uflymisefle)
R'(x) =4 + e, (x erarug efpuenersmwus GmMe@in) 6 6ofley
100 gjeuE eafmueneruied GLorss eumeuruienars srers (¢ =0.05)

5.4 misiCeurfer erd&FLium(® (Consumers’ Surplus)

e allhumeart Gur@aflar ailma p 96 @HsGn Gurg

aurmsiuGn ueurmeflar gearemausd GMiug Ggemeuuier

UEDETOUEDT Y GL. Fhenguile HGUTEmSW allewew p T6TSH. JHBS
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almauiler eflpusmarur@l Gurmaflsr gemey x ) TeTug Cgeme
suemeTsuemruilerr gjieliuemLuiled iwrafllssiu@n. eaflgn p
aflsmeueniu il gSlaomer allened @ aummhis ellHoL KisTCaur&er
Bm&sse M. shoguie gnGurmsw Huarailme p wl HiGL,
@HLILSTEH 9SS BISTCoUTT SH6T o) ST AU, @)hE I STILLD
“BIsTCat sEsILr® seTiu@D. @8 p = f(x) darm Coemeu
EUEDETEUEDT &G &L p = P, 6TerT CHM 1 MG GLosh jemLowjid LTLIEHLIS
SIS GSLD.

A
mIsTGeurt stéguur@, CS = y
[Cameus amiusg sy x =0, x =X, 2
LOMILD X YFseuemTeTer CTSHsL % s
uriy — OAPB stetrm Qasueaissdler
. P p=fx)
nam B L
Xy Py R
CS = [f@dx-pyx, o x, A x
0 |66
UL 5.9

d(pdsshsT (B 26
Gagmeud ariy p=25-x-—-x*, p, =19 eaafed

BSTCauri TFFLILITL ML & &HIT 6T 5.

E10TR

Cgemeug amiy p =25 -x—x*
P, =19 erefle 19 =25 —x — x>

= xX+x-6=0= (x+3)(x-2)=0

= x=2 (or) x=-3

9L,60TT60 G&6meM (56MmM) 6T 6T0T6T0TIT &> (B (15 & (Ll LUIT Gl.

X,=2 oopyx,=19x2=38

Xo
misrGeurt erdaiiur(®, CS = jf(x) dx — px,
0
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2
= .([(25—x—x2)dx—38 = [25x—x72—%"]z - 38

= [252) -2 - % 1-38 = 2 om@sr
ad(pdgasT (B 27

2w Gurmelsar Gzemeaud sriyy p =28 —x*,x, =5
Tafled BISTCauri TFFLILITL ML & ST,
srey

Copemeus gmiy, p=28—x’

X, =5 p,=28-25=3 .. px,=15

Xo
misrGeurt erdgiur®, CS = If(x) dx — px,
0

5
_ (j)(zs —x)dx— 15 = pge-2]" - 15

=[28 x5 —%5] —15= %Ocaqm@aasir.

12
adapssdsaT (B 28 43
@® Ourmelsr GCaemeud iy p = . @PwruryF

shenguled afemew p) = 2 er@uib Gurg msiGeauri
eTFFLILIT(H T 6oT 5.

E1OTR
Caemeud ammy p=Lwﬁ)QJIi]p=2 el 2 = —2—
x+3 0 x+3
2x+6 =12 geewg x=3 .. x,=3 =>px,=6

X 3
_ _ O
CS —E[f(x)dx P, _(j)x+3dx 6

=12 [log(x+3)];— 6 = 12[log 6 — log 3] =6
= 1210g% —6=12log2-6
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5.5 o pugPwirerifer erFFiLmT(y
(PRODUCERS’ SURPLUS)

sheng aflmeully aupmiGh @ Gurmaflsar almea p o8
@mseL Gurg auprsiuGin UGuTmeflar gsTamaus &mliug)
Sjefliy eusmaTeusmT o) GL. FhHmguile HNHCUTmSW afleme p, 6T60Ts.
IIBg aflmeouiled eupmisiuGid Gurmeflsr gierey X sTearug ojefliy
susmersuemruiey g lusmLulle Srwraflssiubin sellain p,
Mmool Gmpeurear almusE IPHIS (6T el (HLD
2 MUSSWTETTSH6T @(HSHHE HI. FhHensuiled sHELUTMSIW [Hleveur
aflsmev p, LLHIGL @IHBULSTE JSSMSIL 2 NUSSLTETITSH6T Y STILILD
St @bg smubn ‘o pusdurert sEEiLT® sTeriLGLD.
@a p = g(x) ereorm gefliy euemeTousnrsG Gued p = p, eT6rM
CarienE S e Urlmus &ms@LD.

2 musdureri st&sOLT(H), Ay
S
PS = [@ssinsin OAPB-¢r ps
urty — gefliy euenerauenr & @ Sip B ps <
x=0, x=x, wpgud x - Y& | P
EUEMITIL 66T LIl ] 2
Xy g o
. _ F
S PS=px, - Ig(x)dx
0 >
(0] X, A X
ojeTey
a@sgisaT ® 29 UL 5.10

@® Ourmpelear ealliys sriy p = x> + 4x + 5
@Fd x TG yalliy PG, afwe p = 10
T@IDOILITUpS o PpuSFwreri eTFFLILIT(H HTETSH.

e :
oefliyg griy p=x*+4x + 5
p, = 10 ereflev,
10=x*+4x+5 =x>+4x-5=0
= @+5x-1)=0= x=-5 or x=1
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I|eflliy G6om eTeuTemTT S @Q)(H&S (Plg LT G.
wox=1 .o p0=10, x0=1 = p0x0=10
2 puUSHWTeTT eTEFFLILMT(H
Xy 1
PS =pp,— [gx)dx = 10— [(x*+4x+5) dx
0 0
! 1 8 .
=10 - [%3+4sz+5x]0 =10—[ 3 +245] = 3 SANGSST.
a(psasar_(® 30

eliyg sriLyp = x* +x + 3-dg x, =4 aT@ubOLITUpSI
o pugFwrerfer erFFILIT(R &I 60w S5.
E10TR
Qefliyg gmiy p=x>+x+3
x, =4 ermunGurg, p,=4>+4+3=23 . px,=92.
2 musSwmeri stEFILT(H),
Xo 4
PS=px, - Jg(x)dx =92 - .[(x2+x+ 3) dx
0 0
3 2 4
=92 - [XT+XT+ 3x]0
=92 [, 16 1012 12 s
3 2 3
a(psasar_ (@B 31
oefitiys sriy p =3 +x* &g afene p = 12 arepud
CGurg o pugdurerfer erdsiur(® STewsTs.

E10TR
oefllyg iy, p =3 + x?
p,=126mefld 12=3+x*> or x> =9 or x=%+3
I|eflliL G6mm 6TEUOTEmTT S @\ (HES (PlglLT G.
xX,=3 o px, =36.
Xo
o pugdumreri srésiur® PS = p x — Jg(x) dx
0
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3
=36 - .[(3 +x?) dx =36 - [3x+x?3](3) = 18 gleu@Gse.
0

adpsBdsaT (B 32

@ CGurly ofwrurpgded> Czemes wPMILD
galiys sriysear weapGuw p, = 16 — x* wppub
p, = 2x* + 4. swrar afemeufd masiGeuri edsLir®
wppid o pusPwreri TFFLIIT pFweupenpds ST 6T S,
E10TR

@ Gurlly eflwrurrgde ellururrs &nme gwmer Heme
sremr, Goemen wmmin oefliys sriy g SHwuameomm swiLHSS
Geuetor (HILD.
= 16-x*=2x"+4 =3x*=12

= X2 =4 = x =12 gperme x =2 eTsSHidseme
X =2 = x,=2
fopy=16—(Q2F =12 . px, =12x2 =24,

misTGeuriflesr eT&F&0LT(H)

CS (16 - x*) dx — 24

O N

If(x)dx—poxo =
0

= [16x—x?3 3_24:32_% -24 = %g{ﬂ)@aash.

2 puSHWTeTT eTEFLILMT(H

Xo 2
PS = pox, — |gdx =24 — [(22> + 4) dx
0 0

— 04— |28 o4 _2X8
=24 [Tx+4x]o =24-2%2 3
32 .
= 3 NGBS
Lufpd 5.4

1)  Ggemeud smiy p = 35 — 2x — x* eTefled Cgemeu x, = 3 TaudGUT S
BISTGoTT sTEFLILT(H SHTevors.
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2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

@@ Qurmeflar Cgmeus emiy p = 36 — x*, p, = 11 eefle
BISTGoTT sTEFLILT(H &HTevors.

@ Qurmaflear Caemeus ariy  p = 10 — 2x erarfled (1) p = 2
(1) p = 6 sTeGUIT gl FISTGoTT TEFILTH ST6ToTS.

p =80 — 4x — x* eretry Copemeud gmifler p = 20 stayud CuTg
BTGt sTEFILMT(H &6t &.

oefliyg smiy p = 3x* + 10 wpgid x, = 4 aefléd 2 Husumer
STESILTL 60L& SIT6uTs.

gefliy el p =4 — x + x? -6@ ollewew p = 6 eTad Gurgy
2 MUSHWTETT 6TEFFILTL 6MLS SIT6v0TS.

@G Qurmeflsr gefliyé eriy p = 3 + x eefleo (1) x, = 3
(i1) x, = 6 TEUDCUT G 2 MUSEWTETH 6TESILT(H &I 6Tor &.

x*
2

2 MUSHWTETT TEFFILTL 6MLS SIT6v0TS.

@ Qurmeflar gefliyg ey p = + 3 wpoud Py =5 eresfle

Coemeaus sriy p, = 16-2x womid gefliyé eriy p = x* + 1
sreefled eflwmury & shenaguilsr Fwmer fleneuflsr S 2 HuSEmert
LHMID BISTCMTT sTEFLILT (DS EMETS &iT6uoT S .

giflwmrer Gumrlipuiler S @ Gummeflsr Coemeu LHMID gyeflliy
afglssm gy dlwer WomGw p, =23 — x> wHgid p, = 2x* — 4 el
gumer Heouwled @nm&EGLeUTE mIsTGamT aFFiuT@, WLHMILD
2 MUSHIITETT 6TFFLILT(DSHEMETS SIT6H0T S .

gflwresr Gumliguilslr S @ Gummafler Caemeu LMHmID gyeflliy
eflglssm opdwer wWemGw p, = 56 — x* wpmid p, = 8 +x—32.
oflemev Fomer Hemeoufled @& GLGUTE mISTCauTT sTFSFOIUT(H
LHMID 2 HUSHWTETT TEFEFILT(HSEMETE SIT 68T &.

R Gurmaflsr Comen wmmid efliy gy Sweumier smiLser
P, =20-3x—x* wpoid p_ = x — 1 ereefled eMururré &hHemgudsor
gorear Haeoulsr & 2 HusdHwureri LHMmD FEsTCuTT
TFEUILT(HSMETS &IT6wor.

Copemeu& smiy p,= 40— x> wpmid gefliug sriy p = 3x> + 8x +8
ereefled ewrunrd Fhengullsy swmer Hlemaulsr &) 2 HuSSTerT
LHMID KISTCeTT eTEFFILT(HNSEmETS SIT6woT.
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14)  gm Qurpaflsr Cgeme pmyid efliuég sriusst p,= 15 — x wpHmid
p, = 0.3x + 2 ereaflev eflwrurs speovguiles gwurer Hlamauisr S
2 MUSHWTETT LHMID BISTCOTT 6TEFUILT(HSEMETS &IT60oT .

16

x+4

wpoId p = % eTer QaTHSSUILL(6TeT . eMUTUTTE Fhenguilsd

15) Gaemeu wpmin gefliyg eriysaflsr aumeTaimraEsT p, =

gorear Hemeoulsr & merGaurr wHmD 2 HusSHwTeTT
TFELLIT (N SHEN6T S GIT600TS .

uufpd 5.5

gpysLw afewLawg Ggfay OCF-a
a
D fix) @@ enen ey sreafle If(x) dx =

—a

(a) 1 (b) 2a () 0 d a
2)  f) e @rimié sriy aafld [ f(x) dr =
@) 2[f(x) dx (b) [f(x) dx (c)-2a (d) 2a
0 0
3
3) jxdx =
(_813) 0 (b) 2 (©1 (d)-1
2
4) j x*dx =

-2
@32 ovw% ol i

5) sin x dx =

—ofa

ol

(@) 0 (b) -1 (o) 1 () 5

214



6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

dx =

(a) 2 (b) -2 (c) -1 (d1
Yy = f(x) eTeirm susmeToUDT X-I&FS LHMID Hemevd GlSmemeves s
X = a x=b @mm@m@ @eoLluc L iy

b

b
<a>jydx (b)jydy © [xdy (@ [xdx

X = g(y) TEOT EUEMETRUDT, ¥ - 9F&H LHmd CarhssT, y = c,
y= d @aundinG @am_uul_l_ unuu

d
(@ Iy dy () jx &y (© jy dx (@) [xdr
c

Yy = e* 6T6iTm EUEMET M &GLD X - cﬂq&& Cearhser x = 0 wHmid
X =2 @eaunmme gjemL LD Ly

(a) e*1 (b) e?+1 (c) e? (d) e*-2
y=x,y-9F6 upnid y = 1 erad Car@serme gjemi LG Ly
(a) 1 (b) & () log 2 )2

y=x+ 1 e Carlp, x —quﬁtai x =0 womd x = 1 @eaummmed
IemL LG Uiy Icosx

1 . 3
(@) 5 (b) 2 x(0) 5
xy =1 eTeirm susmETAIDISGW X -&F&, x = 1 npmid x = 2 @M
@evLlul L ury

(d)1

(@log2  (log+  ()2log2  (d) é— log 2
@nid fleme Qaoveays ariy MC = 3e 3 aeafld Qaoad iy
(a) % (b) e*+k (c) 9e* (d) 3¢
@md Heme GFeys amiy MC = 2 - 4x ererfled QFeveys miy
(@) 2r-20+k (D) 2-4¢ () = -4 (d)2w-4x
@mnis flems su@s)_lrr— &rrr'r|_| MR =15 — 8x ereofled eugpour— gmiy
(a) 15x—4x*+k (b) - —8 (c) -8 (d) 15x -8
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16)

17)

18)

@nid Meme eugmeur— amiy R'(x) = x% sTeufled euU(mEUT—& FmiTY

(a) log Ix+11 + k (b) - (xi—l) (c) (x+1)’ (d) log w1

Comeus emiy p = fx)-00 x, Cemay, p, -aflewe sTamid GuT g
mIsTGouri sT&&LIUm(H

@ [f(x)dx - py, (b) [f(x)dx
0 0
Xo Po

©) pt,— | f(x)dx (d) [fx)dx
0 0

Sefliys emiy p = g(x)-o x, gefliy p ellewe eramn Gumr g
2 muGdureri sTEFOUT(H

@ [g(x)dx—pyx, (b) pyx, - [ ¢(x)dx
0 0
Xo Po

(© [g(x)dx () [e(x)dx
0 0
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AL &6

Sl sHer wPmib el sCHTemnaussaler
Liwiest i (&6t

Lufpd 1.1

b (—12 jj 2) (—; _61 _15J ) (i _24j

5 =2 2

1 2 -2 all
9)% -4 -2 5110) 1) 0

1 -1 1 0

o - o
P~ © o

0 1 -2

13) |1 3 10| 18)4. 2 19)-1,0 20) ( SJ
1 2 -7 2

Lufpd 1.2
D ()3 ()2 (i) 1 (v)3 (V)2 (yi) 3 (vii) 1 (viii) 2 (ix) 2

2) 2,0. 6)elumws seTemn o|aEeppl._ ,
11) k=-3 12) k gy erg 0 lyevepr s s emiid 6w Go—Glwissor
13) k=-3 14) k guerg 3(@iveura )G mid e(m Glo—(lwster
Lufpd 1.3
1)2,1. 2)0,1, 1. 3)5,2. 4)2,-1, 1.
5)0,2,4. 6)20,30. 7)en..2, en.3, em.5.
8) em.1, em.2, em.3. 9) 11 Letrsseir, 15 Letrger, 19 Letraer.
Lufpd 1.4
6 8 9 12 2 4 6 9

2(1 1 0 1 2(0 0 0 O
1) 50 0 0 O 2) 41 0 0 O

80 1 0 O 6|1 1 0 O

90 0 1 O 91 1 1 0
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ii)
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(11) eueieuT S [@)6memaT SHaLILIL Ofl606m6V
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(iii)
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(V) 4, V,V,, V, V.V, V, V. V,V,,V,V,V

(v) 13 (vi) suspieur s @lemenar saLILIL ailebsmev (Vi)
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Vi v, ViV, iV, ViV, i, ViV,
V(1 1 1 0 Vo 1 1 0y V(o 1 1 1
V. V, V.
gy VL1 0 19) 00110 0 1t
Vi1 1 1 0 V(o 0 0 1| V(o 0 0 1
viii 1 1 0 vio 0 0 o/ Vo o 0 0
20) (i) 24, 21, 61, 47,76, 55, 33, 28 (ii) THURSDAY
Lufpd 1.5

1) Qaweu®b ausmasuilsd 2 sterg 2) GEwau®LD amsuilsy @lsvemev
3) 110 g6, 320 @ ser. 4) em. 72 hlsvsdliuiedr, erp. 96 LilsuedliLieaT .
5) (@) em. 42 el gmiser, em. 78 @levl &g 6T
(i1) em.28 @levl_gmigsiT, em.52 @)L &I .
6) em. 80 hevedlwsirseir, em. 120 Lilsvedliisar 6.
7) em. 1200 Garrig, em. 1600 Gamg. 8) em. 7104 Gamig, em. 6080 Garrig.
Lufpd 1.6
1) 74.8%, 25.2% ; 15%, 25% 2) 39% 3) 54.6%, 45.4%
uufpd 1.7
Dec 2)b 3)c 4)c 5)a 6)a T7)b 8)b
9b 10)c 11)a 12)a 13)a 14)a 15)a 16)b
17)a 18)b 19)d 20)b
LGP elig el FHewl GLD

Lufpd 2.1
1) ureusmeTWILD 2) 9|FureuemeTiLLD 3) BereulL Ld
Lufpd 2.2
D (@x2+y?-2xy—-4y+6=0

(b) x>+ > +2xy—4x+4y+4=0

() 4x? +4xy +y* —4x+8y—4=0

(d) x2 +2xy +y2 = 22x — 6y +25=0
2)  (a)(0,0),(0,25), x=0, y+25=0

(b) (0,0),(5,0), y=0, x+5=0

(c)(0,0), (=7,0),y=0,x-7=0

(d) (0,0),(0,-15),x=0, y+15=0

3) (a)(—%, 1),(-%, 1), 2x—1=0, 4
(b) (=1, =1), (0, -1), x+2=0, 4
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(c)(—— 0), (— 0), 8x+25=0, 8

(d) (O, 1), (0, - ) 4y —1=0, 3 4) 15 Lerser, em.40
Lufpd 2.3
1) (1) 101x? + 48xy + 81y> —330x — 324y + 441 =0

(i) 27x* +20y? —24xy +6x+8y—1=0

(iii) 17x + 22y2 + 12xy 58x + 108y + 129 =0

2

2
X Yy x Y XY
2) ()144+128 L @) 5 +15 =1 (i) < +25 !

4

) ()(0,0),(0,+3); @xo,i s
) (1 -5). (12 75 YE:(1L245 -5 J5

(i) (=2, 1), (2, 1) (=6, D); (147 -2, 1); %

16 -16

10 5 x=:16 5

N

Lufpd 2.4 J7

1)  (a) 19x% + 216xy — 44y> — 346x — 472y + 791 =0
(b) 16(x? + y*) = 25(x cosa. + y sinat — p)?

2) 12x2 —4y? - 24x+ 32y - 127=0

3)  (a)16x*—9y>—-32x—128=0
(b) 3x*2—y?>—18x+4y+20=0
(¢)3x*—y*—36x+4y+101 =0

4 @(0,0); 3:(£5,0);5x£16=0

X =

(b) (-2, —4); 3,(2 —4)(-6,-4);4x-1=0,4x+17=0
(©) (1,4);2;(6,4) (-4,4); 4x-9=0,4x+1=0

5) (@ 3x+y+2=0, x—2y+5=0;
b) dx—y+1=0, 2x+3y—-1=0
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6) 4x*—5xy—6y*—1lx+11y+57=0

7 12x2—=Txy— 123>+ 31x+ 17y =0

Lufpd 2.5

I)a 2)b 3)c 4)d 5c 6)a 7T)c 8)b
9b 10)a 11)b 12)c 13)b 14)b 15)a 16)c
17)a 18)c 19)c 20)c

auansuTL g a1  LiwesT LT (h %6 -1
Lufpd 3.1
1) () %x2—4x+ 25 + % (i) %x2—4x+ 25
(iii) % AC =¢5.35.80, AVC = ¢5.35, AFC = ¢5.0.80
2)e5.600.05  3)en.5.10 4)e5.1.80 5)em.1.50, ¢m.1406.25

NS 4 a3 N B
6) (1) 1Ox 4x+8+x (i1) 1Ox 8x+ 8 (111)5x 4 2
7) em.55, em.23 8)em.119 10) 0.75 11)1.15
2
. ... 3 )4 14
13) (1) (i) = 14) 15, ——— 16)
2 i +ip)30°+5  2p-b)

18) (i) R =20,000 x e *6*  (ii) MR =20,000 x e %% [1 — 0.6x]

Ap+2p?

19 302p—p°

20) 20,3 21) em.110 22) ’I’—(l), er,.1.90
Lufpd 3.2
1)-1.22, =1.25 2)-1 geo / efleormg  3) 12 gjeug / efleormig
5) (1) sugpLomenrid LTBSS NG emp.40,000 af s & DS S

(11) G&evey LrasHNE em.4,000 6510 & DS MG

(111) @eorud LTESH NG ep.36,000 af gL & H'HMG).
6) (1) sugpLomenrid euTrSEHMS e.48,000 ef g0 s HEMGI.

(i1) Q&evey urrsSMG em.12,000 afsid s Hi&HmE.

(111) @eorud TSN em.36,000 af s & HiHng.
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8) 107 Q&.152 / aflenrmiy. 9) 1157 Q153 / ML LD 10)x:§—,3.
Lufpd 3.3
1)?,—713 Da=2,b=2 4)@H)x—y+1=0, x+y-3=0
(ii) 2x — 2y + —%=O;2x+2y— —%:
(1) 3x+2y+13=0; 2x—-3y=0
(iv) 9x + 16y — 72 = 0; 64x — 36y —175=0
(V) 3ex—y—2e2=0; x+3ey—3e>—e=0
(vi)  bx+2ay-2ab=0; 2ax—2by—-a?+b>=0
5)13x—y—-34=0; x+13y—-578=0
6) 10x +y—61=0; x— 10y + 105=0

7)(1,%), (-1,%1 9) x—20y—7=0; 20x +y — 140 = 0

b
—Ytano=1- D e
11) secB btane—l, socB  tang ~ 2 + b-.

12) (1) (1,0) womro (1,4) @G1) (3, 2) womd (-1, 2)

Lufpd 3.4 Zg

1)d 2)c 3)a 4)a 5)b 6)c 7)d
8)d 9)b 10)a 11)d 12)a 13)b 14)c
I5)b 16)d 17)c 18)a 19)a 20)c

auemsufl’year vwerLr(hser-I1
uufpd 4.1
3 (o5 mppid (-3, ) @ s @b, (-5, —3) B @oopud

S5) (1) Reersirugl 0 < x <4 @6 s, x > 4 5@ Geomwn. MR
starLgl 0 < x < 2 @leb s (hld X > 2 &G GsmmuLd.
@@ Rereirugl 1 <x <7 @6 &b, 0 < x < 1 wpmid x > 7 @lev
@omwd. MR ereorugy 0 < x < 4 wpmid x > 4 @l6v GsmmuLd
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6)

7

8)
9

@ TC,0<x< 10, x>20 @ abdmg. 10 < x < 20.
MC 0<x< 15 @ gomndng x > 15 @ & OHng.

@ TC,0<x<40 @6 snmdmgl, x > 40 @6 GHmnHME)
MC sti@uIT g GmnEG.

®) x=0@e Qugmw wdHiy =7, x =4 @ fmio iy =-25.

() x=1 @eo Qugyw iy =—4, x =4 @ Smio iy =-31

(1) x =2 @lev Fmio Iy = 12

@iv) x =1 @lev GQuepo L&Y = 19, x = 3 @l HAmo Wy = 15

x =1 @60 Qugp wdHiy = 53, x = —1 @b Hmuo iy = —23.
0,3), 2,-9) 11) % <x <1 CGuabrrad Galeursea,
-0 < X < % omid 1 <x <o @ SPCHETEE GallouTsan|d

o2erargl. 12)g=3. 13) x=1 @ed Qugmw wdHiy =0,
x =3 @lev Amio wHiy = —28,x = 0 @l6v eusmare LomHmLIL|6TsI

Lufpd 4.2

Dx=15 2)15, 225 4)x=5 5) 1,% 6) x =8

7) (i) 10.5, em.110.25 (ii) 3,0 (iii) x =6 8) x=60 9) Rs.1600
10)x=70  11)x=13 12)A: 1000, B : 1800, C: 1633
13) A : 214.476, e5.21.44 B:67.51 ¢5.58.06 C : 2000, en.4,

D :537.08, e,.27.93 14) (1) 400 (i1) em.240

(iif) % Bonms / oy (iv) @i %mﬁw&r% ursi 15) (i) 800

(ii) @i oy smigein i Ui (iii) 4 (iv) ep.1200.

Lufpd 4.3

1) 8x+ 6y; 6x— 6y

3) (i) 24%° + 322 — 24 + 6y — 7 (i) 5x°y*+ 6x+ 8

(iii) 120x* —48x + 6xy°  (iv) 20x*y? (v) 15x%y*+ 6
(vi) 15x%*+6 4) (i) 30x2+8x +4 (ii) 500
(iii) 12x°y = 24y*+ 6 (iv) =90 (v) 120x°*y* + 8 (vi) 968
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(vii) 12x° — 48y (viii) 12 (ix) 60x*y (x) 2880 (xi) 2880
14) (1)940 (i) 700 15) CEr @l usssid
16) (1) em.18,002  (ii) em;.8005
uufpd 4.4
1) () 10 = 2L + 3K, (i) 5 —4K + 3L (iii) 14, 0
3)1,4  4)3.95, 120 5) 2.438, 3.481

7)(1)%(11)% 8)%,% 96,1 10)-2

10 5
376

Lufpd 4.5

b 2)d 3)a 4)b S)c 6)c 7)a

8)c 9)b 10)d 11)a 12)a 13)d 14)a

I15)c 16)a 17)c 18)d 19)a 20)a
Cgrenamuf’ 19 &1 LiwiesTLIT(h %6

Lufpd 5.1

Do 280 HE H2 5 765 DI

T
919 10@+nE B
Lufpd 5.2
NlemLS6TT FHIT Ij6V@&SS6ifl60 2_6iTemenr
)9 2)6 3) 4H2 5 6) log3 7) 86312 8) 8
9) 4 log4 10) ma® 11) mab
uufpd 5.3
1) C=10x+12x*—-x*+4, AC=10+ 12x—x2+%
2) C=100(og% +1), AC=1% (logL +1)
3) C=x’-5x+3x+8, AC=x’-5x+3+ &
4) C=5x—-3x>+x*+100, AC=5-3x+x*+

100
X
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5) C=20x - 0.02x* + 0.001x* + 7000
AC =20 - 0.02x +0.001x* + 1000

6) R=15r— 9:2 —x', AR=15- 2y

7) R=9x—x"+ 48 | p=9—x+ 4%
3 3
8 R=100x-3x*, p=100-3x°

9) R=2x+2x>— x; , p=2+2x—i

3
) R=dx-32  p=4-3F

I)p=3-x, R=3x-x?

12)p=5-40, R=5x= 4 13)p= . kesunde.

3
14)C=2x+e%+500 , AC=2+ <5 430
- _ _ __i_logx2 9
I5)R = logx>+9, p= = =+ =
16)R=16x-%1, p=16- 2 17) 13x—0.065¢ 120
18) R = e. 4,31,667 D

Lufpd 5.4

aflsoL g6 gyev&S61flsd 2_6T61T6wT.
250

D 27 Y 3))16 ()4 4) 216 5128 6)

7)) 5 ()18 8) 5 9)9 ;18 10)18:36 11) 144 ;48
12) &3 13) 1£:32 14) 50515 15)1610g2-8; 4
Lufpd 5.5

D) 2@ 3) (a) 4) (b) 5) (a)
6)@ 7)) 8) (b) 9) (a) 10) (b)
1)) 12)(@  13)(b) 14 () 15)(a)
16)(a) 17)(a)  18)(b)
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